FE & A IRz

A
ax

ERIZBITHERICTIR

BOERERE ()

QEMFLANX (I ENEEL AT L (LTESE) TXY

— 1L == # 3=
@%& B FH:L/l::L 91 éf_uo) EEE iﬁ& R4.3.1I§,E Lgﬁgo),m{fiLANwﬁu:i R4.3.1IE,E 4‘/9—*‘yH%fﬁﬁ%ﬁ’)%ﬁ%&id)%ﬂé R4-3-1IE7:|_:
B 1z | &R ERF 12 HREEA REAREH| AB B 1z | &8 A IR 44 HEEL BEAFH % B 1z | # 8 A IR 44 REES REAREH %

112EE FEEHT 36 0.2 [E[#&:3E EKEETh 15,049] 100.0% [ E[&:3E EKEETH 15,049] 100.0%

2112 E8 = [it] BT 57 0.2 1[db:EE Ediin 4819] 100.0% [ E[&:3E Ediini 4.819] 100.0%

IIZERE N[z 7 0.2 (B3 A5kt 271]  100.0% E&:3E A skt 271]  100.0%

FAESR ek S+ 36 0.2 1]dbiEE BRRT 5812 100.0% 1[dbEE ERIR™ 5812] 100.0%

5|1i2EE KHEEHT 10 0.2 [E[&:3E HESH 2,287] 100.0% [ E&:3E HEST 2,287 100.0%

6lfEEE JRILET 31 0.2 1[dtiEE Begth 1,167] 100.0% [ El&:3E egth 1,167] 100.0%

7iEEE E2EHM 12 0.2 1]3t:E& EJER 1,010/ 100.0% 1[dtiEE EMBtHh 1,010/ 100.0%

8|{EE R ES 147 0.2 1[dtiEE JLAITH 8,689] 100.0% 1[dtiEE IR 8689 100.0%

IHEER ﬁ#ﬁz 26 0.2 1[deiEE BEm 1,564] 100.0% [ E[#:3E B=Eh 1,564] 100.0%
10| =R E BiEkt 24 0.2 B35 )l 934] 100.0% [E[#%i:3E fb)llth 934] 100.0%
11|EERE £7|<f' 48 0.3 1{deiEE %’fk%ﬂﬁi 93| 100.0% 1[dtiEE MERATT 93| 100.0%
12|F1RR EE#BH 30 0.3 1[dtiEE )T 1,075] 100.0% 1[dtiEE I 1,075 100.0%
13| HR a1t 10 0.3 [E[#%:3E ,urh ith 5,690 100.0% 1{deiEE BERETH 5,690 100.0%
14| 5HE =% 62 0.3 [E[#%:3E FEH 2,237]  100.0% [ E[&:3E FEH 2.237] 100.0%
15| IR 415 64 0.3 [IE[&:3E B¥FH 4548] 100.0% [ E[&:3E FeEEiil 4548] 100.0%
16[%Em e HIEF] 126 0.3 13 FAFITET 233 100.0% [E[#::3E0 HAEITET 233| 100.0%
17|Z5HE SRA 47 0.3 1dLEE 18 SHT 136] 100.0% %30l 18 SHT 136] 100.0%
18|AFILE  [dbusd 26 0.3 1[dtiEE K0P HET 408 100.0% 1[dtiEE 0PN HET 408 100.0%
19[S 5NE yNIIES] 30 0.3 [E[%:3E FE ERET 238] 100.0% 1[dbiE3E & SR ET 238] 100.0%
20| EZRE e[S 31 0.3 [E[#&:3E AT 931] 100.0% [E[#&:3E #RET 931] 100.0%
21| 55E BUFHET 76 0.4 1[deiEE INE 994]  100.0% 1[db:E3E J\EHT 994]  100.0%
2|ERE 520 50 0.4 [E[&:3E KB ERHT 283| 100.0% [E&:3E KB ERHT 283|  100.0%
2| ERE fE LAt 31 0.4 B350 SLEHRT 378 100.0% 1[dtiEE SLEHRT 378 100.0%
24| KRR EEH 22 0.4 1[deiEE |2 R ERET 235| 100.0% [ E&:3E |2 R ERET 235|  100.0%
PRIEEIET BREERT 59 0.4 1{deiEE Z ERET 195  100.0% 1{deiEE Z ERET 195 100.0%
26|12E 8 = EHfT 57 0.4 [E%::300 B R BT 193]  100.0% [E[#%:3E B R HT 193] 100.0%
271|1:2 B8 BRI AT 38 0.4 1{deiEE Bt 61| 100.0% [E[#&:3E Bt 61| 100.0%
28| ZERE E2CENIES 9 0.4 1[deEE FARHT 178] 100.0% 1[deiEE F AT 178] 100.0%
29|dtiEE PINTEES] 57 0.4 1{deiEE EWAHET 208] 100.0% B35 EENRL) 208] 100.0%
30|EHE AL ET 183 0.4 [E[#::3E —t a7 448 100.0% 1[dtiEE e =1} 448| 100.0%
N |EHE B 60 0.4 1{deiEE BEIF 199  100.0% 1{deiEE EEZ N 199  100.0%
REER ) 54 0.4 1[desE3E 3] 111]  100.0% 1deiEE = 5% Il BT 111 100.0%
33| LUFIIE FHRWLF 24 0.4 [E[#%:3E RABHT 218] 100.0% [E|&::300 RABHT 218] 100.0%
A FL/NhEREES 19 0.4 1[deiEE B 1= HET 1,201] 100.0% 1[dbsE3E EEER ) 1,201]  100.0%
35| EmIE ElErﬂﬂ 118 0.4 1[deiEE HE RN 43| 100.0% [ E[&:3E HERH 43| 100.0%
36| S AR de)114% 70 0.4 1[dtiEE = RHET 239/ 100.0% 1[dtiEE {ZRHET 239/ 100.0%
37| fEIR JEE RS Bk A+ 108 0.4 1]dbiEE FRFEIFF 89| 100.0% 1[dtEE FRFIF 89| 100.0%
B EER BESRLEBEERHEA 96 0.4 [ E&:3E IR ET 429]  100.0% 1[dbsE3E IR ET 429] 100.0%
9|FEER {75 BT 273 0.4 [E%::300 ZHIIHT 273 100.0% 1[dtiEE m#/lﬂﬂ' 273]  100.0%
40 #E%,LER REFOAT 38 0.4 [E[&:35 L JIET 117]  100.0% [E[#%:3E L)1 ET 117]  100.0%
41| RHFE B 43 0.4 1[dtiEE £GHET 700] 100.0% 1{deiEE £QHET 700/ 100.0%
42 ﬁE,Lr R AT 44 0.4 1[deEE EILET 721 100.0% 1[db:EE EFTI:) 721]  100.0%
43|t ER % LLIET 57 0.5 1[deiEE )i 130] 100.0% 1[dbE3E A BT 130] 100.0%
44| FHE J\Ig /T 292 0.5 1[desE38E A EIET 117]  100.0% 1{deimE A EIET 117]  100.0%
45|3tiEE Bt 61 0.5 1[desE3E Emme I 468| 100.0% [E[%:3E e JNIL) 468| 100.0%
46| S FN1E KEHT 112 0.5 [E&::300 & 4HT 157]  100.0% 1[dtiEE R 4HT 157] 100.0%
47|dtiEE FARITET 233 0.5 [E[#%:3E R BIHT 148] 100.0% 1[dbiE3E A Il BT 148] 100.0%
48| R #R FEF 39 0.5 [IE[%:3E JeEHT 94| 100.0% 1[dbiEE JtE=EHT 94| 100.0%
VEREE |ZBEH 80 0.5 1]dbiEE ;B H AT 152]  100.0% 1]dbiEE ;B HHAT 152]  100.0%
50| = I I8 EIFEA 85 0.5 [ E&:3E [EE AR BT 524] 100.0% 1[dbE3E [E AR BT 524] 100.0%
51|RERE =T 438 0.5 1[dtiEE i) 226/ 100.0% 1[dtiEE i) 226/ 100.0%
52| /P8R 5 3R = BT 174 0.5 1{deiEE = Il BT 152]  100.0% [ E&:3E = Il BT 152] 100.0%
53|dbiEE FRFNIF 89 0.5 [E[#%:3E EJIET 157] 100.0% [E[#&:3E EJIET 157] 100.0%
54| P8R MEH 451 0.5 [E[%:3E EILN 687] 100.0% 1[dbsEE EILN 687] 100.0%
55| S 1R =3I BT 212 0.5 B35 L EREFHE 760| 100.0% [ E[&:3E L= REHE 760] 100.0%
56| BB R R FF[H HT 300 0.5 138 =Rl 52| 100.0% 1{deiEE G Eft 52| 100.0%
57| KPR AR 35 0.5 [E[&:3E FZEHET 212]  100.0% 1[dbE3E FOZEET 212]  100.0%
58| R AR FEM 164 0.5 [E[&:3E &I ;5 BT 213]  100.0% 1[dbsE3E &I BT 213]  100.0%
59|l B 1§ =ML 406 0.5 [E[#%:3E TJIET 199 100.0% B35 TJIET 199] 100.0%
60| EFHE 4 Al BT 64 0.5 1[dbiEE SECFREA 128] 100.0% 1[dbiE3E BECFREA 128 100.0%
61| S51E = HHET 118 0.5 [E[&:3E L) 88| 100.0% 1[de:EE 1| BT 88| 100.0%
62| 5EHZFE RRE 85 0.5 [E[&:3E 5% 0 P9 BT 112]  100.0% 1[db:EE 0% 0 PR BT 112]  100.0%
63[dtiEE LR JIRT 117 0.5 138 B EHT 234 100.0% 1[dtiEE EER 234 100.0%
64| ZRE ERCE 61 0.5 [E[&:3E INEHT 172]  100.0% 1{dtiEE INEHT 172]  100.0%
65|dtiEE = B FFHET 173 0.5 1[desE3E MRS 57| 100.0% B&:3E #) LU B AT 571 100.0%
66|dtiEE & W7 128 0.5 1[deiE3E 1= Il BT 162 100.0% 1[db:E3E 1= Il BT 162]  100.0%
67|dtiEE = Al BT 152 0.5 1[deiEE PR IR 223]  100.0% 1[desEE FEXIRD 223|  100.0%
68| LR FEF 58 0.5 1[dtiEE ,AEEIJIBT 184] 100.0% 1[dtiEE ,MﬁEﬂIJEHT 184] 100.0%
69|38 FhifiE Il BT 95 0.5 [E[&:3E 266] 100.0% 1{deiEE 266] 100.0%
T10|RERIE T 359 0.5 [E#::3E *LIET 153]  100.0% 1[dtiEE *LKET 153|  100.0%
ALEl#::3E H BT 130 0.5 [E#%::3E0 F AL ET 108]  100.0% 1[dtiEE FI R HET 108]  100.0%
712|dtiEE A EHHET 152 0.5 [El%:3E0 FIRELH 169 100.0% 1[dtiEE FIRELH 169 100.0%
13EER LERF 170 0.5 1dbiEE SR 4 T 173]  100.0% 1[dbiE3E 5% 4iE BT 173]  100.0%
14| EHE %I BT 304 0.5 1[dtiEE L) 244  100.0% 1[dtiEE SERIET 244 100.0%
15| FEER R AARHET 330 0.5 1{deiEE FLEHT 825] 100.0% (B35 FLEHT 825| 100.0%
76| &% 2 FE{FREHT 319 0.5 1[deE3E EEE 302] 100.0% 1[deE3E EEE 302] 100.0%
77| Z5E BRRHT 164 0.5 [E#::3E0 INE K ET 335/ 100.0% 1[dtiEE INE K BT 335/ 100.0%
18| S HE Ha%t 197 0.5 1[3tiEE & P HT 168] 100.0% 1[dtiEE & P HT 168] 100.0%
79|dtiEE FI R ET 108 0.5 [E[#%:3E 73 Al BT 467 100.0% 1[dtiEE i3 Al BT 467 100.0%
80|dtiEE 1 EHT 234 0.5 [E[%:3E % L AT 128 100.0% 1[de:E3E ] 128]  100.0%
EL L EHfT 294 0.5 [E[%:3E e ELER AT 57 100.0% 1[deiEE 75 L AR A 57 100.0%
82|dtiEE PR = LT 169 0.5 1[deifEE 1t ECET 298| 100.0% 1[db:EE 1 ECHT 298] 100.0%
83| ZNE SR ZEET 223 0.5 1[deE38E 2 HET 202] 100.0% 1[dbE3E 8L 202] 100.0%
84|t2H 2 ;th FH AT 117 0.5 1[desE3E e 221]  100.0% 1/dbiEE B ET 221]  100.0%
85(dtiEE = AIHT 178 0.5 [E%:=300 HZHT 727 100.0% 1[dtiEE HZH] 727]  100.0%
86| KB FF FERFREF 278 0.5 [E[#%:3E [EEHT 352] 100.0% [E[#%:3E [EEHT 352] 100.0%
87|F\AE F B BT 400 0.5 [E[%:3E S By BT 362] 100.0% 1{deiEE 3 ERHT 362] 100.0%
88 %%EJE'R JI#E A< BT 280 0.6 1{deiEE B LLET 224]  100.0% B35 B LT 224]  100.0%
89| =RE R4 218 0.6 [E[&:3E HO=HHET 1,528 100.0% 1{deiEE FOT=HET 1,528 100.0%
90 jc 2 EER 89 0.6 [El#%::3E TR HET 612 100.0% 1[dtiEE T IRHET 612 100.0%
I|{EHE HEELE 694 0.6 1[dtiEE L+ iRET 355/ 100.0% 1[dtiEE L+ iRET 355] 100.0%
2|EER iz )1 4% 219 0.6 [E&:300 [EREL) 466] 100.0% 1[dtiEE 2B HT 466] 100.0%
93|dtiEE =R 377 0.6 [E[%:3E B 7KHT 648| 100.0% 1[db:E3E SE 7K HT 648| 100.0%
M| EHE EERET 378 0.6 1[deiEE th AL 9 4F 342]  100.0% 1[dbiEE AL A 342] 100.0%
95| HAE Yo% D 129 0.6 1{deiEE EIES) 246 100.0% 1{deiEE EES] 246| 100.0%
96|dtiEE EER 192 0.6 1[deE38E [LEHRT 381] 100.0% 1[deE3E L EHRT 381] 100.0%
97|B5ER B H 116 0.6 1[desE3E ELEHT 169 100.0% [E[%:3E ELEHT 169] 100.0%
B RHFE KEEM 31 0.6 [ E&:35E A I BT 367] 100.0% 1{deiEE ARl BT 367| 100.0%
99|dtiEE B EHEF 199 0.6 [E[#%:3E iz Il BT 143]  100.0% [B[&:3E i Il BT 143 100.0%
100/dt:EE b I HET 88 0.6 [E[#%:3E SRR T 286] 100.0% [ E[&:3E SHIEHET 286] 100.0%
101 RHE KEEF 61 0.6 1{deiEE [EFH] 579]  100.0% [E[#:3E [EEHT 579] 100.0%
PAN=]=! - BEHET 99 0.6 1[deiEE BER 192] 100.0% 1db:EE BEER 192]  100.0%
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102[RERIE BREEFT 198 0.6 1{deiEE =EEdi) 3771 100.0% 1{deimE =R 377] 100.0%
104[dtiEE oL il 271 0.6 1FHZE =8 il 18,953] 100.0% 11&5HE =& 18,953] 100.0%
105K B I8 EA=DIIES] 117 0.6 11 5EHE BhEiTTH 10,207] 100.0% 11FH&E BLNETTH 10,207] 100.0%
106(dtiEE B R HT 193 0.6 11 EHE J\Pth 16,284] 100.0% 11FH&E J\Pth 16,284]  100.0%
10744818 FI5 352 0.6 11 5HE +FHET 4029 100.0% 1EFHZFE +FHET 4029 100.0%
108|dtiEE 1= 7| BT 162 0.6 11 5HE =Rt 3,120| 100.0% 115HE =Rt 3,120[ 100.0%
109|dtiEE A& RHET 164 0.6 115HE Lo 3,720| 100.0% 115HE oM 3,720 100.0%
110[=51 8 sEESZ 146 0.6 1|EHZE 5 A BT 64| 100.0% 115EHE EJlh 2.087| 100.0%
11{FEE RS 39 0.6 11&FHE LS 183]  100.0% 11 EHE 5 R HT 64| 100.0%
112 EHE FAF 323 0.6 11FHEE b\ 4 BT 211  100.0% 1FHE EAEMN 183]  100.0%
113[FHE A\ 4 BT 211 0.6 11 5HE mEEH 71|  100.0% 1|1FHE &\ 4 JEHT 211  100.0%
114[HER T{—HHET 226 0.6 115HE R ET 1,052] 100.0% 11 5HE mEER 71|  100.0%
115|FXAE L) 146 0.6 11 5HE RESHT 387] 100.0% 1EFHZE R A T 1,052] 100.0%
116|AFWE [ E LT 228 0.6 1FHZE HELEN 538 100.0% 1FHE RESHT 387] 100.0%
117|HER A aft 224 0.6 11 5HE $7 57 Hh BT 753]  100.0% 1FHZE HELEFR 538 100.0%
118| AR AT {FIRET 101 0.6 11FHZE FEEET 238]  100.0% 1 EHE 350 Hh 7 753]  100.0%
119|S5E T kR 222 0.6 1FHZE HALHT 1,089] 100.0% 11FHFE T ERT 238]  100.0%
120(dt ;5.8 f2EHT 136 0.6 11 5HE N 364 100.0% 11 5HE BRALET 1,089] 100.0%
121|EER EGA] 150 0.6 11 5HE REMN 419 100.0% 1EFHZEE N 364] 100.0%
122|288 XEH 349 0.6 11 5HE ER bR 85/ 100.0% 1EHZE E LN 419 100.0%
123/ 5EHE R ET 324 0.6 1| EHE =FHf 557| 100.0% 1|15EHE RAREA 85| 100.0%
124| B ER = LLF 227 0.6 1FHZE i+t 109] 100.0% 1FHE =FHr 557]  100.0%
125(dtEE N Rl 157 0.6 11B5FE =EFE 25.111]  100.0% =3 HFHT 270 100.0%
126 REFE RIS 150 0.6 115F8 AE&H 2.441] 100.0% 1 5HE SrIERAT 109 100.0%
127|ILFZ 1R % AT 354 0.6 11 &5F8 —_FPth 1,656 100.0% 11&2F8 =F& 25,111] 100.0%
128|418 FAHET 424 0.6 E==a ERT 4.868| 100.0% E==a JdtEth 7,325 100.0%
129| =R &8 JIl E4F 40 0.6 E==a AR 273] 100.0% 11 &2F8 AT 2441 100.0%
130 LA E R BT 192 0.6 11 5FE8 S SR AT 529 100.0% 1| &5F 8 Z_FmH 1,656 100.0%
131 IUFLIE FRAEET 314 0.6 11 5FE8 {3 HHET 238 100.0% 11&5F8 R 4.868| 100.0%
132( Lz & Kt 228 0.6 11 &5FE KEEHT 716] 100.0% 1| &5FE L) 273] 100.0%
133BREE [+BE# 112 0.6 11 5FE8 = RET 461] 100.0% 1| &5FE8 R HET 529 100.0%
134|=F 12 {1 AT 563 0.6 11 &5F 8 EESZCED) 218] 100.0% e {3 HET 238 100.0%
135 LFLIE eR+ 137 0.6 E==a TR 148]  100.0% 1B5FE KEEHT 716] 100.0%
136|% ,LER = FrET 265 0.6 11 &5F8 FFHEM 272  100.0% 115F8 LLJ EH BT 876 100.0%
137| EEFE INIFE 119 0.6 11 5F8 AEF 351 100.0% 115F8 = RAT 461| 100.0%
138 E%r BEH 273 0.6 11 &5FE — P HT 675 100.0% 115FE SESGER] 218 100.0%
139[dtiEE 1510 A BT 112 0.6 1 EHE SALBT 3,601 100.0% 1| &5FE8 T 148| 100.0%
140/dtiEE iz 1) BT 143 0.6 11 EE =E=hi] 2,205 100.0% 1152F8 FFEA 272 100.0%
141 F 03/ [ EE)IET 180 0.6 11 =EHE p=ieLiil 3,816] 100.0% E==a FEF 351 100.0%
142| REFIE SEARF 44 0.6 11 =HE 4B 64 100.0% E=Ea — P 675 100.0%
143| E IG5 F 4 FAET 210 0.6 1ERHE RA] R ET 1,980] 100.0% 1| =8 SAWBT 3,601] 100.0%
144 5 HFE TR 238 0.6 =TS 1 EHT 724]  100.0% 1=ZHE BAT 2,205] 100.0%
145|RERIR HER 297 0.6 1EHE LE AT 2,750] 100.0% 1 B8 B8 3,816] 100.0%
146|dtiEE FEEIET 328 0.6 11 ZRE J 1| &5 BT 500( 100.0% 1 EE £~ EHT 64| 100.0%
147 R EB KT HERNLEES 312 0.6 1EHE LU ST HT 703]  100.0% 1ERE 3R] [ AT 1,980] 100.0%
148| 5 HE AV AIES 672 0.6 11 =HE BT 790| 100.0% 1ERE T EHHET 724]  100.0%
149| BRE Bt 338 0.6 11 =ZHE F FF BT 3,299] 100.0% 1 EHE S5 FHET 2,750[ 100.0%
150(dtiEE B P AT 168 0.6 1ERE RIERET 586] 100.0% 1ERE J 1| L5 BT 500/ 100.0%
151|EER L) 113 0.6 1EHRE K+t 540 100.0% 1=mE LI IcHT 703] 100.0%
152|FFLIE  [F S AHHT 201 0.6 1| BHE £ R BT 505| 100.0% 1 EHE A EHT 790 100.0%
153|dLiEE ELEmT 169 0.6 1 ZE E:) 1,636 100.0% 11 EE F FFHT 3,299 100.0%
154|dtiE8 RZEHT 621 0.6 1|28 BAE 981[ 100.0% 1EHE RIERET 586 100.0%
1554t & SE7KHT 648 0.6 1MEE BRth 1,202]  100.0% 1ERE N TN 540] 100.0%
156| =S5 4L AT 183 0.6 1|FEE S RTH 2,424]  100.0% 1| =8 £ FRHET 505 100.0%
1573t 8.8 =LA 223 0.6 1#EE ] 2.118] 100.0% 1 =HE JNZEHRT 1,5636] 100.0%
158|dt ;5.8 = HAT 202 0.6 1|FAE e ET 1,597] 100.0% 1=ERE REHET 981 100.0%
159|&FJIE B EHT 167 0.6 1FEHE =NES 1,494]  100.0% 1ERE = [ERT 722 100.0%
160(F# LLIE BRI 1,951 0.6 1R EHE INR BT 239 100.0% 1FEHE BHE™ 1,202] 100.0%
161[EIFE Hz& 225 0.6 1MEE L) 146] 100.0% 1MEE iR 2424 100.0%
162(f0LE |[SEET 139 0.6 1MEE F i H AT 400/ 100.0% 1MEE e b 2.118] 100.0%
163|REAIE KT R U\ R TR & 112 0.6 1|1FAEE J\ER;5 ET 292 100.0% 11 FAEE JdtFET 1,597| 100.0%
164|=FE R EAET 424 0.6 1|FAE KiaH 243  100.0% 11FAEE [ =NES: 1,494]  100.0%
165488 AKX BT 665 0.6 1BMEE e A 1,159]  100.0% 1FHE /MR ET 239 100.0%
166 F0FRILIE  [KHhET 121 0.6 11 EE PR BT 857| 100.0% 1|1 FAEE ) 146] 100.0%
167 T AR EEA 74 0.6 1R EE Edp® D 129]  100.0% 1FEHE Tk B BT 400 100.0%
168|dtiEE KigHT 197 0.6 LR Lz th 18,473| 100.0% 1FHE J\ER;5 ET 292 100.0%
169| =I5 I8 HEEFR 173 0.6 ingAas EATH 6,682 100.0% 1FEE KaEH 243 100.0%
170/dbiEE SRR I BT 184 0.6 1[I E it 1,768]  100.0% 1{FEE E3 N 1,159]  100.0%
17| S 58 Z= 3 F BT 149 0.6 A= #uth 1,419] 100.0% 1 EHE FiRHET 857| 100.0%
1723t 88 st BT 323 0.6 ngAas EHT 1,801] 100.0% 1FEHE Ed% a 129]  100.0%
173| K7 1B TET 1,193 0.6 IR XETH 4.878| 100.0% A= Wiz H 18,473 100.0%
174|128 $7 #th BT 617 0.6 nnA= RiEH 3,960 100.0% A= SEETT 6,682 100.0%
175(dtiEE g HT 221 0.6 1ILEE L1373 BT 1,093]  100.0% ILEE i 1,768] 100.0%
176|FERIE & A ET 283 0.6 ngAas Ly T 765 100.0% InnAa=! il 1,419 100.0%
177|128 [ E7 BT 253 0.6 A= 75 )| HT 283]  100.0% A= EH™ 1,801] 100.0%
178(dtiEE & BT 213 0.6 A= g0 3 T 378] 100.0% A= XEtH 4878 100.0%
11988 G IBET™ 1,050 0.6 A= £ LLET 354 100.0% A= EXichi 3,960 100.0%
180|[LEER #HA SR 467 0.6 A= = FHT 564 100.0% A= L0 By 1,093] 100.0%
181|5F 8 FRFIE AT 241 0.6 1L E EEJNE 438 100.0% 1R H L BT 765 100.0%
182[dtiEE Ehail 135 0.6 1Lz 8 Rig#t 228  100.0% A= 75 I BT 283 100.0%
183| REFIE ERTREPEEES 76 0.6 IR &)1 % 251]  100.0% ngAas SAEHHET 378| 100.0%
184|db:EE MERNN 43 0.6 A= =5 1,807 100.0% A= £ ILAT 354]  100.0%
185|t2HE = JRHT 1,165 0.6 nnAa=! =l 949 100.0% ngAa=! = AT 564| 100.0%
186| 5 %8 EFF 83 0.6 A= R 2 HT 484 100.0% A= EEIN) 438  100.0%
187/db:EE s NH 93 0.6 LR =)I|ET 592 100.0% 1L Rt 228 100.0%
188|dt:E&E EIED 246 0.6 A= Wi BT 773| 100.0% ILEE FEIES 251]  100.0%
189| RHIE IR 20 0.6 12EE S NG 3,682] 100.0% A= =25 1,807] 100.0%
189818 = AT 90 0.6 12EER ZHrHT 777] 100.0% A= =L 949 100.0%
191[HER HEL AT 953 0.6 12EE = R HET 494  100.0% A= R 2 HT 484 100.0%
192(fF)IE  [HIIF 201 0.6 11288 BRI 4 38[ 100.0% nnAa=! = I 592 100.0%
193|[LEE H ZEET 1,038 0.6 11288 FASERT 203 100.0% A= W BT 773]  100.0%
19454212 Bt 121 0.6 1{EER AR AT 264] 100.0% 1{EEE E%AhtH 3,230/ 100.0%
195| REFE REHR 111 0.6 11288 SEIRTH 1,026] 100.0% 12EEE 3 /NG 3,682 100.0%
196(dtiE8 B SR ET 268 0.6 1{EER IEE) 208| 100.0% 1=EE SZIrET 777]  100.0%
197|FERIR I=E 4] 1,066 0.6 112EE =B 57| 100.0% 1BEE = R Er 494 100.0%
198(dtEE [EERT 352 0.6 12ER REF04E 38| 100.0% HEEEE] BRI F 38| 100.0%
19|EER BRAHLLET 981 0.6 11288 PR 1,682] 100.0% 111288 FASERT 293[ 100.0%
200| EtRIE JIIZAHT 186 0.6 111288 RIGF 540] 100.0% feEE A% pE AT 264]  100.0%
201 (=18 AR SRR 374 0.6 11288 5 W BT 1,353 100.0% =] =iEIRTH 1,026] 100.0%
202| FEE ;B /2 FEET 1,322 0.6 111288 HH = BT 1,091]  100.0% 12EEE Hl;EET 208 100.0%
PIRIE SRS B % EEHT 214 0.6 12EE K& T 383]  100.0% 1B E — BT 57|  100.0%
24| FZRIB Ty 209 0.6 111888 15 HT 569 100.0% 11EER HEESIES) 38 100.0%
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o s e i3 EVART F)IZkt
OHEAAVEL— 2 BLYDREARE  R4IRE QT BEREDEBLANEfFER R431IRTE ?j@?@ﬁgg?ﬁ% /@;éé)éﬁff)( Y resimE
B 1z | &R EHF IR 4 HEEA REAREH| AB B4z | &R B AF IR 44 HREEA BEARH % B4z | #RE A IR 44 REES REAREH %

205| R &R HEEHN 163 0.6 1feER EHEA 416]  100.0% 1feER At 1,682] 100.0%
206|JtiEE STERT 378 0.6 11feER LS 476 100.0% 1EEE RIGH 540/ 100.0%
207|=F 8 REH 530 0.6 =] =0 1,192]  100.0% 1eEER KWRHET 1,353]  100.0%
208|{EEE AR ET 373 0.6 1RER /NEFHET 674] 100.0% 1eEER HiZ BT 1,091 100.0%
209 | [# L I8 ESUI) 932 0.6 1B R [ EFET 253]  100.0% 1B 8 REHT 383] 100.0%
210| BV JLRFHT 122 0.6 1feER LES ) 147]  100.0% 1feER 15 HT 569 100.0%
211 |FIUIE S RE T ARET P RS 96 0.6 1feER = [ BT 57| 100.0% 1feER FEHEF 416/ 100.0%
22| B8 A ET 503 0.6 1feER JIIRAE 771  100.0% 1feER L] 476 100.0%
23| R IR K F0HET 208 0.6 11588 N 10{ 100.0% 1f5 88 =T 1,192] 100.0%
14| RIGIE /MBS BT 128 0.6 1{RER WEEHT 36/ 100.0% 1{EER /NEFHET 674] 100.0%
21555 E =raft 241 0.6 12EE SETHT 31| 100.0% 12eER [LEFHT 253]  100.0%
216|dtiEE & = REET 324 0.6 1B R EEH 12[  100.0% 1{fEEE HBIEHT 147]  100.0%
217| EEIE INBATIAR R HBARAH P A 111 0.6 111588 7 Hh BT 617| 100.0% 111288 = [ BT 57 100.0%
218dtiEE et 631 0.6 1EEE BREEFT 59| 100.0% 1feER JIR# 77| 100.0%
219[dbiEE SEFIET 117 0.6 1[ZREE KEM 19,298 100.0% 1{EEE K BEHT 10|  100.0%
220| [ LLIE & i P R ET 663 0.6 1R E Hirh 11,464] 100.0% 1{EER WEEET 36/ 100.0%
221U IR ﬁJiEHﬂ 484 0.6 1R E tTiEmh 9,876/ 100.0% 111288 JEITHET 31| 100.0%
222|BEE R N5 %t 248 0.6 1[ZRIBE TEmH 3,226] 100.0% 1B 8 2EEH 12|  100.0%
223| IR e300 270 0.6 1[ZRIBE it 4,583] 100.0% 1feER Fih T 617] 100.0%
224|EE R = 1,300 0.6 12k 2 wEEAXHT 2,753] 100.0% 1{fEEE EREEFT 59| 100.0%
225|FERE 2 LLIET 434 0.6 1R R EAin 5,353| 100.0% 11 &R KETT 19,298 100.0%
226| FEE fsaETh 760 0.6 1[ZREE e 6,642] 100.0% 1% E B3 11,464] 100.0%
227|dtiEE HiEEN 193 0.6 1R E AT 6,905 100.0% 1B E tEmH 9,876] 100.0%
228| KB fF 2 851 0.6 1[ZRIBE It 21,837] 100.0% 1ZmE T 3,226/ 100.0%
2292 B 8 AR BT 264 0.6 1[ZRIBE UI=bhhth 12,231]  100.0% 1|ZRBE wHith 4583 100.0%
230| g% 2 FA U T 292 0.6 1R E R il 6,164] 100.0% 1ZRBE wEEAXET 2,753] 100.0%
231 | EE IR FAEFHT 184 0.6 1[ZRIBE wmEXET 2,501 100.0% 125 E LR 5,353| 100.0%
AR ENITEINEE S ) 744 0.6 [EZT: BRI H 3,921 100.0% BT BFH 6,642] 100.0%
233|112 B R ERF 416 0.6 1R E ki) 7,161]  100.0% 1| xR E £ 6,905 100.0%
234|ZE R +3E)I4 146 0.6 1R E N HNI5H 2,916/ 100.0% 1R E KIETH 21.837[ 100.0%
235|F0FRILIE  |ENEAHET 582 0.6 1R E #Mﬁru 7,543]  100.0% 1| &R E Oi=biahmh 12,231  100.0%
236| ERIE HKF 33 0.6 1R E TAT 2,133] 100.0% 11ZRHE SFaT™ 6,164] 100.0%
237| L& EHHT 378 0.6 1[ZRIBE /J\¥£Fﬁ 3,593] 100.0% B33! wmEXET 2,501 100.0%
238 B 1B + AT 179 0.6 1[ZRBE I3 T 2,138] 100.0% 1ZBE BRI H 3,921 100.0%
239|ILUFIE I EESER 349 0.6 1[ZREE K HET 1,025] 100.0% 1% E SPHTH 7,161]  100.0%
240/ 5F 8 EEPHT 953 0.6 11ZRIHE Ik BB HT 1,082] 100.0% 1% E N HHSISTH 2,916/ 100.0%
241|dtiEE K0P ET 408 0.6 1R E BiEH 3,443] 100.0% 11ZZmE it 7,543]  100.0%
2| 5F 8 =FH 718 0.6 11RHE fa] 52 T 3,694| 100.0% 11ZRHE TA™ 2,133] 100.0%
243|REHE =X 798 0.6 1| xR sA O ET 400/ 100.0% 1| &R INEETH 3,593] 100.0%
244|388 SRIEHET 286 0.7 1[ZRIBE REHT 490 100.0% 1[ZRIBE X35k BT 2,138] 100.0%
244 ER IR e ES L) 390 0.7 1R E 1EHT 1,826] 100.0% 11ZRE RISEHT 1,025 100.0%
246| EE7 12 INEFE 173 0.7 1[ZRBE FI1E BT 849] 100.0% 1|ZRBE 35k BB T 1,082] 100.0%
247|Z1ER ZiEE 26,630 0.7 1[HERE HARE 39,148] 100.0% 12k BiEH 3,443| 100.0%
248|FE B L5 69 0.7 1|{IEARE WHATH 11,094] 100.0% 11ZRIHE ] 5 ET 3,694] 100.0%
249|RERIE % B KHET 713 0.7 1HERE 50 8,074 100.0% 1 ZRIHE Al R ET 400 100.0%
250/ RIGIE it H ER 1,035 0.7 1#ERE BiAm 7,107| 100.0% 1| &R FEEHT 490 100.0%
251|dtiEE HSHET 830 0.7 1[#FARE T 13,033]  100.0% 1[ZRIBE IFHT 1,826] 100.0%
252|dtiEE L hhHET 451 0.7 1IERE KHEH 5,231 100.0% NETAE! FIFEET 849 100.0%
253 | fafH & ABXTFN=hETS 234 0.7 1HERE P it 2,134] 100.0% 1IEARE EAE 39,148] 100.0%
254| =512 EERANEEL S e 138 0.7 1HHERE IREEET 9,112] 100.0% 1#HEARE WA 11,094] 100.0%
255|518 T= 908 0.7 15K E Kb 3,854| 100.0% 1|#FKE S dii] 8,074 100.0%
256 | B I8 =NIES] 108 0.7 1HEARE T8H 4,725  100.0% 1[HEARE e 7,107]  100.0%
2574t _+ /=R 259 0.7 1[IHEKRE S FHT 1,724]  100.0% 1R E INLTR 13,033]  100.0%
258|f8HE ES il 585 0.7 1IERE 7 AHT 717]  100.0% 1IHEXKRE KHAEST 5,231] 100.0%
259|{EE 8 FAEEET 293 0.7 1[#EARE h EHET 825/ 100.0% 1IERE P it 2,134] 100.0%
260(dtiEE £ 42 I BT 148 0.7 1[HERE EEET 1,225/  100.0% 1HERE IEEET 9,112] 100.0%
261|{ESE DHEH 403 0.7 1[HERE FAHRT 3,046] 100.0% 1IERE Xbmh 3,854| 100.0%
262| EE IR % BT 938 0.7 1#EARE 57 KHET 1,855 100.0% 1IERE T%mh 4,725 100.0%
263[ILAE BB K EHT 610 0.7 1|#EARE 15 S HT 621/ 100.0% 1|#EARE 5 FHT 1,724 100.0%
264| RIGE faiE™H 1,789 0.7 1IEARE = 1R R ET 2,153]  100.0% 1HERE N 717]  100.0%
265|=ZE & Fhemh 1,661 0.7 1 ARE BB JE HT 1,351 100.0% 1|#FARE i B HT 825 100.0%
266|F0g0ILIE  [SEJEMET 429 0.7 1|HFARE BRIA ) 1| BT 859 100.0% 1|#EARE ¥ Bl 1,225]  100.0%
267| REHFE AEHT 636 0.7 1BEEER S&tH 29.497| 100.0% 1IEARE F AT 3,046] 100.0%
268| RIFIE N 1,734 0.7 11HEER ik h 4,506/ 100.0% 1|#FAKE 7 KHET 1,855] 100.0%
269|dtiEE ERHET 571 0.7 1|HEER BEH 1,141]  100.0% 1#EARE AN 621] 100.0%
270/dtiEE FaELER 4T 57 0.7 1BREER AT 44]  100.0% 1ERE SR RET 2,153  100.0%
21|l E 78 )1 BT 283 0.7 1|HEER T{—HHE 226 100.0% 1{IERE BB JE HT 1,351] 100.0%
YAEEIETS JI{=ET 646 0.7 1BRER At 26| 100.0% 1[HEKE ARz ) 1| BT 859 100.0%
273 IR anliit] 2,630 0.7 1BEEE H ZEHET 882 100.0% 11HEER A& 24412 100.0%
274[lLAOE FAHT 620 0.7 11HEER KPR HET 300/ 100.0% 11HEER =& 29.497[ 100.0%
275|EEE ETHT 161 0.7 1|FER yE AT 593| 100.0% 1HEEER &R 4,506] 100.0%
276|112 HE FE AT ET 738 0.7 1|HEER BHEHT 312] 100.0% 1|EEER BEH 1,141]  100.0%
277|128 INPTET 387 0.7 1EREE = LA 227 100.0% EHEE il 44 100.0%
278|dtiEE SR 52 0.7 1|FEER JI35H 248|  100.0% 1BEEE T{ZHH#T 226] 100.0%
218| REFFE B3I 62 0.7 1BEEE REF04T 514]  100.0% 1BRER At 26| 100.0%
2784 #EE JEXEH 52 0.7 11HEER EFTHET 2,532] 100.0% 1HEEER HZEHT 882 100.0%
281 |FIFVLE RS SSEFET 402 0.7 1FHEER =) 981] 100.0% 1HEEER KEFRHET 300/ 100.0%
282|lLOE == 23,714 0.7 1|BHER T HET 821 100.0% 1BEE AR D) 593] 100.0%
283|dbiEE EERT 232 0.7 11BEER RIRHET 3,041] 100.0% 1HEEER HEHT 312]  100.0%
284|3tiEE FiEET 428 0.7 1#HEER =53 1,826] 100.0% 11HEER = WA 227| 100.0%
284|F/JIE BEEHT 749 0.7 1BEE BEER 116,059 100.0% 11HEER JIZ AT 248 100.0%
286| REFIE HIRM 103 0.7 1EERE =LV=FETH 103,362 100.0% 11HEER EESIES) 514 100.0%
287|4& M & FEHHET 1,191 0.7 115EFE JI|#% T 27,325 100.0% 11EER EHET 2,532 100.0%
288|{EE & JIAFE 77 0.7 1BFEE FrR™ 24,049 100.0% 1BEE =L 981] 100.0%
289|541 E TEE T 203 0.7 1[1I5FE BREETH 5,212] 100.0% 1EER T EHHET 821 100.0%
290 (4t #5:8 L FNHET 396 0.7 IESETS P 9,804| 100.0% 1EER K SR ET 3,041 100.0%
201ERER |Fi&H 122 0.7 [IEEET kit 10,691] 100.0% 1HER =E ) 1,826 100.0%
292| =S AR SEBET 586 0.7 [IEEET LEmM 16,739] 100.0% REES S BER 116,059 100.0%
23|ERER |FtEFHT 459 0.7 REES Ehn 17,909] 100.0% 1HER SLM-FET 103,362 100.0%
294| = R T =ETh 954 0.7 1BEEE BRI 4,501 100.0% IEEET )l 27,325] 100.0%
295 AR AT RAHETH 3,669 0.7 EEET FHTf 11,786] 100.0% 1EEE PR 24,049 100.0%
296| FER A T 321 0.7 IEEET ARH 10,506 100.0% IEEET EREET 5212 100.0%
297 | RIS HETH 2,358 0.7 1BEE EAH 5861 100.0% 1BEE ¥t 9,804| 100.0%
208[dtiEE EHTI) 721 0.7 1iZ3EE A 6,256] 100.0% 1BER EATH 10,691] 100.0%
299 IR X AT 842 0.7 1ZEE il 5400] 100.0% HEEES! LEH 16,739] 100.0%
300(dkimiE {ZKHET 239 0.7 1IBEE AETH 10,445 100.0% 1FERE Bt 17,909] 100.0%
301[dkimiE A EHT 1,267 0.7 11EERE dxH 4,165 100.0% 1FERE Bk 4501] 100.0%
02| fEE IR L iRET 786 0.7 115ERE EXRm 8,411] 100.0% 11Z5EE FH 11,786] 100.0%
03| FHZE ZEHEM 183 0.7 1IZEE =h 10,572] 100.0% 1BEER Al 10,506] 100.0%
04| 5F & B KHET 510 0.7 115FEE EHH 4.183] 100.0% 11Z5EE HAH 5,861 100.0%
305/t iEE 3 Al BT 467 0.7 11Z5EE BHam 4.254] 100.0% 1BEE M 6,256 100.0%
306|EIREE  |FXIEET 393 0.7 1BERE SLAEFH 9,046] 100.0% 1BEE G 5,400/ 100.0%

3/18




REEHMEG FRICETHERCTIRIEDE RN (1)

QEMFLANX (I ENEEL AT L (LTESE) TXY

= -~ ° —_ A4 o A 182 == =X o g = ﬂ A L }_._'s 4 p— ~ -~ = e WO,
OHERIVEL—ELYDRELAEH  RIIRE T EHEDRIRLANE [HER RASIBE T o A I5E AR =N R4.3.17E
B4 | &R E FF I8 £ REESA REERES| A B B4 | ERE T IR HREESR BEERFEH % B4 | ERE T IR REESA RESREHR %

07(fNFLE  |[HEHRT 314 0.7 11BEE FEH 4122| 100.0% 1BEE AET 10,445 100.0%
308| EEVE =20 210 0.7 1IBEE =T 2,985 100.0% 11BEE tAtH 4,165 100.0%
309|dt:EE S &l 311 0.7 11Z5EE E = ILHET 1,952]  100.0% 11Z5EE E+RmH 8411 100.0%
3I0[ERIE fillpr T 1,202 0.7 11BER 5 A BT 636 100.0% 11BER =i 10,572 100.0%
M| EFE e] Ry T 274 0.7 11BER 38 )| BT 1,782 100.0% 11BER EHAEH 4183 100.0%
312|ERE B ERT 781 0.7 1IBEE = LI AT 1,057 100.0% 11IZEE Hath 4.254] 100.0%
313[dtiEE FOFEMT 212 0.7 11B5EE INI BT 1,655 100.0% 11Z5EE SLHFH 9,046| 100.0%
314|ILZE BE=)IH 438 0.7 1BEE JI EHT 1,231]  100.0% 1BFEE FEHE 4122  100.0%
315|F/JIE BT 1,203 0.7 1IZEE L 1,019]  100.0% 1BEE =FEHT 2,985 100.0%
316|488 L EH 681 0.7 1BEE & LLIAT 616/ 100.0% 1IBEE E=T) 1,952] 100.0%
37| =FE ERFh 993 0.7 11BEE EEHhHHET 602| 100.0% 1BEE % A BT 636 100.0%
18| B R A = BEMT 722 0.7 1EERE R EL 549 100.0% 11BER B I BT 1,782 100.0%
319|EERIE 7K E4F 170 0.7 1BEER =adil 638] 100.0% 11B5EE A LU BT 1,057 100.0%
320|=lLE g HHAT 589 0.7 1IBEE RBHT 430 100.0% 1BEE /NI BT 1,555] 100.0%
21| 5F & [ERI= T 1,025 0.7 1BEE /NEEETHT 750] 100.0% 1FEE JI EHT 1,231]  100.0%
322 EHZE BaER 419 0.7 1IZ5EE BREARA 116] 100.0% 1IBEE S RAT 1,019] 100.0%
323| L8 PoR* 237 0.7 11BER ES) 769 100.0% 1BEE JE LI BT 616] 100.0%
324 | IR 0Ot 2,265 0.7 11I5EE L EH 2344 100.0% 1115EE EEMDHHET 602| 100.0%
325/dtimE padaalig 425 0.7 11EBER =KHT 2.203| 100.0% 1BEE e AT 549  100.0%
326/ = 5012 a5+ 2,199 0.7 1IZ3EFEE Y EH] 3,105]  100.0% 1IBZEE =Eadi) 638] 100.0%
327(dtiEE T IR ET 612 0.7 1BEE FAMKHET 2,084 100.0% 1BEE RiGHT 430  100.0%
328| R IR DESERI 534 0.7 1| FEER FEH 71,240 100.0% 11BEER N BT HT 750 100.0%
329|dt:EE /N 7K BT 335 0.7 1FEE $kFh 3,990 100.0% 1BEE BERRXH 116] 100.0%
330| = IR L JTHT 703 0.7 1| FEER it 50,592[ 100.0% 11BER EEHT 769 100.0%
BBEE HSER 2018 0.7 1| FEER AL 5,695 100.0% 11EBER L EHT 2.344] 100.0%
332|EERIE F0K BT 623 0.7 1|1 FER B E T 10,595 100.0% 11Z5EE = (X HT 2203| 100.0%
3| EEE EHHLLHMNATHRE 428 0.7 1| FEER ==l 12,250( 100.0% 11BER PR 3,105] 100.0%
34| MEJIE  |FEiRET 426 0.7 1FEE o] 3,903] 100.0% 11Z5EE FAMKHET 2084 100.0%
335|=F 12 =R 748 0.7 1|1 FEERE BEth 760 100.0% 11 FER FER 71,240 100.0%
EE JL s H#HP - 71~ g m ’ -V 1~ po m , V70
36|EREE  |FEERNHET 625 0.7 1|1 FER REJI| 1,863] 100.0% 1| FEE BF 3,990[ 100.0%
T 71 ;ﬁ ¥ - 71~ u ‘6’ y U/ 71~ [f=] IE]F-_-I y U/

337 REFE REHR 173 0.7 1| FEE b k] 8,024| 100.0% 1FEE Mg 50,592 100.0%
EE J L 71~ ; . 71~ y V0 7T~ J"an'l y V0
338|EREE |[FIAHET 577 0.7 1| FEER =Eiil 5,732] 100.0% 1 FER AL 5,695 100.0%
HaE A ) =} = , 0% == CHTH , 0%
339|dtiEE T AB AT 218 0.7 1| FEER EETH 3,356 100.0% 1| FEER [pdsE] 10,595 100.0%
340| 551182 ERH 547 0.7 1| FEER MEiaT 2,105| 100.0% 1| FEER =il 12,250( 100.0%
%/\ - 71~ rh Fi y V0 71~ ‘lFi y U/
341[FEE REHET 374 0.7 1|1 FEERE [ BE 2,357 100.0% 11FEE BE 3,903 100.0%
342|3t:EE 2 R ET 429 0.7 1|1 FER EWH 4.403]  100.0% 1|1FER 5@ Th 760 100.0%
343|ZE IR 58 JL BT 554 0.7 1FEE WTHH 2,159 100.0% 11FER BEJI| 1,863] 100.0%
344[RERIE EEHT 526 0.7 1| FEE Ea=1:1 831 100.0% 1| FEE s am 8,024| 100.0%
345|258 E L) 1,524 0.7 1|1 FER RIEHRT 848| 100.0% 1|1 FER =Eidt] 5,732 100.0%
346| ER IR e 2,617 0.7 1| FEE A+HERT 794] 100.0% 1FEE =EEm 3,356] 100.0%
M| EREERE |fEZER 952 0.7 1|1 FEE = LLIET 434]  100.0% 1| FEER MEaT 2105 100.0%
348|153 E 12 Bt 4292 0.7 1FEE —=Hr 971 100.0% 11FER MmEETh 2.357] 100.0%
349/dkiEE RhlT 1,107 0.7 1| FEE B R AT 445  100.0% 11FER EEH 4.403] 100.0%
350|dkiEiE EMBH 1,010 0.7 11 FER &M 877| 100.0% 1| FER WIHh 2159 100.0%
BIEER RAL3K Th 2,366 0.7 1|1 FEERE =i 642 100.0% 1| FEE Ea=1:1 831 100.0%
352|IKE I J\EZHT 672 0.7 1|1 FER RARHET 330[ 100.0% 1| FER RIEHRT 848 100.0%
353(dtiEE ZFHITHT 273 0.7 1|FEE KT 374] 100.0% 1|FEE A+ EH 794]  100.0%
B4|EREE  |$RTHET 485 0.7 1|1 FEE RELER 489] 100.0% 1| FEER = LLIET 434] 100.0%
% sy - /1~ L -V /1S _E V70
355|540 % )| BT 812 0.7 1|FEE SEE AT 336/ 100.0% 1|FEE = HT 971]  100.0%
356|dt:@E KB ERHAT 283 0.7 1FEE il 5 =) 39/ 100.0% 1TFEE B SR T 445  100.0%
3571 EFE E AT 214 0.7 HESE E gt 146,409 100.0% 1FEE REH 877| 100.0%
BbYEER ABEHT 555 0.7 ES=E: FHRERX 4720 100.0% 1| FER =l 642 100.0%
I EEE EHHLLH 3,029 0.7 [ESE BX 12,456] 100.0% 1|FEE RARET 330] 100.0%
360|fEEE eSSl 291 0.7 HEEE HEX 12,752] 100.0% 1|FEE KEHT 374] 100.0%
361|ZEWE FHEFT 328 0.7 eSS SHARX 14,261] 100.0% 1|FEE RELEM 489 100.0%
362| ERIE HEIRT 192 0.7 eSS SIS 22142 100.0% 1FEE SERHT 336/ 100.0%
63| EZERIE TIERT 375 0.7 HESET KHEHEX 40,995| 100.0% 1| FEE TEFERAEE 39| 100.0%
364| REFIE JI| E4F 255 0.7 HES=E T il X 28,568 100.0% HESE et 146,409 100.0%
365| SR E SIERET 324 0.7 ES=E: X 17,851 100.0% HESE FHRERX 4720 100.0%
366[REE IR T 4958 0.7 HESE ER 12,409] 100.0% 1[EERAR EBX 12,456] 100.0%
367(FJIE Z M 497 0.7 1| RAR SIFIE 48,928 100.0% HESES HEX 12,752] 100.0%
368[ILUAZIE Fit #2 BT 325 0.7 e JI\EFTH 39,414] 100.0% ES=E =HKX 14,261] 100.0%
369|EFE KiniEm 2,150 0.7 HES=E =fEH 12,927] 100.0% 1[FRFEAD SIS 22142 100.0%
B X 71~ . 5‘\ q- F-_-l ’ .U/ R unx y .U/
370/ 5 HE HRANET 773 0.7 HESET s 19,503] 100.0% 1[EFER HERX 13,036] 100.0%
371 | = ERAF 5 5 EFHT 1,288 0.7 ESE: BBETH 8,180 100.0% HEEET KERX 40,995 100.0%
INEER EER 20,035 0.7 IE=E INETH 14,386] 100.0% HEEE i X 28,568] 100.0%
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INIESET HEX 13,036 0.8 1[FEWE =L Gl 40,377] 100.0% 1 BIWE Jt R HET 1,182]  100.0%
748|135 E 12 AET 5,580 0.8 1[FEWLE AN 7,767| 100.0% 1ERE =220 210] 100.0%
749| EMIE 25 CEMT 416 0.8 1[FEWLE EFH 3,946 100.0% 1ERE FAERET 769 100.0%
750l B IR i 2 N HT 847 0.8 1[FEWE Earihni 2,934]  100.0% 1ERE BEHRT 816] 100.0%
K1 ERER [BEM 9,984 0.8 1(FEWLE HET 2,630] 100.0% 1ERE H g T 192]  100.0%
152| =R SEHHET 2,750 0.8 1(FE L8 ey aniz] 6,019] 100.0% 11ERE H ¥rHT 118]  100.0%
75315 E 2 FHE™ 3,645 0.8 1] W& S 1,670 100.0% 1ERE JLRTHT 122]  100.0%
754[ 1L FL 12 1| = $ERET 999 0.8 1| W& oER™ 1,772 100.0% 1ERE K FHAEERPERES 429 100.0%
755|15 E 12 #5AE BT 636 0.8 1] WS BRI 1,951 100.0% 1158 KHEM 2364 100.0%
756 | STERKT et 5,353 0.8 1(FE L& B AT 2,655 100.0% 11 E5RE JLET 1512] 100.0%
1571|[LER =&t 6,308 0.8 N FREEH 3,568] 100.0% 1EREE E@mh 2617[ 100.0%
758K IR =FHT 1,724 0.8 1(FE L8 BRETH 3,155] 100.0% 1158 A FE BT 307/ 100.0%
759| LR EhnIh 3,212 0.8 1| L& EXidiil 1,707] 100.0% 1{ERE JIIZHT 186] 100.0%
760|EERIE KIET™H 1,687 0.8 1[FEWLE O 2,265 100.0% 11ERE S IERET 324] 100.0%
761| SRR JLiE™ 1512 0.8 1] W& F<HET 815/ 100.0% 11ERE RN EFHT 390] 100.0%
7162|2518 A= 2,533 0.8 1] LS B EH 1,224]  100.0% =S S e 338/ 100.0%
763| EER BT 1,558 0.8 1 (R L E BEHT 965/ 100.0% 11EREE s ET 161]  100.0%
764 | R AR EX 12,456 0.8 =N R BT 842] 100.0% 118EE8 75/ SHT 159] 100.0%
765| =R N 790 0.8 1R WLE FTEM 58] 100.0% 1| BHRE K 33| 100.0%
766|f2 B & o B HT 362 0.8 1[FEWE 5% FF T 974] 100.0% 1[{FELE fif] LU I8 36,636/ 100.0%
767|=E LR E izl 3,243 0.8 1(FE L& 55 S T 948 100.0% 1[fELE GG 54,339] 100.0%
768| KB EART 937 0.8 1[FEWLE =& 435] 100.0% [ EIE LGl 40,377| 100.0%
71692 E R KEHR 794 0.8 1[FEWLE HEEH 118]  100.0% N EIUTH 7,767| 100.0%
770|382 ESIIES 297 0.8 1 EIE A KT 248  100.0% 1 WE EHh 3,946] 100.0%
TN|EER E-aaaliil 3,623 0.8 1R LE 25 {it o LT 663] 100.0% G Zih 2,934] 100.0%
1123 ER =L 981 0.8 1[0 LR EAT S o ke ST 96| 100.0% I [EIITS FR T 2,630] 100.0%
TI3BER ) &HT 1,231 0.8 1LEER LER 40,272| 100.0% [T ottt 6,019] 100.0%
774\ KB T AFHT 964 0.8 LRER =l 15,133] 100.0% 1] L& it 1,670] 100.0%
775| S 518 bt (£ 0] 328 08 |EEE MIETH 1,354 100.0% NGNS FR™ 1,772| 100.0%
776|Z 512 =T 1,466 0.8 1WEBE =&\ 6,308] 100.0% 1R BRI 1,951] 100.0%
777|f&M 8 HXFEH 2,561 0.8 1EEER 2l 36,816] 100.0% 1S P AT 2,655/ 100.0%
T18[iEE R EiEmh 9,757 0.8 1EEER Sdaalin] 2,501 100.0% 1[FELLE KM 3,568 100.0%
9 EHE ZEHH 7,251 0.8 1WEEE =& 3,640 100.0% G HEH 3,155/ 100.0%
780[=F 8 ESE 574 0.8 1WLEBE EET 2,195]  100.0% 1 EIE EEh 1,707]  100.0%
81| 5 HE ENET 593 0.8 1EEE Xt 1,739] 100.0% 1[FELE Ot 2,265 100.0%
182| FEER KZEMH 489 0.8 1EEE RILET 16,286] 100.0% N F<HET 815 100.0%
183| KB BAT 4988 0.8 [N=T HHmH 9,204] 100.0% 1 LE R EHR 1,224  100.0%
784 | ER AT J\i&H 4,990 0.8 1EEE T=o AT 1,844] 100.0% EIE B ERT 965/ 100.0%
785| KB /T = BH#TH 7,363 0.8 1EER IHRET 1,050[ 100.0% G AT 842] 100.0%
86| 5 F & FFHEM 272 0.8 [NET FF R BT 4.258] 100.0% 1 WLE FER 58] 100.0%
786 | R R AR J\3CHT 476 0.8 HWEEE B EET 2,454 100.0% 1(FE L8 #5% FFHT 974]  100.0%
788[dtiEE T 499 0.8 1|EEE AEFFHT 1,889 100.0% =N R LT 948]  100.0%
789 | &I IE FEE 2,272 0.8 1WLEEBE I ET 1,096] 100.0% 1 EE EEHET 435/ 100.0%
790| FI IR MEHMNI6H 2916 0.8 1EEER TEAHHA 312] 100.0% 1R FAEEH 118]  100.0%
9[EEER XM 1,739 0.8 1EEER B[ /N=T:) 1,161] 100.0% 1{FEWLE K EfT 248 100.0%
7192| FEER FEF 71,240 0.8 1WLEEE Kig + EfT 307] 100.0% 1 LE 25 {it o LT 663] 100.0%
193|[LER EEh 9,084 0.8 1WLEEER T ZEET 1,038]  100.0% 1[I & BT A HET RS 96/ 100.0%
794| XBR FF \WER FT 791 0.8 1|EEE HAS[RET 467] 100.0% 1|LEEE LER 40,272]  100.0%
795| EER f-2Dth 5,871 0.8 == Fh 2,585 100.0% 1EEE At 15,133 100.0%
796|f@HE Hhom 1,840 0.8 =)= =ET 9,273]  100.0% WLEER MIETh 1,354]  100.0%
797\F0FUE  [FOFLIE 21,776 0.8 [M=]=! Elh 10,232]  100.0% [N=T =B 6,308] 100.0%
798| 5% IR FET 3,761 0.8 == WE/NEFE T 4684 100.0% 1WEEER 2l 36,816/ 100.0%
19| KR FIH 5,313 0.8 =]=! FOAHET 620] 100.0% 1WEEER ilaakiil 2,501 100.0%
800| B IR A FHHET 1,915 0.8 == - BEET 99| 100.0% 1WLEEER =& 3,640 100.0%
801|H)IE EIEET 3,199 0.8 == a7 £ BT 192]  100.0% 1EEE EET 2,195 100.0%
802 fa ] & FEM 3,369 0.8 1EEE mETh 18,019] 100.0% 1EEE X 1,739]  100.0%
803 =R 2 ERE T 1,711 0.8 1EEE [Slh 3,636/ 100.0% 1LEEE HILE™ 16,286 100.0%
804|LLFLIE = £ O ET 1,605 0.8 1EER IR ETH 2,281] 100.0% 1EEER HHmH 9,204| 100.0%
805 | [ LI IF B FEHRT 965 0.8 1EEE FAl Fa T 5,286] 100.0% 1WEEER T=aHT 1,844] 100.0%
806 | LI & FREMH 3,568 0.8 1|ESE EEadllhd 2,477  100.0% 1|LEEE SIAETH 1,050| 100.0%
807| S HRIE Blm 14,153 0.8 11EEE B 3 T 2,366 100.0% 1EEE T SR BT 4258 100.0%
808/ B 15 AETH 2,798 0.8 1ESE E£EWH 1,750/  100.0% 1|/LEEE s HEAT 2,454]  100.0%
809 |k I8 SA] N ET 400 0.8 |EEER =% 1,300 100.0% 1HEEE AEFTHT 1,889 100.0%
810|FTRE #eh 5,643 0.8 1|ESE R BT 279] 100.0% [Nz I T 1,096] 100.0%
811| BRI = e AT 709 0.8 1|EEE L BSHT 54| 100.0% 1WEEER TN HHET 312]  100.0%
812| 2t & #EJIBT 990 0.8 1|EER &R A FT 113]  100.0% 1WEER B/ N=1:) 1,161]  100.0%
813|EILUE L ThET 1,220 0.8 1ESE A FHHE] 1,915] 100.0% 1LEBE Kig E E/T 307| 100.0%
814|#FKE NI 13,033 0.8 1ESE 4L AT 183 100.0% HWEEE HEE AT 1,038] 100.0%
815|FiBE A 25 T 446 0.8 1EEE AR 25 BT 373]  100.0% 1EEE A = [ E 467 100.0%
816|dt:EE Bl 549 0.8 1|ESE £ 7 BT 150[  100.0% =)= Fh 2,585 100.0%
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OHEAAVEL— 2 BLYDREARE  R4IRE QT BEREDEBLANEfFER RASIBRE 0% & a5 H A= n2a R43IBE
B 1z | &R EHF 12 HEEA REAREH| AB B4z | &R E A IR 44 HREEA HEEEHR % B4z | #RE A IR 44 REEA BEAEHR %
817| LR H L T 765 0.8 ESE EIRHET 291 100.0% =]=! EEM 9,273|  100.0%
818|f@H & HEH 5,155 0.8 1|ESER B ET 443 100.0% == Efth 10,232]  100.0%
819EIRER [EEIAT 7,882 0.8 1|EEER AR HT 1,178] 100.0% =)= WEE/NEFHET 4,684] 100.0%
820| %I I8 wEiat 4583 0.8 EER Jt SHET 2,058] 100.0% M=]=! FOAHET 620] 100.0%
821| KPR KT L Waliil 30,388 0.8 11EEE e 3,139] 100.0% == - BAHT 99| 100.0%
822|=F 8 HETH 2,752 0.8 1EER R EFHT 841 100.0% 1 u.ll:ll,% ] X BT 192]  100.0%
823| ZERE KiEET 1,115 0.8 1EESE L iRHET 786 100.0% 1EEE mE™H 18,019] 100.0%
824 L& Z 2,934 0.8 1ESE DAHEHT 403 100.0% 1 ,UELR b 3,636/ 100.0%
YRE S REC & BT 1,645 0.8 1|ESE BEHKLHET 981] 100.0% 1|EER INAETH 2,281] 100.0%
826| EHZE BN 2,087 0.8 11&F)NE iJiHj il 3,303] 100.0% 1 tﬁ%l,% BAl R T 5,286 100.0%
IESSE h X 13,764 0.8 HEIE E@ETH 2,270]  100.0% 1EER =Eadllkiil 2,477 100.0%
828 LLIIE HEEH 3,155 0.8 EIE é&a%?ﬁ 2,979] 100.0% 1|ESE Bl B2 2,366/ 100.0%
829| R &R 2Rt 6,043 0.8 1FINE =2 4,370] 100.0% 1|ESE ES: Ll 1,750]  100.0%
830|LFIIE E7IILTRTE 5,621 0.8 ETE NG EHET 792| 100.0% 1EEE =i 1,300 100.0%
831| SR % 0 BT 265 0.8 1|FINE [E1=T0) 167] 100.0% 1|{ESER fg5 R T 279]  100.0%
832[fEJIIE  [FEERT™ 7,073 0.8 1FIE F %20 1,467] 100.0% 1 tﬁ%% - BT 54]  100.0%
833| KB iF NG 177,490 0.8 1[FINE LEERT 1,635] 100.0% 1|EER P IES) 113]  100.0%
834| EERE FREEh 3,327 0.8 EE FADSHT 1,426 100.0% 1 ,u%lm A FHHT 1,915] 100.0%
835| %I IR 8@ 3,006 0.8 1FIE SETRIETERES 362] 100.0% 1|EER £ LL BT 183] 100.0%
836| UL IR £ ET 1,458 0.8 TS 5iA 10,555] 100.0% 1|ESE AR BT 373] 100.0%
837|FEE JEh 4,604 0.8 ! FEET 9,156] 100.0% 1 ,m%kn £ s BT 150]  100.0%
838[ILFLIE A EBET 375 0.8 1| Z®EE EEEEEY 6,299 100.0% 1|1EEE EIRHET 291 100.0%
839 E IR =5t 3,173 0.8 1| ZEEE o 2,653] 100.0% 1 tﬁ%l,% B ET 443 100.0%
840 F%»%E hiEFHT 551 0.8 1| ZEE L EHfT 294] 100.0% 1|ESE AR BT 1,178]  100.0%
841|it:EE KIGHET 700 0.8 1ZEE AR RHE] 374] 100.0% 1 ﬁ%% Jt SHET 2,058 100.0%
841|FER SEEAHT 336 0.8 1|ZEE FARITHET 2,520] 100.0% 1ESE BE{EHT 3,139] 100.0%
841|128 KAEHET 436 0.8 1|ZER R SRET 1,645 100.0% 1 ,U%Ln R B ET 841] 100.0%
844 |2l 2 g™ 3,937 0.8 1| ZEE FAHET 424  100.0% 1 M%Lﬁ L HRHET 786/ 100.0%
845|LFIIE B H 2,027 0.8 T, AP HT 184] 100.0% 1|EEE DAHEHT 403 100.0%
846|{EE R SiEIR T 1,026 0.8 1|ZER ZrglT 1,069] 100.0% 1 iﬁ%'% BRALLET 981] 100.0%
847|it:EE EIEE™H 4336 0.8 1ZEE FL/NhERES 19[ 100.0% 1|FE IR 3,303 100.0%
848| = I 1§ JIIFE BT 1,288 0.8 1|E5E &EEH 2,411  100.0% EIE ERFh 2,270 100.0%
849|BEE R BA #0HET 823 0.8 1S58 Z 3 FIET 149] 100.0% ETE SHhETH 2,979] 100.0%
850| R &R HKEErmh 8,268 0.8 1|=5E EESEE] 146] 100.0% N =2 4,370] 100.0%
851[IFEIR E=FH 3,289 0.8 1[E5E =M 241 100.0% 1HEINE ING EHT 792 100.0%
852|[LER [Siaakit] 2,501 0.8 1S5E AL ET 183] 100.0% N =) 167] 100.0%
853| B IR fAEH 1,976 0.8 1SR REHT 112]  100.0% 1EFE F %20 1,467] 100.0%
854 E IR ZEHR 609 0.8 1S5E T 1ER/T 222]  100.0% 1HEIE ZEERT 1,635] 100.0%
855 |Fim R EE™ 3,232 0.8 1S58 NI 30{ 100.0% 1FNE FADSH 1,426] 100.0%
855| = IR AXEH 101 0.8 1S58 == I BT 212]  100.0% 1|FNE SEHREFHERMES 362] 100.0%
857| =R EXN=TLiil 3,084 0.8 = b+ {£ BT 328| 100.0% B =1 10,555] 100.0%
858 E 12 £ HAET 1,566 0.8 1[E5E % &0 BT 265| 100.0% 1| Z®E FMEH 4468 100.0%
859 IIB‘ZELr FFFHE] 2,184 0.8 1S58 ERAT 203] 100.0% ] EET 9,156] 100.0%
860| KPR FF ARER T 6,417 0.8 1SHE Ha# 197]  100.0% 1| ZRE POERRH 6,299 100.0%
861l B IE Intdm 5,171 0.8 1S58 2 EPHT 378] 100.0% BT BR™ 2,653 100.0%
862| =R NTE=aii] 80,351 0.8 1E5E =E# 62| 100.0% 1| ZEE L BT 294]  100.0%
863| E X8 MmZmh 7,011 0.8 = EEEAILEL R e 138 100.0% 1|ZER ABEEET 374] 100.0%
864|=F B Wt 3,466 0.8 == BT 126,156/ 100.0% 1| ZRE FARITHET 2,520 100.0%
865|FIFXILIE |HATH 5,035 0.8 1|12k 2 KEFI 9,407] 100.0% A FE ERET 1,645] 100.0%
866| X I &R Eirmh 4612 0.8 11428 EE il 8,275/ 100.0% 1ZEE F 75 BT 424 100.0%
867[FFRE IENHT 621 0.8 =] [ 6,459] 100.0% 1 ZEE s 5 HT 184] 100.0%
868|EEIREE |HEREHE 589 0.8 14202 EES) 2,846 100.0% 1|ZEE ZralT 1,069] 100.0%
869|ZIEE ME$RH 6,299 0.8 1[{&0 &2 il 4501] 100.0% 1| ZEE EINGE 2 i 19|  100.0%
870|4g M & [ )11 BT 1,697 0.8 128 A HT 3,034] 100.0% E=EE E@Emh 2411 100.0%
871|=F 12 FEH 6,201 0.8 1/$8EE = BT 4420 100.0% 1EHE Z= 3 FI|f7 149]  100.0%
812| KRR K 398 0.8 1[f2RE R A LLIET 956 100.0% 1SR sEESZ 146] 100.0%
873|Ix B IE 152E )| BT 1,268 0.8 R fAEET 5,065/ 100.0% 1SHE =M 241]  100.0%
874|Z X SH 35,451 08 118 &8 IKZSHT 2,055| 100.0% &R A LI BT 183 100.0%
875| A =HRX 14,261 08 LIRS 1= & HT 1,559| 100.0% 1= *1E K= HT 112 100.0%
876|F IR % B2 HT 1,635 0.8 1[42 R 1= AE)1ET 990 100.0% &R L {EHT 222| 100.0%
877|FXH R KBt 243 08 LS RIEFT 126] 100.0% &R RJU# 30| 100.0%
878| =52 S4B 12,431 0.8 12k R X 7] S ET 1,307] 100.0% =& =% I BT 212| 100.0%
8719|HEE = K HT 2,203 0.8 128 E&EH 737| 100.0% 1SHE b+ {&/T 328] 100.0%
880|EREE |H/KMH 4817 0.8 11428 i H T 588 100.0% 1SHE 5 &N T 265/ 100.0%
881| KPR KT NG 7,794 0.8 1[{&0H 8 S HHET 756/ 100.0% 1SHE 1SR HET 203 100.0%
882| a2 *EW%—HEP?’&%E% 311 0.8 1[{&0H & Tt 262] 100.0% 1SR Ha# 197[ 100.0%
883|EREE |EAEH 1,008 0.8 14202 i] AT 3,171] 100.0% 1S58 R EFHT 378] 100.0%
884| A JIIIE 7K HT 357 0.8 1|8 = 393] 100.0% 1S58 =E#t 62| 100.0%
885|{EE R A JIET 970 0.8 11128 EERN— TP RES 311 100.0% 1[SHE B AHE BT S 138]  100.0%
886 | R &R FEEERET 14,095 0.8 1|taEE ABXTN = HE S EEHAD 234] 100.0% 1|12k 8 fakEm 126,156 100.0%
887|M1FMILE  |{EMdATH 1,430 0.8 1128 DESEEREE 638] 100.0% 1128 KT 9,407| 100.0%
888| = I IE 911 BT 1,491 0.8 1HEER HEEER 20,035] 100.0% 1|42 2 RET 8,275| 100.0%
889| FEE £2iEh 5,279 0.8 1HEER ZAH 1,388 100.0% 14202 2EmH 6,459 100.0%
890[15 E 12 FHH 4,183 0.8 1HEER FRET 4657 100.0% 1|fa k8 =ET 2,043] 100.0%
8912 & 7 EHET 588 0.8 1MEEER i 3,950] 100.0% 12 R AR )11 T 5,052 100.0%
892| R IE wEXET 2,501 0.8 1HEEER BET 2,342]  100.0% 1|88 EET) 2,846] 100.0%
893Kk B 1§ BEZH 2,017 0.8 1B R w5t 2,447  100.0% 1128 SR HT 4,501] 100.0%
894|FIJIE BEHhH b 1,585 0.8 1MEER & iy BT 1,437] 100.0% 1|42 8 A HT 3,034| 100.0%
895|dtiEE ¥ﬁ+;$JI|ET 468 0.8 HEEE L IEHT 899 100.0% 14202 1= By 4,420| 100.0%
895|[LEE =AHET 312 0.8 1{EZ 8 B2 1 419 100.0% 12 E A LLIET 956 100.0%
897|F% M8 ,’fﬁﬂu 1,368 0.8 1HEER £ HHAT 1,566] 100.0% 1128 faEHT 5,065 100.0%
898| K18 ﬂ&'ﬂi 4,026 0.8 1{EE 8 R HTHT 407] 100.0% 1[f2F B 7K HT 2,055] 100.0%
899| B4 I8 EFHH 4132 0.8 1EEE STACET 830] 100.0% 148 E = B H] 1,559] 100.0%
900| = IRIE EA8TH 5,746 0.8 1MEER ARHT 555| 100.0% T £ )11 BT 990| 100.0%
901 | RIFGE *EH 2,062 0.8 1| EIBE EIGE 26,136] 100.0% 1|42 2 BIEF 126] 100.0%
002[I5EE = LI AT 1,057 0.8 1| EIBE EHRET 19,425] 100.0% 112 E K7D %EET 1,307] 100.0%
903 | FHABAF FEERT 3,162 0.8 1| EIBE EEH 3,420] 100.0% 1[faM 8 E&EH 737]  100.0%
204| FHE HFrJIET 3,199 0.8 1RIBGE SRET 10,929]  100.0% 1[f2FE 7 H BT 588] 100.0%
905 IO R SE A HT 687 0.8 1| RIGE XA 9,259 100.0% 1428 S HHET 756 100.0%
HNESE =EH 123 0.8 1| RIKE TR 2,155|  100.0% 1128 ksl 262] 100.0%
907 B 1§ fHF T 1,404 0.8 1| EIBE St 2,136/ 100.0% 1|12k 8 ij FH BT 3,171 100.0%
9084 &R £ EHT 1,188 0.8 1| RIFE HETH 2,358] 100.0% 1|12k 2 5= 393] 100.0%
909 | g% IR Et=mh 10,239 0.8 1| EIBE miEt 1,789 100.0% 1|faME EEN—T PR ES 311] 100.0%
10| ARE = 1RRET 2,153 0.8 1| RIFE il 3,150] 100.0% 1|3EmE ABK I = E S LA S 234] 100.0%
I |HER HER 36,271 0.8 1| EBE mEREH 3,074] 100.0% 128 DESEFERMEE 638] 100.0%
912|EREE  |BEHIET 557 0.8 1| RIKE R G5H 3,486] 100.0% 1HEEE HEER 20,035] 100.0%
913|FEE H_ERT 706 0.8 1RIBGE B2 BT 2,561] 100.0% 1HEEER EiEmh 9,757] 100.0%
914 ZERE L Evanit] 3,973 0.8 1| EIBRE B AF BT 531] 100.0% 1HEEBE ZATH 1,388]  100.0%
915|=F LR AZEHT 1,533 0.8 1| EIBE JUI AR ET 1,060 100.0% 1HEER FHREWH 4,657| 100.0%
916|{AE 12 L IgHT 899 0.8 1| RIFE RixE R BT 1,216] 100.0% 1EE R R 3,950[ 100.0%
917 _E,Lr EX74:0] 1,357 0.8 1 EIBE IMEEHT 128] 100.0% 1HEEE BEEmH 2,342] 100.0%
918| EHZE B JLET 1,089 0.8 1| RIGE & < BT 1,369/ 100.0% 188 5t 2447 100.0%
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919[ K18 &8t 4,629 0.8 1| RIFE tHEHR 1,035] 100.0% 1EER Sy BT 1,437] 100.0%
92032 2 %8l 2,643 0.8 1EExRE I\ 9,252]  100.0% 1fEE B L IEHT 899 100.0%
921k 12 wEAXHATT 2,753 0.8 1R E KT 1,687] 100.0% 1{£8 8 % iEHT 419  100.0%
922|153 F B2 MMKHET 2,084 0.8 1|BEAIE E&mH 4924] 100.0% 1fEEZ 8 £ HHET 1,566| 100.0%
923|IX B I8 KRH 2 541 0.8 1|BEAIE F1H 3,054| 100.0% 1MEE R K HETHT 407| 100.0%
924 |12 1R JI[ W BT 1,115 0.8 1|EEARE LtXEM 1,671 100.0% 1EE R Pk |d:i) 830[ 100.0%
925|=ZE & ERERT 1,141 0.8 1{EEXRIE BEET 1,753] 100.0% 1HEEE AEBHT 555]  100.0%
9268 |EXRTTH 16,747 0.8 1|BEARIE o] 7,173]  100.0% 1| EIEE EIHE 26,136/ 100.0%
927| X8 B2 =HT 1,518 0.8 1[RERE EXL) 526] 100.0% 1RIBE ERS 19,425] 100.0%
928 EEE TEH 2,766 0.8 1EExRE FE AT 455  100.0% 1RIKE BEt 3,420 100.0%
929| EIF IR = Ha T 1,619 0.8 1EEARE A B T 577| 100.0% 1RIKE HETH 10,929] 100.0%
930| EE IR INEFTH 4,030 0.8 1EEXRE KIMET 1,141 100.0% 1 RIKE KAt 9,259| 100.0%
931|Z1E R &S 8,188 0.8 1{EEXRE F07K BT 623| 100.0% 1 RIBE S alit] 2,155/ 100.0%
932|{EE R FEh 3,870 0.8 1{RERE A /NE T 263] 100.0% 1EIBE ¥R 1,734]  100.0%
93| EFHFE R & HT 653 0.8 1|REARIE /NEBT 405| 100.0% 1 RIGE xt ETh 2062| 100.0%
934|FAHIE 3 I BT 231 0.8 1{EERE E LS 102]  100.0% 1 RIGE =g 2.136] 100.0%
935 LR EE%Fu 3,946 0.8 1|BEAIE = FxHT 438| 100.0% 1RIGE EETH 2358 100.0%
936 E IR meEh 18,019 0.8 1|BEARIE FaEA 619] 100.0% 1RIKE sk 1,789 100.0%
937|4& M & EPF'EﬁFi 2,735 0.8 1{EERE A el &% A 699 100.0% 1RIBE Elith 3,150 100.0%
938|dtiEE B 92 0.8 1{geRE fE BT 1,434]  100.0% 1RIBE mEET 3,074] 100.0%
939|FEE J\#Eh 4,230 0.8 1|EEARIE =S 1,013] 100.0% 1 RIGE K50 3486| 100.0%
940( Lz IR WL ET 773 0.8 1|BEARIE LLI &R BT 824 100.0% 1 RIGE RS AT 2561 100.0%
UIFER J\Eith 6,433 0.8 1{EERE =E 4] 1,066] 100.0% 1RIBE RIRAEHT 531 100.0%
942|HF KR K5 3,854 0.8 1{EERE EEARHT 304 100.0% 1RIKE JIHRET 1,060 100.0%
943|FERIE Ealealin 577 0.8 1{EERIE SR AT 962| 100.0% 1 RIKE RAE RET 1,216 100.0%
9M4|EER ZAMH 1,388 0.8 1EEXRE % B KHET 713  100.0% 1 RIBGE IMEEHT 128] 100.0%
945|F I MFELTH 2,794 0.8 1EERE 5 BT 283] 100.0% 1RIBE i = BT 1,369] 100.0%
946 | = IF IR =& 32,183 0.8 1EERE K EF 170  100.0% 1| RIGE ¥ R EH 1,035 100.0%
947|ZHE b=t 5,738 0.8 1|BEAIE HEH 297| 100.0% 1|BEAIE BEATH 61,844 100.0%
948|dtiEE —tafy 448 0.8 1|BEARIE R A* 48 100.0% 1|RERE J\Kmh 9252 100.0%
9492 E I8 SEEWNT 8,426 0.8 1|EEXRIE LT 359 100.0% 1EExE EEh 3,897| 100.0%
950 | Zs “lln- P 17,348 0.8 1|EEARE BREEFT 198 100.0% 1EEARE KET 1,687] 100.0%
9%1|EFE SRR 218 0.8 1|REARIE HIZUMET 1,290 100.0% 1EEARE E&mH 4924] 100.0%
92| ER =EJ) 1,826 0.8 1| RKD 8 KB 22879 100.0% 1|{BEARIE LUEET 3,747] 100.0%
953 E,\%B Kt lm 6,079 0.8 1| KB Kot 38,357| 100.0% 1EEARE F+H 3,054 100.0%
954[RERIR Fh 4619 0.8 1| R9E Bl fF i 7,357| 100.0% 1|REAIE +tXEH 1,671 100.0%
955| FE R WIHH 2,159 0.8 1|RHE HHETH 4988 100.0% 1EERE Ra] &% T 1,753] 100.0%
956|LLFIIE EtEH™ 3,376 0.8 1K 8 {8t 4629 100.0% 1|EEARE &Eh 7,173| 100.0%
957|258 HELT 5,648 0.8 1K R EI#fth 2,542| 100.0% 1|EEARE EEHT 526 100.0%
958/ =F B KicHT 398 0.8 1| KHE EARWT 937] 100.0% 1EERE EEHET 455 100.0%
959| % i 12 =FkTh 1,751 0.8 1| Ko 8 Bi¥sHT 1,518 100.0% 1|BEARIE Fa R ET 577| 100.0%
960|418 ZBEh 6,159 0.8 1| KB #Fﬁru 1,992]  100.0% 1EEARE KIMET 1,141 100.0%
961|{£ 8 18 INFE TR 3,782 0.8 1|Rn 8 B XEH 2,229] 100.0% 1{EEXRE FOKHET 623 100.0%
962 EHF?,LR ERTH 2,155 0.8 1R 8 ==Ll 2,615 100.0% 1EERE /NEHT 263 100.0%
963 | 5% IR =Bt 8,369 0.8 1K B EEX 1,5659]  100.0% 1EERE JNEHT 405 100.0%
964 |REXRIR Rl &% T 1,753 0.8 1K R EEH 89 100.0% 1EEXRE ELF 102| 100.0%
965|FHZIE HULVSHEHT 2,080 0.8 1| KD E H BT 2,350] 100.0% 1|BEARE =0T 438  100.0%
966|EIREE [EMRH 2,392 0.8 B! NEHRT 616/ 100.0% 1R E FEEA 619] 100.0%
96715 EI2 e 769 0.8 1K E A EEET 1,025  100.0% 1{geRE A B & AT 699 100.0%
968(dtiEE AB)ITH 21,665 0.8 HEEE ERETH 9,212 100.0% 1EExRE R T 1,434]  100.0%
969|FEE IR 2z SEHT 910 0.8 1| EI5E HEt 3,731  100.0% 1EERE =BT 1,013]  100.0%
970|258 =E/ERT 1,472 0.8 1 =58 Hmth 5,001] 100.0% 1{REAE SR ET 3.296| 100.0%
971|f8[ B =T 2651 0.8 1| ZIFE ZUDTH 1,288] 100.0% 1EEARE R {£ BT 825/ 100.0%
IN|EFE LIRET 2,548 0.8 1| =58 =B 2,828 100.0% 1{BEARIE LLI &R BT 824 100.0%
973|ZHIE PR EET 2,950 0.8 1EIBE = R HT 645 100.0% 1R E =E4:] 1,066] 100.0%
974|HE R R EH 7,281 0.8 1 EIGE HERT 632] 100.0% 1R E EEKHT 304 100.0%
975|t2 @18 INERTR 5,190 0.8 1| ZIFE = Ha T 1,619] 100.0% 1EERE SR AT 962| 100.0%
976|ZHNIE REF 414 0.8 1| EI5E o= 1,466] 100.0% 1{FEXRIE % B KHET 713] 100.0%
977|1aR 1R J\&H 4,348 0.8 1EFE AXBEH 101] 100.0% 1EERE SEHTHT 283]  100.0%
978|FJIE F¥ETH 1,266 0.8 1EIFE JIIFA BT 1,288 100.0% 1R E K E#t 170] 100.0%
979|FEER BEmH 3,903 0.8 1| =EIFE R HT 774]  100.0% 1R E HEH 297 100.0%
980(FNFLIE BT 4,337 0.8 1| ZIFE F5)1| BT 1,491 100.0% 1|REAIE R AF 48| 100.0%
981| KB T RET 4,699 0.8 1| =58 BIFA 85 100.0% 1EEARE LT A 359 100.0%
982|5F B KEaHT 716 0.8 1| EI5E *’Eﬁxrr 173]  100.0% 1EERE BREFT 198]  100.0%
983|iFEER =100 1,952 0.8 1 =58 H2& 225 100.0% 1EERE HEFUMET 1,290 100.0%
984| IR e 1,675 0.8 11BERER JEJL%Lr 27,901] 100.0% KR E N 22,879] 100.0%
985|[EE IR E YN 16,286 0.8 11ERER [BEREEM 51,012 100.0% 1| XHE il 38,357| 100.0%
986 ;B IR JEART 11,569 0.8 1BEREE [#&h 1,324 100.0% 1| XHE A FF 7,357 100.0%
987| KPR FF KEmH 8,277 0.8 1EREE [MAEM 1,281]  100.0% 1| KHE HHET 4988 100.0%
988| IR £R HEHAX 49,906 0.8 1EBREE [HKM 4817] 100.0% 1R E ==Kl 4629 100.0%
989| Lz I8 BHiEmH 3,960 0.8 1EREE [ 2,392]  100.0% 1| KL E EI#Fmh 2.542] 100.0%
990(REE IR EX L] 2,532 0.8 1EREE |[WbEFEARHT 1,935 100.0% 1| XHE ,iaﬁﬁi 937| 100.0%
991 | KB i R 63,980 0.8 1EREE [EfsEm 2,595] 100.0% B! 2% =Hh 1,518] 100.0%
992(ILAE TEAH 18,138 0.8 1EREE |[BXm 3,644 100.0% 1| XHE Hﬁn 1,992]  100.0%
993|AERIE A /IMEET 263 0.8 1BEREE [FEAhMm 2,330 100.0% B! 2R XHTh 2229 100.0%
004[15FE I8 A= 10,445 0.8 1BEREE [=ZB# 80| 100.0% 1| KHE ==K 2615 100.0%
995| EEIR =Ht 8,975 0.8 11ERERE [+8% 112  100.0% 1R 8 EEL 1,559 100.0%
996|E% [T B B 9,765 0.8 1EREE [SDOFMH 1,450] 100.0% 1| XHE EEF 89| 100.0%
997|158 B BEAH 4593 0.8 1|EREE [/E/KHE 570 100.0% 1K B H H#T 2.350[ 100.0%
998 |2 IR A LLET 956 0.8 1EREE [XiUFH 872| 100.0% 1|RAD 8 NERT 616] 100.0%
999| X B FF AT 7,627 0.8 1EREE |[EEEBEE 589] 100.0% B! K HT 1,025  100.0%
1000 A )18 £RH 34,530 0.8 1ERESE [§8IH 485| 100.0% 1 EIGE ERETH 9.212| 100.0%
1001 | EER 125 HT 1,600 0.8 1ERSE [FXEET 393] 100.0% 1EIFE HEtHh 3,731] 100.0%
100259418 b A HT 3,038 0.8 1ERESE [hiEFH 551] 100.0% 1| Z 58 Hmh 5,001 100.0%
1003 | KB fF EEh 6,211 0.8 1EREE |[FEEFH 459 100.0% 1EIFE ZUDtH 1,288 100.0%
1004/ B 182 L 3,004 0.8 1EREE |[EABH 1,008] 100.0% 1EIBE = 2.828] 100.0%
1005|5F 8 FHET 238 0.8 1EREE [X## 86/ 100.0% 1| =58 = R AT 645 100.0%
1006| S HVE BB 2,452 0.8 1BEREE |[F&# 122|  100.0% 1 EI5E FEHET 632] 100.0%
1007 [ EEEE AFHT 3,181 0.8 11ERESE [HEFPRE 625 100.0% HEEE = Ha AT 1,619] 100.0%
1008|1 5 E 12 BREE 5,212 0.8 11ERERE [ERAET 517| 100.0% 1| EI5E = 1,466] 100.0%
1009 |fXFHIE [ZAETH 1,494 0.8 1EREE [FART 577 100.0% 1| EI5E BAAXEH 101] 100.0%
1010153 2 Mipkh 6,256 0.8 1588 SH AT 11,569] 100.0% 1 =58 JIFA BT 1,288] 100.0%
1011 E ] [ BT 1,980 0.8 1B 1E PR 14,215  100.0% 1| =58 ZRAEET 774] 100.0%
1012| PR AT Bixth 6,928 0.8 1 4EE 55FH 12,453  100.0% 1| ZIFE 81| BT 1,491 100.0%
1013|f8HE B LI 1,510 0.8 155818 === Nl 5,115| 100.0% 1| ZIFE SEIF AT 85| 100.0%
1014 FHFE 20T 1,978 0.8 1[P48 kT 4732] 100.0% 1EIFE HEER 173]  100.0%
1015/ EER S EEET 3,057 0.8 1h4EE EEEFT 364| 100.0% 1| = IFE HZz& 225  100.0%
1016|I B 12 I B h 30,073 0.8 1588 LX) 121]  100.0% 11EREE [EREERE 27,901 100.0%
101715E R =il 4,887 0.8 1588 SRSl 990 100.0% 11ERER [BEREE™H 51,012 100.0%
1018[5% M 2 AT 1,299 0.8 1588 BEEFEH 753]  100.0% 1EREE |[fi&T™h 1,324]  100.0%
1019[ L3418 B\ 52 0.8 1[;h#81E = FHhET 1,389] 100.0% 1EBREE |[MAtRM 1,281]  100.0%
1020| H &R AT AENTH 7,849 0.8 1B R L & HT 3,038] 100.0% 1EREE [HKH 4817] 100.0%

10/18




REABIEG FARICEITEHELRICTIRED ZEfmikiR (1)
OHERIVEL—F1EHVDORELEHR R4.3.1IR7E o IR (D LS| ANBR 5 52 R4.3.1357E QEMMLAN FFEENBIFEL AT L (LTEF) [2XY
EEBERRA|  BEEZ  [REERE] A & T - . 15— % HEREAT ST BHEOR S RAS 1R
R[FEARE]__ BE EEGH] A8 | [ME[PEFRE] _BESE [RETEH] % B BEREs] DEEs  [FEERE] %
?’\ === — 2 : I SR Zis 3,431 100 % LE ,E\ EBFA
1022| R HFR MMEATH 3,560 0.8 14488 5 A [ BT 2,172 100.3%01 : E'égt ﬁ%%x?m S 100'0:/0
10232 F & B\ 8,150 08 1[HEE = LR BT 2741 T00.0% 1 ;g%“ i 1,935] 100.0%
10245 RIZ  [JIIFRHT 403 0.8 @8 [REH 53l 100.0% ER %':f %;ﬁ“ 2599, 1000
1025 Eﬁl—% E;Rﬁ 3,120 0.8 1B EZEN 21 100'01; 1 ;Té.%,é ﬁﬂg"—‘]— 3,044 100.0%
1026 #}AF  |arn 93215 0.8 [ FEE b AEA 521100 0% TERER '.Fﬁ 2,3301 100.0%
1027[fg 2 [KJil 2,067 0. F@E  [FEEM 1201 100.0% ERER +§ = 801 100.0%
1028[1B AR [ AT 69.914 0.8 [HEE  [FRaAH 1251 100.0% ERERE [Xo%] 112, 100.0%
1029| 12 R [ iE /T 2,662 0.8 e % B 3ol 100.0% EREE :;EHTET 1150, 100.0%
1030 ﬁﬁl%ﬂ X 12,409 0.8 1[hiEIE S IRERT 174 100-0% 1 ;IJEI‘_%IE\ /jc%m 070, 100.0%
1031| M2 i Yamlit) 10,100 0.8 1031 | KBx i R 63,980] _ 99.9% EREE |=&am 872, 1000
1032|182 [iRHth 7.444 0.8 1032 I8 El&h 27.778] 99.9% ERBE (T 289 1000%
1033[B41IE  [HBHEM 7,258 08 | [1033[ERE  [=Bwm 23644]  99.9% EREE xR 485 100.0%
0U[ERSE |L\b=8AFHE 1,935 08 | [1034[BEE @A 26.440] _ 99.9% [ERSE [Fra 090 000
1035| RIGE  |p52fy 2,561 08 | [1035[BER [0 45,104] _99.9% BFEE |THIE 9901 100.0%
1036 %E%EIF RABXTH 8,178 0.8 1036 | R &R P EFX 13.764]  99.8% 1 ;TQ%E SR 251 100'00%’
10371860 (B 4573 08| 1007/ /B [1iliEm e T TEERR IS fH 459 100.0%
1038[EFH  [AFm 2,441 08 | [Toss[#EE  [&#m 11,997 _99.8% EESE AR e
1030 EILE @B 40377 08 | [1039|FEE  [HMM 11,386] _99.8% EREE |28H e
1040[28 % )| & [18iEmh 264,727 08 | [1040[E=#H _ |HBHH 13,628] _ 99.8% 1 ;TS e 122, 1000%
1041147838 |\Z 994 08 | [1o4i[msar  [X=K 12.499] 99 8% TErer 1= =m 625 100.0%
1042/ET0R BT 3209 08 | [To42ft# B et 19.849] 09.8% TE R &R [fIAR =n 10004
0a3EE  |BE 266 08 | [1043[ILSIE  [EBREm 8719 _99.8% rEes . Ta o771 100.0%
1044|7551 = 21,713 08 1044| FEE ENgam 10015] _ 99.8% e ’q:%%rz T
1o EEE o1 L 1,016 08 | [1045[BEE  [mimidm 0,508] _ 00.8% 15 | SEEY Y 5, 2453 1000%
RN i 4,750 0.8 1046 | & (8 & faif] = 70,506]  99.8% 1 :EJ'%LE; = : 1
1047[EEE  [HIET 1,276 08 | [Toa7[ZxE  [#aE ’ 5T e 5115, 100.0%
1048 AT [P vas 05| [owleHE (e J6.630 00T JET 00 0%
1049| 5% iF] I Emh 13,592 0.8 1049|##Z IR |FiFH 18.447]  99.7% 1 ﬁn'zfgia; =h : 364 1000
1050[HER [T 17,332 08 | [1050[FmEh _ [FHK 97371 99.7% e TR 1211 100.0%
1051 KIRKF | &AM 23,756 08 | [1051[XBRAF  |FAEm 7,150 99.7% e emER 990, 100.0%
e 44 08 | [1osI[EER Rim 6818 09.7% IET T S} £ 386] T000%
i 7 E 1,225 0.8 1053|258 T D e e : h
054 BER (e 13,703 08 | [1054[ARAF [ e ge T s el 3038 100.0%
1055/ LB A S ELET 2.454 08 | [1055(Fm#&p  |mmbrh 8.268] _ 99.7% THEE MR 34311 100.0%
1056| EBE | @A 800 08 | [1056[ZBE | ZmE 58.548] _ 99.7% EE [ ERE 2,172, 1000
1067 giﬁé jﬂgrj 12411 08 | [1057[FEE  [#tulm 6.565]  99.7% I T M T 000
BHE i 9,450 08 | [1058|BEE [ : e [EREE o
1059 BER A 5,861 08 | [1059]=8 & E%E % 108 9054 i ’Eii%@ ﬁﬁ%; 2o
1060[EHE  [HHE 24,725 08 | [1060[ LIS [k 5,787 99.6% e |FEER  RTTI
1061 | B i SRS HT 542 0.8 1061|1857 BER 17311] _99.6% a@E FEAH 20 oo
1062 EFE  [E{LH 148 08 | [1oe2[=iEE  [=i&m 32.183] 99 6% T Toa—E AT T 125 100.0%
1063[{F AR (8RR 1,855 08 | [1063[KRE [k 2,026 99.6% heE e REE 991 100.0%
1064fEFR__ [f7HEih 5,735 08 | [1064[B5E  [EiEm 7.002] 9906% | [T064[KBuAE  [Bh ST 595
1065[BEARE  [mfemm 3,897 08 | [1065[3FBE  |RREm To785] 0064 | |l065|EIsH Bl 27 178 95.0%
1066[Ix B8 (& BRM 11,916 08 | [1066[=LE  [=iLh 29525]  996% | [1066|ZBE  |=Bt 21,778 99.9%
1067 A [t 17,851 08 | [1067[BEE  |AEM 5580 _90.6% | |[106/AEE  |@am 25004} oo
1068| 5 #  [5R7RA 2,252 0.8 | [1068[5ZRAT  [WifGH 5,353 99.6% oeelBEE o 26,440, 99.9%
1069 B | 6.562 08 | [1069[BEIE  [#&LTh 5645] oosh | [ioco[BmE  [RHK o
1070|F# IR [5)11 3,903 08 | [1070[HBE  [t#m 73280 9964 | | 10707 B [Tl 0094 595
107158 (g5 3,804 08 | [1071[{8ME /"R 5100, 0064 | (1071 AR [E@ 108954, 9.
& CETREFHERME 362 0.8 107315 E R ' 5 =3 z : 54
1074/ BEE B EthEEes 243 05| HoMmER @;E o s | [Hoe ;—Tgﬁ e 5020 o
107548 |[{BAN% Al 1.201 0.8 | [1075|BiEE __ [#Allh 38.171] _ 99.5% 1075 #‘iLr *Ei‘lz‘ o849 095
1076|Jbi#E:8 =5 it 2,924 08 1076 | KER AT i ¥ il 4574 99.5% 1076l R EEEJE oo
1077 |#E AR ARZRHET 1,351 0.8 1077|dt#E  [dLiEsE 82,664 99.5% 1077 ?ﬁ/’lﬂ: EﬁﬁEE 0TS99 5%
1078 i;f,lg & B & 15,693 0.8 1078|H)IIE =T 9512 99.5% 1078] B & B i‘ﬁ;ﬁi o soa 995
1079 KIME | ApeHT 1,025 08 | [10790ERIE  [skiEm 9.930] 9954 | [lo79lamE  |emE 2.508 998
1080 & 1R = 1% 5 KT 758 08 1080/ FJ1IIR mET 4,459] _ 99.5% TEEET! BB 70506, 99.8%
1081 KMRAF __ [HEB&H 7.656 08 | [1081m&E  |&&h 21713 sosh | [losiZER  |ZER D — oot
1082|1852 EBEh 18,824 0.8 1082|Z 5112 E¥ A 10418 99.5% 1082[ #1112 ?ﬁﬁﬁ% T oo
1083[15 % & = 10,572 0.8 108315 & BiETh 3937] _09.5% 1083 | F 5 &R c:giz o9 7
1084]3L 38 [BrO AT 1,528 08 | [1084ldt:FE  [dEBT 2336] 99.5% | [108a[KMkAE  [FIE AL TR
1085|%ME _ |Be~iam 5,348 08 | [1085[4#@E  [EHZEH 9503 sosh | [ToBA|EEE B 5818 097
1086[# %I |ERlh 9.223 08 | [10s6|E&E  [Zrmi 3184 99e% | [losslEAIE 2 6818 _99.7%
108748t |#A:LT 6,105 08 | [1087|5RRR  |£E4h 9,933 99.5% 1087 Bt BE ST
1088[FREE |/\ARiHHT 202 08 | [1088[Em&  |Himh 4612]  99.5% Toss[EEH  |REHE T
10891 /p4BR {1 4732 08 | [1089[EISE [Nk 3390] 0044 | |T089[Zeml  [SOmE Seaa 0T
1090 |4t 38 &SRR 5812 0.8 1090 t2 & R HAEEH 0,089]  00.4% 1090|125 % I %"fﬁfﬁ 6588l 957%
TTIET . - L 364 08 | [10of[BE/IIE  [aeEm 4381 0044 | |[100iBEE  [REd 781 S0
LAz R LT 1,768 0.8 1091 [ KB AT BrEaTH 3,772|  99.4% 1092 =ELE; =—F8 ' o
1003[ERRF  [SEHI™m 6,441 08 | [1093[Fm# [EAKX ' Y =55 ZEx 38.108] 99,6
1094 ,:Fﬁyr BB 5,002 0.8 1094 [FiB R i gggg ggiﬁ 1832 #%L@: ’!EQE .87 99‘6:/°
1095| &I [EiEh 18447 08 | [1095[ZEE KN s085| w04 [T0os/ElE e 755064
1096 %ujgmy.- % B I BT 2,000 0.8 1096|1212 I 3.212]  99.4% s E{;_T;E 32183 99.6%
100758 [t mE 1,026 08 | [1097[ILEIE  [EXZ@Em 3.376] _ 99.3% 0ol [EAE |EEET Tl o008
e 3973 0s | [osslZilil kg 2708 o034 | [oselsrmE |Emm 19785 o0
: . : 1099(dt 8 =N p =B = : :
T TEY, STE T T o5 [ioormt Tiam B I By S L 20525 99.6%
r01[EiR [ KF0fr 25593 08 | [MOI[FEE  [X@EEM 3ot soan | [Toilnm BB o o
102\ Aliy  |REHT 3,726 08 | [o2[fEs# B [Wifih 5380 003 | [T10JEAE sl S eda 950
1103 4Bf@R  IBRIEH 9.930 0.8 1103[E%fER R EDET™ 3501]  00.3% 1103Fale | F#m 255 0%
HoHB)IE B 9512 08 | [T103[EBEE  [RsEr 3985 soan | [TiodleEE  [hEH D20 oo
1105 &7 1R 15 5 4,880 038 1103[:#E 8 ERh 9,276] _ 09.3% 7105 ﬂii% 2580096
1106 K | I 21,778 08 | [1106|FEE  [tam 33.137] _99.3% | [1106PAEE [Pk ot
107[MILE RS 1,224 08 | [HO7[EIE  [#E0T sios o3 | [T0NEER |HEE CPHINTES
1108/ EEE  |mimm 2,750 08 | [110glLmE  |KP9m 2012 993% | [T108|iEE  [#Allith a2l
1100| IS  [p Ry 948 o8 | [TooleHE (BT m S0 90 3% T Tt T 381711 99.5%
NI 5 51111 08 | [1110iEME __ |[AZH® 66l soon | [TiiolbmE  [hEE oo
=81 S5A S SETRETEREL 395 0.8 IRRRNE(#:3t ERHM 1422] _ 99.2% 1111 EJHJL%T a]ujﬁ? o 99'5f’
EE: - - s 08 | EBSR ARG 25 ooz | [rizlEmE  [mED 5930 995
i3 Gl = 812 0.8 1113|E36 2 BE ™ o B =T : sl
T4AZRIR =g 1,670 08 | [1H4[FERE  [tpm sas] ooo% | [Tive E‘;EIHILLE': m%u i 713 o9k
1115 %5R [ FIhm 2814 08 | [115[ZHmE  [mEm 2o sozn | [iiislEaE |Rmm o
(6[EEE [ Fyiy 256 08 | [16[LME  [gEm 2272, 992 | (\LISERE EAD 10.418]99.5%
17| REFR 3 i ET 2,034 0.8 1117|238 R EEMA T 5,497 99.2% 117 e jl:rigfﬁ 2305|905
EEE G [ i 2,103 08 | [Mg[FEE [t 3r660 992% | [Tiislt@e  EmEm 4.336] 995
1119/ RE LR ZlUth 7,767 0.8 111948+ R INVET 2204 99.2% TEELT %%iﬁ; Toa oo on
1120 =2 12 Ehdia 23,238 08 | [1120[&fFE  [E@mm S e ] ol ieem 181 990,
a1 EEFILZ_ T 4,720 08 | [I121[@BME  [E@fr 2693 oo1% | [Tiol[EmE (@ 9935|995
TR B iR 2,565 0.8 1122|ZHE BEITHT 2,791]  99.1% 1122| =I5 E INFRTH 3.390 99:402

11/18




REEANIEL FRIZHITHIELICTIRIEDE[HIKR (1)
QEMFLANX (I ENEEL AT L (LTESE) TXY

- N °o_ AN} g== 4 3% S Y == g 73 +
OHERIVEL—ELYDRELAEH  RIIRE T EHEDRIRLANE [HER RASIBRE 0% & a5 H A= n2a R431H7E
B4 | &R E FF I8 £ REESA REERES| A B B4 | ERE T IR HREESR BEERFEH % B4 | ERE T IR REESA HEEHEH %
1123[Z518 BRRET 4221 0.8 1123[F LR EWLE 22241 99.1% 1123[t2F & LT 9,089] 99.4%
1124|ERER |fzEh 1,185 0.8 1123[E2RE 12 s 11,471 99.1% 1124|F)I1E BeETh 4387] 99.4%
1125|2518 [E] 5 T 33,046 0.8 1125|[EE Bt 9,084 99.1% 1124 KB FF Bﬁﬁ H 3,772 99.4%
1126|2518 il 31,745 0.8 1126 =R &H 80,351 99.1% 1126| B EAR 9,034| 99.4%
1127|EILIE =Ll 29,525 0.8 1127(dt:8:8 = FIl By 2,072  99.1% 1127|388 Rth 2,895  99.4%
1128|RERIE E&tH 4924 0.8 1128[ILiZ 12 mbath 2,189  99.1% 1128| &g 18 KM 3,085 99.4%
1129 ERE KLLAT 1,069 0.8 1129|388 JBJIlT 21,665 99.1% 1129 Uiz 12 EIHh 3212]  99.4%
1130|f2 M2 RKEHT 7,754 0.8 1130 FHFE M5 1,881 99.1% 1130 ILEFI 8 EtEHM 3,376]  99.3%
1131k KE i) 1,826 0.8 1130|$8H B AT AT 1576]  99.1% 1131[E LB KR 2.706]  99.3%
1132| KR8 A KHT 1,025 0.8 1130|428 & 2Rt 1,746]  99.1% 1132|3k 88 = /MEh 13,146]  99.3%
1133| &R AT FAT 13,835 0.8 1133[Z5E P 10,100  99.0% 1133 KBRFF AEHRHT 3,604 99.3%
1134|i B I8 %= J\HBT 1,123 0.8 1134| BEUE —=iit] 3,511 99.0% 1134[FEE KEBE™ 3,349 99.3%
1135[EIFE ZU0DthH 1,288 0.8 1135(F 05/ LE [HHEH 1,790  99.0% 1135|888 H 8 LRI 6,389] 99.3%
1136(F030ILE  [F0Frum 24,910 0.8 1136 K92 hETH 6,924]  99.0% 1136[&%M 12 FEOET 3,501 99.3%
1137( LA 8 W5 /NEFE T 4,684 0.8 1137|E% 112 ENT 63,339  99.0% 1136(E2M 12 RIRAT 3,985 99.3%
1138/ K2 KXo 38,357 0.8 1138[f8H 12 hioth 1,840  99.0% 1136[;# & 182 ERh 9,276]  99.3%
1139/ REFE h ¥ mh 3,314 0.8 1139 R IE BEREH 6,565  99.0% 1139| FEE At 33,137 99.3%
1140| T &R ANEFTH 39,414 0.8 1139|5518 TiEth 1,618  99.0% 1140(F )12 R BET 3199 99.3%
141U 8 aEld:ij 1,245 0.8 1141 (5% 182 sE7KET 2,535  99.0% RS =]=! EMmh 2012] 99.3%
1142|BERKIE 25 L AT 3,296 0.8 1142|238 2 Eh 7,626]  99.0% 1142[f8FH 8 & Ith 6,105/  99.3%
1143545818 ERWH 7,588 0.8 1143[RERIE % [ZHT 4558  98.9% 1143[t2F 2 RERFTH 6,461 99.2%
1144 1<¢f—<u| B [==m 1,788 0.8 1144 ?WSJIIH- [ER NG 16,747]  98.9% 1144|dt 88 ERFH 1,422]  99.2%
1145|RERIE FibET 501 0.8 1145| FEE KEEH 10,671 98.9% 1145|168 XEh 2533  99.2%
1146 %ﬁ;’%% FEBET 7,148 0.8 1146|=LUE INEERTH 1,858]  98.9% 1146|5582 PSiaE Aut] 10,395 99.2%
1147(F 050LE [FHEH 1,790 0.8 1146|1212 Al 4264] 98.9% 1147[FEE WESh 34,446]  99.2%
1148 KRR FF AT 8,761 0.8 1148 FAHIE MFmh 5513 98.9% 1148 R IE FaE 2272  99.2%
1149|=F 2 EHEHHAT 1,333 0.8 Y EFE J\IEFh 1,385  98.9% 1149(1LFZ 12 ET 2506 99.2%
1150 R &R XEEX 12,499 0.8 1149|552 = HAT 2.329]  98.9% 1150 Bf 12 fEFATH 5497|  99.2%
é:i 71~ 5 - = 71~ y .J/0 71~ Fi y LN
1151 |Z 5018 RAFH 6,428 0.8 1151|5FE KT 2,145  98.9% 1151 | FEE Hhll 31,660 99.2%
1152|258 HEH 7,282 0.8 1152|153 FEE JnZEth 8,064 98.8% 1152|f8FH 8 INET 2204 99.2%
1153|IK B 15 st BT 1,945 0.8 1152|BERER |fzEkmh 1,185  98.8% 1153| SR 182 JEATH 3,667] 99.1%
1154| =R 182 FFHT 1,956 0.8 1154|4588 Sl 4462 98.8% 1154[8% 12 X ET 2693 99.1%
1155 ?$ SINE [ LR 2,651 0.8 1155|3bE 8 Il BR AT 1,268  98.8% 1155(Z /B BETHT 2,791 99.1%
1156(Z 518 EiEET 7,092 0.8 1155k B 12 ES¥- Lt 1411  98.8% 1156|= ILIE EWE 22,241 99.1%
1157 | %K B INEETH 3,593 0.8 1157[FAE AEETH 4,168 98.8% 1156 | 5% 2 AT 11,471 99.1%
1158| = i 12 1EEH 3,539 0.8 1158| REFIE SR 1,299]  98.8% 1158|[ &8 BETH 9,084 99.1%
1159 | R = &R HEHHH 6,210 0.8 1159|aF & FEEFET 953] 98.8% 1159 =R 12 WEH 80,351 99.1%
1160| KR AT Po{EBRh 4,096 0.8 1159|5118 E/ERT 1,472  98.8% 1160|dk ;88 = R ET 2072  99.1%
1161|EE R B35 T 279 0.8 1161[FEE BT 4604] 98.8% 1161[ILZIE rFbah 2,189 99.1%
1162[FE 2 AT 476 0.8 1162[fF K IE MESIUTH 1,613] 98.8% 1162|dbE8 1B)IlTH 21,665] 99.1%
1163|Z 40118 3z [ HT 4,292 0.8 1162|FJIE HETh 1,203 98.8% 1163| B HE oMb 1,881 99.1%
1164|FJIIE INATH 9,134 0.8 1162[IF B 12 >t FH BT 1,945  98.8% 11638 H E AT ET 1576]  99.1%
1165 m}zil,% S RAET 1,658 0.8 1165| G JI| 1B IMNRTH 9134 98.7% 1163|128 2Rt 1,746 99.1%
1166/ X% FiEH 6,924 0.8 1166 FFHE A ERET 1,024]  98.7% 1166[Z 518 AT 10,100]  99.0%
1167]1L /,LR INE BT 479 0.8 1167|=WE ZEEh 4186 98.7% 1167| B EUE —k=1u1l 3511 99.0%
1168/dt:EE [E =0T 579 0.8 1168|RERIE Fh 4619 98.7% 1168(F1FVLE  [FHM 1,790  99.0%
116915 E R FEET 13,057 0.8 1169 =R E =ZBEE&R 22.826] 98.7% 1169 K98 hiETh 6,924  99.0%
1170|BERIE ER{£HT 825 0.8 1170/ = &R E2EX 11,730  98.7% 1170| 5% 2 EMATH 63,339] 99.0%
NN =EGE FEET 632 0.8 M7 ERE KRG 0484| 98.7% M71|8HE HHomh 1,840  99.0%
B 1E\ , . &% VAN , 6% ] = Bbm , 0%
1M72EE B BT 3,950 0.8 1172[F)NE E Yol 1,585  98.6% 1172|FRE E 7] 6,565  99.0%
173 EHE /N e BT 910 0.8 1173(F 0 LE  [SBARET 744]  98.6% 172[55E8 Ti&EH 1,618]  99.0%
1174 ERRE 5 B4 T 1,371 0.8 1174| B IFE E =T 1,368  98.6% 1174|8512 ;e 7K ET 2535 99.0%
1175\F080 2 [ ARES BT 866 0.8 11753 ERKF =:2&mh 954]  98.6% 1175[EHRE fEh 7,626]  99.0%
1176[fZJIE  [ZE)IET 3,836 0.8 11754818 Jt gt 1,766]  98.6% 1176[FJIE =Fmh 4,071 98.9%
1177\ LR fatth 6,019 0.8 1177|4888 FEH 3,870 98.6% 1177|BERIE % P& HET 4558 98.9%
1178|EREE |[ERHET 517 0.8 1178[{£ 85 H ILET 1,276] 98.5% 1178 mtul EX 16,747  98.9%
1179|@=)NE  5EFTH 3,768 0.8 M9 EREE [HEmh 1,632]  98.5% 1179[FEE AEEH 10,671 98.9%
1180[15 E 82 At 4,165 0.8 1180|4& @ 182 [ BT 1,697 98.5% 1180| = LUE INRERT 1,858  98.9%
1181|f@HE INET 2,204 0.8 1180 B8 £ RET 1,188  98.5% 1180|4& M 12 gt 4264 98.9%
1182 %*E,LER #HHEH 3,454 0.8 1182 KR KF Nt 3G 4797] 98.5% 1182|FHIE EFEmH 5513] 98.9%
1183 =R E EZR 23,644 0.8 1183[dtimE Fixh 8,008] 98.5% 1183|2F & J\IEFEh 1,385 98.9%
1184 ‘ﬁ“zlskr =z BT 1,013 0.8 1184[FLLE =R 11,186]  98.5% 1183[ &% 12 = HHAT 2329] 98.9%
1185[;h4E 18 KEBRM 213 0.8 1185(f 1gnlE | EESHET 1,320 98.4% 1185| 5 F & K ET 2145  98.9%
1186| 5% 12 7&K BT 2535 0.8 1185| B R J\GEHT 1,193 98.4% 1186|I 3 E B pnZath 8,064 98.8%
1187[=F 2 gLt 4,224 0.8 1187|BEE G 6,471 98.4% 1186|EIRER [fAzExmH 1,185  98.8%
1188[ILFIE E 0] 1,968 0.8 1188 =i 1B Z2EWH 4958] 98.4% 1188[;hB 18 Byl 4,462|  98.8%
1189(dtimE AW 4548 0.8 1188(BEE 2 AKHET 19,231 98.4% 1189|dk:E& Il BR T 1,268  98.8%
1190| =i 12 a=a8m 3,816 0.8 1190[|=F 2 Z4TH 11,339]  98.4% 1189|IK B IE el 1,411 98.8%
1191 $$’—<JII B R T 1,653 0.8 1191 (IR ZE Ik AT 932 98.4% 1191|FAE XEETH 4168 98.8%
1192|REARIE FIERT 3,724 0.8 1192[Z 58 PN il 8523 98.4% 1192 REFIE frILTH 1,299]  98.8%
1193|128 b=t 1,091 0.8 1193|518 Ba] A EL BT 3,097| 98.4% 1193|5F 8 FEETHET 953] 98.8%
1194|F/JIE EJIIL% 21,828 0.8 1193345818 EREH 7588| 98.4% 1193|258 /BT 1,472 98.8%
1195\ E A 1,178 0.8 119588 waeh 2037 98.4% 1195|FEE BT 4604] 98.8%
1196 5F 8 é’ruﬁm 1,164 0.9 1196(BEE 2 BETTH 3,173|  98.4% 1196[fF R IE MBS 1,613  98.8%
1197|=F 2 Zskth 5,896 0.9 1197| REFE TEREAET 1,304 98.4% 1196|FJI|E HE™ 1,203]  98.8%
1198| R = &R BEtH 8,180 0.9 1197 | &R AT m B 4448 98.4% 1196| I B 182 ;1 AT 1,945 98.8%
1199 ({2 18] Al 3,634 0.9 1199| =518 mEH 15,025 98.3% 1199|/JI|E N NG 9134 98.7%
1200{ 5 %18 LN HT 1,218 0.9 1200( FEE =2t 2,482 98.3% 1200 FFHE FAERET 1,024]  98.7%
12014818 iR 14,215 0.9 1201(dtimE ESCd) 631 98.3% 1201 [t 8 =k 2651 98.7%
1202(FiE 8B MER 604 0.9 1201[ILfZ 12 JII FHET 996]  98.3% 1202| = i 12 EETH 4186] 98.7%
1203| EH7 12 INEETH 3,106 0.9 1201 (FOFRILIE (AR HET 931 98.3% 1203|FEARIE FHh 4619 98.7%
1204|5182 ) 4242 0.9 12041 B 18 R 2,541 98.3% 1204/ ZRE ZRIE 22826 98.7%
1205|5518 2EET 559 0.9 1204|482 J 1| W5 BT 1,115  98.3% 1205 =i 12 K& 0,484 98.7%
1206 |55 [H 12 BT 10,395 0.9 1206|=F 182 FEH 6,201 98.3% 1206| &I BHhHbmh 1,585  98.6%
1207 EIFE = FREHT 800 0.9 1207|2FE ZAT 1,912  98.3% 1207(F0g0 L8 [SRKHET 744  98.6%
1208(FEE ¥BRFm 8,849 0.9 1208[ LAz 12 ETER™ 953  98.3% 1208 EIFE = = BT 1,368] 98.6%
1209| EE IR FEES ) 2,487 0.9 120948 IE S=lEth 2291  98.3% 1209| R #R KT =Eh 954]  98.6%
1210|#FKIE 3 7,107 0.9 1210 =& 2 EEmH 959]  98.2% 1209 E Jt i At 1,766] 98.6%
1211 RIGE BT 10,929 0.9 1211|518 FREHT 2,950] 98.2% 1211|[{88 8 FEH 3,870 98.6%
1212|130/ LE  [BHSHET 728 0.9 1212|fBHE R 7,444  98.2% 12124EE 8 HILET 1,276]  98.5%
1213[FEE WE T 2,902 0.9 1213[Z 5B MEZth 7,011 98.2% 1213[BRER [#E&mh 1,632]  98.5%
1214|5812 BEh 11,471 0.9 1214| RHFE mEAT 3,560 98.2% 1214|4812 I5)I BT 1,697 98.5%
1215|FE 8 HEYTH 3,877 0.9 1215| R EB KT A0 L BT 1,103  98.2% 12144 E £ RHET 1,188] 98.5%
1216[dtiEE 2&hH 1,838 0.9 1215|BIREE  [Be4imET 557]  98.2% 1216 K fF pNE G 4797] 98.5%
1217|HER AHBH 19,231 0.9 1217|BEE JEET 8442 98.2% 1217[dt:8:8 FEH 8,008] 98.5%
1218|186 B 18 iz 569 0.9 121854818 IR 27922 98.1% 1218|F LR = H 11,186]  98.5%
1219 5 HE S AT 822 0.9 1219| &R KT e es: Aitl 3,669 98.1% 1219(f 05/ LE | E S HET 1,320  98.4%
1220| =& 182 JI#%ET 1,304 0.9 1220 R57 18 fE4X EH BT 1,226  98.1% 1219|BEE J\BEHT 1,193]  98.4%
1221 =i 1B NE:] 1,536 0.9 1220| K58 = #EET 1,212 98.1% 1221|135 EE =lth 6,471 98.4%
1222 Lz & 111320 BT 1,093 0.9 1222|[L &8 LET 100,898] 98.1% 1222|3182 ZEth 4958 98.4%
1223|$8 12 S=(Emh 2,291 0.9 1223 ?ﬁi*JII 35 57 [ T 1,246 98.0% 1222|BE B IE AR 19,231 98.4%
1224|FAE Kl 4,940 0.9 1224| EB 12 WAR™ 17,827 98.0% 1224| =812 Z4T 11,339]  98.4%

12/18




HEEMELS FRICBITA2ELHICTIREDE KR (1)
e = oo R b et A AREOBE. RAs 15
A ii}JfLE;M i*ﬁlﬂﬁ gi&ﬁ A/Oc.g IE% ESJ:IEIE% tFHEQE%% IRE A FEH % B4 | &R & T I8 £ HEEA IR & A FEH %
GRS it} : : 2 = 3294]  98.0% 1225 fi] LI 12 SEIRHT !
1226 ERER |Sfish 2,595 09 | [1226[FJIE = kB = 92, 984k
3 ; , . =8 = KHT 2241  98.0% 1226|241 1B -
22 ﬁ%@ fﬁ?ﬁ@m 15728 05 | [12z7 u&ﬁi_ ki 7820 oso% | [1227 %iﬂg %HEEW Soor e
FAE H , 9 | [T228[iERE _ [FRER 10T6] _980% | [1227[hsmiE  |= ' '
}ggg EEE ﬂgg _ 4.811 0.9 1220[i6 B2 |&2EHm 8.426]  98.0% 1229 ;};!,EE i%i‘ﬁﬁ ZS?? ggj:f
! i 9,204 09 | [1230[Fm#  [IEmK 33739 980% | |[1230EE @@ ' %
T L 2701 09 1z g g 2k , 0% 230|3ER BHTT 3173 98.4%
5 , . ] ! 15,484  98.0% 1231 EHE T R h AT 9
1232[E = 2R chﬂl: 20,995 0.9 1232|155 E B %= T EE YT
= : : DR = /EHT 2018]  97.9% 1231 | R f: it}
1223 E St j 24H 3,344 0.9 1233| FEE J\fFHh 4230 97.90/: 1233 %iﬁrg g?@; 1?332 ggg:ﬁ
| AIKIRA |#EARED 3.604 0.9 1234=8 8 BRF0ET 1801]  97.9% 1234|F&EE  [=2h 2482 98.3%
1535 ﬁﬁlﬁj L.ﬁ- Fﬂ_ﬁm 2,693 0.9 1235| KR AT WEH 7,794  97.9% 1235|3k ;88 SEHERT 631 98'3';
1223 :lE HEJL% Eﬁi}tg 3332 8.9 1236 ﬁii— WhEm 24,021 97.9% 1235( Uz 182 )11 5 BT 996 98'3';;
A , o | [1237dtmE K= 621|  97.9% 1235[F0FLE  |AHEN '
12382 ILE =T 11,186 0.9 1237 =2F 8 o o : 2l S
, . =F& =F0 718  97.9% 12 B i
1239 :%Hx,L:R KT RN hEREs 429 0.9 1237|IF B 18 EEH 2,017 97.9%0, 1222 %%LLE: Tﬁuﬁ;g? ??ﬂs 98'3:/°
1240 j;%yg B 2394 0.9 12371518 |[BEsnm 4071]  97.9% 1240 =88 |FEH 6.201 gggo//o
}g;ﬂ WEJ?LER i1 AT 3,171 0.9 1241| R &R =#TH 8,844 97.9% 1241 %%Lﬁé EX=Tiil 1912 98'30/0
1242 RHE AREFT 177 0.9 122 5F 8 B 3,145]  97.8% 1242[ 1Lz 12 ETER™ 953 98'3';
1242 f.iﬁJZLEr %HZFE 7,626 0.9 1242|4812 A0 ZHT 1,224  97.8% 1243|1812 SEEm 2,291 98.3"/0
124 g #Hi5h 2447 0.9 1242| K92 MEH 1,193  97.8% 1244 =F 5 EEZmH 959 98'2';
1245 uJij: BE;%HE _ 4878 0.9 1245|8878 HE™H 5,155  97.8% 1245|Z 5018 REET 2,950 98'20/0
1243 ;;Eﬁ g 2 qu i 13,; g} 0.9 1246 Et;é%@r E3h 2.804]  97.8% 124612 F 2 R 444 08.2%
= h , 0.9 1247[55E  [EEh 3311]  97.84% 12472 mE = : '
1248|H I8 Lt 4,900 0.9 1248|1t ;88 hiE; ' 3% = e T 22 o
_ , . il 1ZERT 2,056]  97.8% 1248| EBF 2 EATH
1248 f;@u:- ,:EIETE; h 4,479 0.9 1249|2182 e 2,735 97.7% 1249 %EE% Eﬁjmm ??gg Sgﬁﬂf’
1221 ;":%‘Lg E;E%v'ﬂr_%m 1; 33; 0.9 1250 itigig LR 7789  97.7% 1240\ B RS R |GESBET 551 98.0%
LBE  [HLD , 09 | [1250[dtiE  [H=E 1672] _977% | [1251|BEE  [BEH PR
252 BAE B 17013 09 | [1250[EmB  [EEH fos o [ulEnR ﬁi; KT
1253 ,%EHE- A 2.785 0.9 1253/ A 2 R FIT 9.723] _ 97.7% 1253 ;g WET 27922] 98 1%
1254 IE}E XHETH 2,364 0.9 1254|3k 688 S EET 323  97.7% 1254 | THEB KT ees: il 3.669 98'10/0
12551515 2 )[BT 1,060 09 | [1254[EHE  [2Em 1978]  077% | [1255|E%8  [@fcmA 1226] 98.1%
12 6 ;E%Lgr EJZEEIT'FJ 10,595 0.9 1254(F 03 ILIE AT 1,430  97.7% 1255 EEF 2 = &HT 1212 93'10/0
57 :EIE,LER EEJ?FE 3,926 0.9 1254 |f2 [ 12 ) 1,191 97.7% 1257[[LEE LET™ 100,898 98'1';
1258 ,:F.%%,Lg BEFZEH 9,503 0.9 1254|RER IR Ik JI| T 745  97.7% 1258 | fZ= JII 0] R BT 1.246 o
}ggg g:_ %TS %?ﬁg 23,%; 0.9 1259| B E B =@ 3375 97.7% 1259| B JIIE -I:L%‘Fh: 3.204 ggg'ﬁ
¥ X , 09 | [1260[=8  [matlm 3243 076% | [1260[F = ' '
1261 i:iﬁﬁl-z— AUEH BT 4,729 0.9 1261[ILAOE FEH 11,560 97.60/: 1261 ms‘zgt %;?m 5;3; 98'0?
}262 BEER F§$ 11,786 0.9 1262|5118 2iEm 31,745 97.6% 1262 mI‘JL; E =R 1016 ggg;
1363 NG FMEM 7,150 0.9 1263 | &% B EtXtEmH 10,239] 97.6% 1263[F2E & SEEWT 8.426 98.0"/0
1224 P FIEI::-JHT 449 0.9 1264/ %8 |Sh 1751]  97.6% 1264 BE  [IER 33730] 08.0%
1265 ﬁzmg I_JT-FJ_ 6,565 0.9 126412182 L+ EMT 681 97.6% 1265( R 12 ERE 15.484 98'00/0
12 6 *{;%Lg rﬁEPEH] 4,258 0.9 1266 |k E AT 4787] 97.6% 1266|153 E 12 %Eﬁﬁ 2018 97'9;
122; E?ig e %;}Tr : ;1(1)1 0.9 1267|B 512 BE 8.971|  97.5% 1267| F &8 )\ 423097 9%
HER = 110 0.9 1268|127 B HEH 5.241]  97.5% 1268 == & g ' o
}238 fw:r kil 3.694 0.9 1268 EIRER |{.2 SHT 952] _075% 1269 ;c%r; *ﬂEEﬁT ;ggl g;g:f
270/ |F XA 128 09 | [1270[H%EE  [5%Mm 47548]  975% | [1270/BBE  [LbhEm 24021 97.9%
1271 zgfbgr ET;J?\IQ; 12222 8.3 1271 ‘E“EZKL:r XEH 5458 97.5% 1271|db8E RZEHT 621 97'90/:
; iz , . 1272| B )IE ) JLET 717] 97.5% 1271 2 F 8 '
}273 &ﬁulna- EEFh_ 15,025 0.9 12713 EREE [EEIIANH 7,882 97.5?2 1271 EEE %zg 2(73127; g;g://o
é;g ] g.l:Lgr =5 435 0.9 1274388 [fAEH 5.312]  97.4% 1274 B =& 8844 07 0%
1275 ;; rLE B A 619 0.9 1275| "M |[BmX 20.400]  97.4% 1275 = F 5 =T 3145] 97 8%
1276 ;@{% Lg /E\J%ET 13322 0.9 1276 =)I[E | Xf0h 17.348]  97.4% 1275588 A OcH 122497 8%
25 el 2 5 , 0.9 1277[3EE [~ Bm 4887 97.4% 1275| %K% T ' o
1278|538 S/ AIET 111 09 | [H278[hBE  [mimm ' kR EAE limo AL
E . g B 5002| 97.3% 1278 5 =
:279 EZE ﬁJiEElﬂz 7.013 0.9 1270| F&EE TR 1036797 3% 1279 ggtﬁ: g‘% 5 3&33 g;g:f
1280 =I5 R /M%{h 3,390 0.9 1280[1£ & 5 N TR 3,782 97.3% 1280 ‘.%%ul-?— METH 3.311 97.8"/0
ég; érﬂiﬁg i?mi?ﬁ 5,474 0.9 1281 [t LA 69,914 97.2% 12813k 88 HhAZERT 2.056 97'8';
1262 ;mrLE 4 3.790 0.9 1282|8188 |&¥Eh 2.766] _ 97.2% 1282 lBEE LM 5991497 8%
183l KR [ AT 1,227 09 | [T282[feRm  [Fthm 3881 o72% | [1283[dtBE  |hlm 1.094]_97.8%
1284157 A1 Ed 490 0.9 1284 KR AT = 26,018 97.2% 1284|758 2 b 2735 97.7%
S|msEl  [THKX 33.739 0.9 1285[ AL  [REARE 20648]  97.2% 1285t |[JbEh 778097 7%
}323 ggg ;t}?ﬁ‘m 1,222 0.9 1286 j;lyiﬁ J\ET 19,069 97.2% 1285 j;;‘ﬁﬁ ?“EEEHT 1672 9;;0//:
il BoiRl 0.9 1287|BEE BEAT™H 13,703] 97.2% 1285 = ' '
}288 H1 i IR AR 3,185 0.9 1288[IL5LIR XA 1,156 57 2% 1288 %;ﬁgt %%EET ;g;g g;;:f
égg §ﬁ|ﬁ£ 7?] 15%% g,igg 0.9 1289 1j£l$'- i 10,989 97.1% 1289 jt,%&:é ;i T 323 97'7"/0
EIIE [ , 09 | [1289[BER  [=Fm 3280 07.0% | [1289]%F T
gg; %%L% e gy 983 0.9 1289|#1imR 2 F T 490 071 1289 iﬁu?ﬁE% }?}E—;; :i;g g;;:f
1292 Ag#l =i 12.927 0.9 1202[ME &I 2742 97.1% 1280388 [ FHT 101 o7 74
1203 ;{é Ev.isgﬂu 9.933 0.9 1203|F&E s~ @m 5153]  97.1% 1289[BE AR [5KJIIET 4597 74
1294 *TSEE ?ﬁyg{d’%ﬂﬁ 1 ;gg 8.3 }294 ﬂﬂ;g ;E%BEFE 39,957 97.1% 1294|F¥ B IE =M™ 3,375 97'70/:
HEE  [Efm , . 295[dLiiE  |BriSHT 369] _ 971% | [1295[= L8 [mmmmh ' '
1296 AR %A 5,479 09 | [1296/B4E  |ZUAAT 2221 970% 1296 EIIJ:JE EEE&EBT'I:J 1560 g;g:f
1297 = LElr _EEEZEEHT 2,285 0.9 1297| = IFE FaER ™ 2209 97.0% 1297|Z 52 e’Em 31.745 97'6';
1233 %r;?,tg: Efﬂﬁjm g,l Z? 0.9 1298 zzﬁg— t2@ETH 3,006/ 97.0% 1298 | B8] 12 Z.E::EE"FE 10.239 97'6%0,
SEE = , 0.9 1299 B8 RE™H 9,606 97.0% 1299 f*i;ﬁjz’ﬁ\ =t ' '
1300 L8 [Z &0 195 09 | [1300[=F& o ' o EE e e or 6
e <t : =2FR[EXA 510 97.0% 1299| 5] &
}gg; ;:%L:r EF'T'E 1,656 0.9 1300| =1L =4 B 580] 97.0% 1301 %tnﬁjzg é%ﬂ 432; g;g:f
130 EE'LLE: %ﬁgg : gfg 8.9 1300 52%% I\ Fr BT 910] _ 97.0% 1302| B2 & 8971 97 5%
=58 5 , 9 1303[ILO E E 2106]  96.9% 130355 B = ' '
1284 iﬁ;ﬁg 1?:;25 2,237 0.9 1304 (338 B =fT 830] 96.9% 1303 %EEE %?gm 5'322 g;g:f
1305 Eﬁkg ‘b’r},LﬁT 1,278 0.9 1305|IK B 15 e 1,795  96.9% 1305 %%EER, ﬁ%m it 47,548 97'5;
13 b|ERE  [Eh 1.354 0.9 130615 & B FIETh 3.645]  96.9% 1306|BEA B XE&h 5.458] 97 5%
138; E.mqg ggiﬁi[z 13,953 0.9 1306 FTa R R&llh 2,643]  96.9% 1307 %Jlll% JIIAL BT 717 97'50/0
1308 ;MELLrLr ?%n 11,708 0.9 1306|Z 50118 L] 2,188]  96.9% 1308|EIRER [EEJIANH 7,882 97'5';
1509 %E%MJL?— J);Zg EEHT Zg; g g.g 13?8 %E‘zg N 177,490  96.8% 1309 [Fria 8 AL 5312 97'4%:
L E = , . = 5018 —=1h 31,248 96.8% 13105 &6 EfX ) )
1311 | E5HE B EF 623 0.9 131115 & B 2 ' o Z i o
= . FEER HHEH 15,693  96.8% 1311 #Z)I| B
}g}g EEE ?i?iﬁEHT 471 0.9 1312|FVEHIE R F|AET 4,959 96.8‘V: 1312 EILI éc%iugfﬁ 11’233 g;j:f
2 B [ERm 4868 0.9 1312 EE &I T 4.058]  96.8% 1313 @ e Fiamth 5002]97.3%
1314 sz%lé- EHZYJ'EHT 1,569 0.9 1312|ILUEIE SR ET 375 96.8% 1314 ?ﬁ’l?: IR 19.367 E
1212 ﬁ;!}j'w— 9_EiJ§Fﬁ 3,879 0.9 1312| =I5 R T4 FEMT 210  96.8% 1315 1&%:@; /J\i}ﬁri 3.782 3333
! ] ENGg 54,339 0.9 BREEFEEGG 5.735|  96.7% 1316|B1RE  |&¥h 2766] 97 2%
1317 BE)E  [EEh 7.047 0.9 BHETT! 2 6.464]  96.7% 1316|BEAE  |Zhm 3881 97.2%
I %%gi‘%— R IE 09 | [isiel TR i 1,057 966% | [1318[AKRAF _ |mim 26.018] 97.2%
i , . 1318[EE R JLET 554 06.6% | |1310[lEAE  [EEAR ' |
122(1) ﬁiﬁk}kﬁLr mﬁg 102,332 8.3 }320 fqﬁi_ gifﬁﬁi 8849 96.6% 1320 jcw;EzﬁLg /E\EFL; ?gggg 33522
[ 5 , _ 3215 2 256 12 62.875|  96.6% 132155 % &2 AT ' '
EP7E ] S 5,873 09 | [1322[dtiiE  |ggRh 0535 ooon | [Toralibms A A TS o7
1353 %F%Ers R K 9.737 0.9 13233688 |BrosET 409]  96.6% 1323 BEE |8 70989 97.1%
12 %71 SE 305 917 0.9 1323[IUE [ KGTHT 514]  96.6% 133[BEE  |=Fmh 3280] 07 T
1332 Eﬁ:tﬁ: ﬁ EI %T—ﬁ zgg;g 0.9 1325 :r—ﬁLR SEEh 12,398  96.5% 1323|F,B8 18 el 290 97'1;
A] 718 o =71 1B | —+ e zn I\\l ]
, 0.9 1326 (5% 2 ETGE 9,765|  96.5% 1326|&RIIE )T 2742  97.1%

13/18




REABIEG FARICEITEHELRICTIRED ZEfmikiR (1)
OHBAIVEL—BHYDOREEREH R4.3.11R7 o IR (D LS| ANBR 5 52 R4.3.1357E QEMLANI IR EEIE L AT L (LTEF)[ZLY
RE [ BERRE]  BEEE  (REEGE] A & S o 19— Fy MERETSERAEOHE RAS 1R
) ] SNET Eragl oo | (REMERRE] BEEE [REFHEL oo | IRLIMEFAEL BESE [RETEH] %
= — 2 : Pagy 0 T R
1323 EE;E ﬁffrlj 22,497 0.9 | [1328[dtiE /@ g?gg ggg'ﬁ 12557; ?%;EEZ ﬁ%gﬂﬂz 33;2‘;’ g;}:f
R el 7120 09 | [1329[BME  [EHh ; : 1%
133035 % R G 5,400 0.9 1330[:# 5 B HEh ﬂgg ggjf'//: 1253 %gg gﬁﬂﬁ >o 1070k
EIECEINMME £ 11,745 09 | [H83i[dtimE  |mEm 441 96.4% 13312 |7 & 220997 0%
o "ﬂi‘ig iﬁ%ﬁi 7.841 09 | [1331[EFHE  [fir i8] oo | [To[BHE e i o
EFE £ 7.325 09 | [133(lILOE _ |MA7imA : BB E : ' o
1334 ﬁ.m 2 HE 4,420 09 | [MsuEmE  |[=mE ot e éitﬁ: E%iEET 9606 97.0%
1335[ 10 ST/ \FE T 7.000 09 | [1335[B%E  |mEm 2801 963% | [M3s4[=UE e aE o
1336| & 5;:-?_LEr REH 2,662 0.9 1336|dbifE MR 2,160  96.3% 1334 EE%LE; /N s T 97,0,
1337 {5 IR ?\'EWT 419 0.9 | [1337[dtiEE =Ml 499] _ 96.3% 1337 LOE _ [WiEm L
1338|f& i IR = 393 0.9 1337|ILFLIE = 1)IET 999] _ 96.3% 1338 jt:ﬁ"é =E=a) 21 96'9‘?
33 %‘%Hﬁ Téj:@ 5,995 09 | [1337[EHE  [fbifT T032 o63% | [1ss0lEER (LA e os o
R 2= 15,818 0.9 133742 FE fE T Y =T 5 : =
1341 IIE [HiEm 2,506 09 | [1341[fBRLE [ERLE o S e ;}EE ﬂggﬁm 3645 96.9%
1342 :F%% izl 33,137 0.9 1342|258 kST 2.394] _ 96.3% 1340| B A1 A OEL 2005, oo
1343 EHE _ [mpmh 2.329 09 | [T343[&AF  [mrmET 712]96.0% | |[13M3|EHE  |EAT 2199 20
FYHEE JiL WEST P I TR R E W sl w6 | [l ABR AR 77.480] 96 5%
2 : : 134515 F & J\i#iTh D B4 B = : '
1346[ 128 [A[R 8,157 09 | [Ma46[BmE  |=+ih 30004 9674 [1348 figg L L
1347 A IIE [T 603 09 | [1347[EWE  [=Xkm 5501 062% | [ 1347BiEm AT T
1348[ M=) B |[=3&m 2.262 0o | [13alemE  |/\&w 4.348]  96.2% 1347 B E B e 2999 0.5
134 KIRAF (RIS 15,507 09 | [1329[EER  [@Em Tres Sem | [ioarhias T ot
1SS0USER gk 4,501 09 | [1350[KIRFf _ |&Aih 4252] 96.1% | [1047BIAE [T omE 10, 5654
1351 =58 MR 12,152 0.9 1BIEEER |FEET 11,708] __96.1% 1351 E_%L?_ g[gm'ﬁq 219 968?
1352 :II_:;@;E FLIE 140,001 0.9 1352| EHE tFHT 891] __96.1% 1352 j.g[ala; TR 21,426 96'7f’
1353 *mm - ARE™ 8,811 0.9 1352 =E 8 EET) 1304] __96.1% 1353 133%%@; g?gfﬁ D
1354[; EF i 6,605 09 | [ss4[m=)IE [k 22280l 961% | [T3salTEE AT 6464 96.7
S E S 3T 17.909 09 | [1355[mm#  [thiBk 32817 0604 | [13AEEE  [Rim e
1356 B /IR |[EE 3,094 09 | [1356/E5HE [+ iRET W6 960h | [136TER  |RETE oY
1357 R EFIR J= BFHT 1,280 0.9 1356[35 % 12 #)1| BT 909 96.0% 1357 | S5 B >a75 D66
13588 IR At A 1,766 0.9 1356|#Tim R iz RET 432[ 96.0% 1358[4t ﬁ“ IS o oeet
1350| AL [@rbhm 3.184 09 | [1356[%ME  [Ffr=fl 319] _96.0% | [1359 :IlzlﬁL T o Se0%
1360/ K B fif Lo 31,917 0.9 1356 | KPR AT T R FRBR 278 96.0% 1359]LLI7% JL: FTHT e
1361| 1@ & H&h 5,241 0.9 1356|REA IR =i 2423 96.0% 1361 %ﬁ/Lr SET iy
1362|855 % 1 Bl 9,804 0.9 1362[JL 8 Al B T 1.267] _959% 1362 [R5 2 %’HJH i LT
1363|[L 58 eIl 36,816 0.9 1363| EHXIE XFh 11.419] _ 95.9% 1363 %Tﬁ%ﬁ iig 2.705, 905
1364[iF AR | FIth 9,723 09 | [1364[iLRUE [z 2383 950% | [1364/dtmiE e 93941 96.5%
1960 KERE SERARH 217 09 | [1365[EFE  [fari&A 241 oben | [1365BEE i i3 oe
4 N 407 0.9 1365|112 &R HOGHT y e E ' et
1367|f& [ IR B2 6,459 0.9 1365|FJII12 T FERT ggg gggtﬁ 1223 ﬁ%' ;Ti- = Lat 96'4?
1368 /1% & [2 & T 6.754 0.9 1368| R E7 IR 35411l 27,679 95.8% 1367 EE*LE— ﬂy,é} oo,
T E S - 2156 09 | L1369 1RIR K 4822 osen | (136l |mAmHEE To19 9648
AR [xB 5,458 09 | [1370[&IIE  [&&E 7 =HE (=W ' o
1371 [Bmah TR 28,928 09 | [1370[KBRKF  |#Amh TR il Eﬁlﬁg B?iriﬁg;_i 5955 56 3%
1372[FEE __ [gElh 2,822 09 | [1370|ZBE 1AM ssoo 5| [2lEAE B 3909, 969
1373[FNE __ [hfam 9,071 09 | [1373ieBE  [mE#H o1l e | [Tses R 4891]  96.3%
1374 %EE fﬁg Ik 2,662 09 | [1373[EBE [ AW a7 oo | [137a[kEE (e “iooT e
EEET 39,957 09 | [1375/EHE  |Ekm : e |5 3
1376 X9 EltHHT 2,350 09 | [1376[FEE _ [\FHK® eaadl waex | [1o4 E?L@: f}'ii:ﬁtﬁ%lm IR
(ETAIE[S: + M i 369 09 | [1377[iEBE  |[SZZEE 1261 o56% | [1374eER  [mimAT i
1375 t}—z;iiﬂ@: EE;E AL 09 | [1SlAaR IBLog Fos0 oses | (ol [RERLE 9700 3
e = , . 379| =R AR 0 3 S , .
1380/ 3 IR KETH 19,298 0.9 1380|358 FRET 1;;;; ggg'ﬁ 125738 ?ﬁ% ?éﬁj;m B
1381 *g%uL:r R 5,753 0.9 1381 |4t B8 N AL 388 95.5% 1381 [ B g X s55l o
1382 ] LLI A KT 248 0.9 1381|3838 5 Bl B 178] _ 95.5% 1382 B E I /\_ﬁLﬂ A% oean
1383 mﬂsr{g R AR 6,710 0.9 1381|RAHE 1IJ.I:||f.r1 1501]  955% 1383 B 'irz o
1384 TER  [WFm 34,446 09 | [13sa[WER @ Do sen | oane ot 5501 9674
1385 ?&'.EJ,L:R fabd 126,156 0.9 1385 |#g [ IR AB KT 26.388] _ 95.4% 1384 fFlﬂLE; /\it;l; 250! 96'2‘?
1386 %jﬁﬂkr\ /AN ] 15,939 0.9 1386| ABR KT HEH 12,666 95.4% 1386 EE B e Th T
1387 ETJ«-;'EE ST Dﬁiﬁqﬂ%h%ﬂA 558 09 | [1387[KRFF _ |[R{&Hh sz wsam | [ssihE  |EES Y5 T
ERR EE 4,604 0.9 1388| &% 12 = p EREE =B+ : S
1389|853 it SHT 2,058 0.9 1389 B4R {i;"agﬁT :13??2 gggf'//: 1223 E%EF iﬁ%é} L7 96'1?’
1390 fﬁ_%,l-zz jiqiﬁaifﬁ 3,349 0.9 1390|FHE J\IEHT 292]_ 95.0% 1389 ETE” JIIEET o 96'1‘?
1301145 7 L] 1,559 0.9 1390| Zk k1R DKEAH B 4729|9525 1391 @E)IE [BE)IE st —oats
TaooliemE. | 262 0.9 | [1390[EHE  [mikAt 214] 95.2% 139222 [RIEX 124280, 96.1%
1303\ ABRAT | ABRIRITH 4,797 0.9 | [1390[EHE  [BAZE 291 95.2% CRECT W H‘Rﬂn 32817 900
1394 Eaﬂs i RABX 32,817 0.9 1390|#0FRILIE  |HE)IET 594] _ 95.2% 1393 EEE #@]TIIET 206 96'051
1395 AR [gRerif 4,462 09 | [1390[F#E  [mERmks r08 952% | (1303 ER  TERET 205 980
1396|111 E1 iR Bl 10,232 0.9 1396|3518 AEH 1,838]_ 95.2% 13933 g#_m sl on0n
1397\ 5 IR {608, 1.201 09 | [1397[EIIE  [AEEr pisa o5.1h | |13k | TEARA 2785604
1308FIE [ 3,303 09 | [1308|BEHE [P 503 _o51% | |1393[fEAE A= 278 96.0%
1390 Eif gﬁigm 182 09 | [1399[ANIE  [AIIE 21828] o51% | [1399)itimE _ |BlEAT T st
; 425 0.9 14001 08 idici n 3 : : 2
1401 | #HZR)IIR [LLIARET 581 0.9 1401 | F35 12 ﬁE/rmFgFﬁ 2232 ggg; 128? iiﬁfg iﬁirl S o
1402 ;I;E;Lr ng}!;ﬁT 31,660 09 | [1401[3XE  [f7@mh 5404 9508 | [1402EEN  [mmEM e s
[Pt L 570 0.9 140338 [RFH y =EE = =0
o i s hgee T e
2RI L : . 1403| =& KEHRT 0 A=l 7 .
1383 1;{1;5;2: E%g 825 0.9 | [1403|EREE |maDoFm 2,232 ggg'ﬁ 1333 ﬁgtﬁ: gl%z’; 21233 Sgﬁﬂf
= 37471 09 | [1407|BEE [mTih ; =~ BX ' 8%
1408[FEE 2 |THCEA 821 09 | [1408[lLOE [0 13'23? gjgfﬁ 128; EHS!HL% @%E A
1409|118 Hfl‘ﬁ 3,419 0.9 1409|[FNEHIE AT 20939 94.8% 1407 KELE;‘I_ iz = 30,988 95'7.?
14103858 [#rmhr 409 0.9 | [1410[mmE __ [szlilih 12200 o48% | [1410[EBE B o e
112 E%Jg;é H;ﬁg 20 09 | [1410|HR  |==EET 4,292 94.8% 1410/ =B [AHAT T AD
A5 AR 11,419 0.9 1412|ZHIE 2 HT 9 o Z A
1413|RRIR [ B BT 3,064 0.9 1413 EE FIRZAERES 3132 gigf 111§ Ei‘zg J%EEFH Sasal oo
1414 ,EFf/f%LE'r ARET 27,922 0.9 1413|ZR & Fpeth 1.661] _94.7% 1414E a5 SEEEE T
1415 AR B [hEA 616 09 | [Tas[smE =& 6.782] _947% | |145|BEHE  [BLSEH T2 %o
1416|B5E  [—=m 31,248 0.9 | [d416[mE [ EFHh 300394 7% eEaRE RS 2080] 95.6%
1417 | ABRAF | RiEHH 6,928 0.9 | [TaIisAE | E=JIEr 2588 94.7% EHER P LIT7, 99.5%
(Z5E Y= 1N [5:7 5 8,959 09 | [Tats[=#Ar  |@mm 6907 027 | [a18litBE  [CrAHE 17332 99.5%
1419|245 R /NI 38,171 0.9 1419/ ZRIBIR EESTH 4916 94.7% 1418 ;"3?53% **T“ET e
1420 FEE [ KASED 4,341 09 | [1a20[=ItE  [=BE st odeh | [14islgmE ik i oee
1421 i EE EHH 3,667 0.9 1421| %8 E=h: il 5.279]  94.6% 1421 [ R :,,%EE yorol osan
14228 S ¥ 4,071 09 | [1422[dtiiE | %A 461 oapy | [1acoliEmB | AEA 12942, 954
1423[fEAR |35 3,881 0.9 | [1423[ L3[BT 2049] 94.5% 1423 XA | o oo
1424| K& R EX2 311 17,426 0.9 1424| SEE IR 11,714] _ 94.5% 1424 xlm% ?JZEE:FE 120 95'4f’
G 5991 09 | [T426/BXE  [EHIHD ' 5 ) = ’ o
g il oo Ml -
DR SHT 2,313 0.9 1428|125 R A 1H 5 T 3.124[ 94.4% 1428[Fh 2 J\ T 202] _95.2%

14/18




REEANIEL FRIZHITHIELICTIRIEDE[HIKR (1)
QEMFLANX (I ENEEL AT L (LTESE) TXY

OHEAAVEL— 2 BLYDREARE  R4IRE QT BEREDEBLANEfFER RASIBRE 0% & a5 H A= n2a R43IBE
B 5z | &8 HF 12 4 HEEA REAREH| AB B4z | &8 A IR 44 HREEA BEARH % B4z | #RE A IR 44 REEA BREARFH %
1429(dt8.8 H{ZHT 283 0.9 1429[I B 1B hiE)lTh 5995  94.4% 1428| &I IR KIEH ST 4729]  95.2%
1430|5112 =91l 3,459 0.9 1430 LA E T#™H 4720 94.4% 1428| REF IR At 214]  95.2%
1431|db:EE R &5 it BT 433 0.9 1431 | FHE E G 3,199 94.3% 1428 RFE BEAASHE 291 95.2%
1432( L2 8 B ERT 949 0.9 1432| FFEIB fELT 2.822]  94.3% 1428\ #0FxILE  |B&EJIET 594]  95.2%
1433[ 1 LF 18 AR F0ET 1,931 0.9 1433[BEE B BA 0 ET 823 94.3% 1428 B8 JEE Fisd ok A 108]  95.2%
1434| ZEBE EEh 3,505 0.9 1433 BB wHE™ 3,454]  94.3% 14343k :E38 Eohodiil 1,838]  95.2%
1435 EEE BETH 24892 0.9 1435|EEREE [lAE™ 7,015  94.2% 1435|F 1|12 A8 BT 2184 95.1%
1436 | EER #E™ 114,623 0.9 1436 =F 12 gl B BT 1,333]  94.2% 1436 | B HE Hh A ET 503 95.1%
1437 (5% 2 AL ) 365 0.9 1437(ILFLIE B 12,411 94 2% 1437|R)IE RINE 22230 95.1%
1438| B 518 ;IE™h 7,972 0.9 1438|E'REE [AE™H 3,872 94.2% 1438k 12 BE~ BT 5348|  95.0%
1439|518 N 12,569 0.9 1439| FEE el 17,105]  94.2% 143815 F 12 fTHW™ 5404  95.0%
1440( 5% R FEQEM 3,501 0.9 1440|2F 8 = 1,692]  94.2% 1440|dt ;88 TR 480  95.0%
1441[BREE |54 HE 521 0.9 1441|3k 88 KiGHT 197  94.1% 1440| FEIE B2 FET 1,322]  95.0%
1442| Rk EHIE KEETH 4,168 0.9 1441|&ERB18E il 7411 94.1% 1440|=F 18 KEHT 530]  95.0%
1443[RERIE FRHET 962 0.9 1441 | E 512 ES ) 270]  94.1% 1440 EREE |BSDOFm 2,303]  95.0%
1444|135 F 2 /NI BT 1,555 0.9 44| ERER | SiRHET 493  94.1% 1444|2818 sl il 2344  94.9%
1445|F A E H¥Fh 5,513 0.9 1445|5518 - il 1575  94.1% 1445/ ILOE =k 14,481 94.9%
1446| REF IR E¥FHH 27,679 0.9 1446|=F 82 iz M) 802  94.0% 1446|F A E #AETH 20,939]  94.8%
1447 REFE SR 517 0.9 1447|5511 &)1 BT 812]  94.0% 1447 | SRR HR szl 12,409]  94.8%
1448| &I =T 34,130 0.9 14476 B 18 =g 1,990  94.0% 1447|258 SEHAT 4292  94.8%
14493t iEE i 3,531 0.9 1449 (8% B /N ET 1,323  93.9% 1449|2518 HEHT 3,726] 94.8%
1450153 F 2 JIl#H 27,325 0.9 1450[ L5112 = 0] O AR 1,605 93.9% 1450| AR 1B FIRZHAERIEES 435  94.7%
1451|2402 HAE™H 4,891 0.9 1450| KB fF = [ T 1,227]  93.9% 1450/ =B 8 Fhem 1,661 94.7%
1452|HE R H ZKHET 882 0.9 1452 S 518 mAE+Hh 2,199]  93.9% 1452 Fra B =%t 6,782]  94.7%
1453[RER IR FIMET 1,141 0.9 1453|F IR =1 Nl 34,130]  93.9% 1453 | R &R INeEFHTH 8,008]  94.7%
1454|F 0T LB | A E~HET 931 0.9 1454 KR FF KR T 112,177|  93.8% 1454| K12 L =JIET 2588 94.7%
1455|352 ﬁjﬁi 2,133 0.9 1455|2518 B 12,841 93.8% 1455 &R KT giEh 6,907 94.7%
1456 |FTim R £BiAm 2,292 0.9 1456|{EE R EET 17,888  93.8% 1456 | I IE BB TH 4916 94.7%
1457 | R &R ,,ﬁlz 9,034 0.9 1457|3b:8E BRI 1,250 93.8% 1457 =2 = I 12 22874  94.6%
1458|F0FRILIE  |[BBAKTH 4,102 0.9 1457[FVEHIE EAh 1,939 93.8% 1458 FFE 12 BiZmh 5279]  94.6%
1459(FJIE E8Fm 2,270 0.9 1457| L2 12 FR# 237| 93.8% 1459|3b ;88 EZE 461 94.6%
14604318 FaIR AT 3,431 0.9 1457|FF 12 it 75 BT 273  93.8% 1460[LLFIIE BN 2,049 94.5%
1461|EEREE | REH 844 0.9 1457|BE A2 ZJLHT 501]  93.8% 1461 | EEIE ENWE 11,714 94.5%
1462 EIRER  [FARMH 1,281 0.9 1462|48H 12 BEHE 16,160  93.7% 146155 E LN HT 1218] 94.5%
1463| EER ;o] HT 755 0.9 1463[ LAz 12 Wiz 8 19,756]  93.7% 1463|2511 EBHM 25473]  94.5%
1464| B E R AItE™ 24412 0.9 1464(FAEHE BERTH 2,882 93.6% 1464 KPR KT EMET 15,734  94.5%
1465| REF IR FHh 4372 0.9 1465|EIREE [BEWH 9,984] 93.6% 1465|f2 B 18 mHEET 3,124  94.4%
1466| % I% 12 IRET 3,880 0.9 14664 B8 M EHT 451 93.6% 1466[Ix B 18 hiE)IlTh 5995]  94.4%
1467|Ix B 15 = AT 372 0.9 1467 (3B FREM 604]  93.5% 1467[lLOE T 4,720  94.4%
1468|182 H B iz D] 6,389 0.9 1467|258 sEART 5973  93.5% 1468 FHZE E G 3,199  94.3%
1469| Lz IR KRt 5,787 0.9 1469| REF IR BaT 25 A1 534]  93.5% 1469| FE B fELLTH 2822 94.3%
1470[f28HE KEH 2,158 0.9 1470[REARIE KZHET 3,724|  93.5% 1470 E S BA 0 ET 823 94.3%
1471 R IR HP AT 2,655 0.9 1471 | R S 15,754  93.4% 1470| SR 1B wHEHT 3454 94.3%
1472|FEE =40 3,356 0.9 1472|4812 AJlH 3,634 93.4% 42|EREE |1AET™ 7,015  94.2%
1473|530 R A il 2,966 0.9 1473|Z R EET 4,421 93.4% 1473|=F 8 g B HT 1,333]  94.2%
1474| R &R Hasg 7,695 0.9 1474| KPR KT = H#H 7,363  93.4% I AMET=! B 12,411 94.2%
1475|FER EWH 4,403 0.9 1475|388 SR AT BT 790  93.3% 1475|EREE |AEH 3,872 94.2%
1476|Z 40182 EZBET™ 4421 0.9 1475| U IR /NEET 479]  93.3% 1476 FEE Rl 17,105]  94.2%
1477| KB fF HEm@mmh 12,666 0.9 1475[f8 B 12 KEH 349]  93.3% 14771 5FE =5 1,692  94.2%
1478|Z51 8 H#ET 8,971 0.9 1478|=EUIE AEH 1533] 93.3% 1478|dk ;B8 KiEHT 197] 94.1%
1479| K8 e 1,559 0.9 1479(dtiEE = =T 3,783  93.1% 1478| B2 e ) 270  94.1%
1480(lLAE il 3,256 0.9 1479 Z R -0l 5738 93.1% 1478 BIRER | 5imET 493  94.1%
1481|RERIR LI &R T 824 0.9 1481|dk:E8E ZEET 375  93.1% 1481|551 il 1575  94.1%
1482153 F 82 ZEm 10,989 0.9 1482|338 = BXHT 1,288]  93.1% 1482(=F 8 $cdcEr 802]  94.0%
1483| &I 12 =2 4,370 0.9 1483|818 HER 32,104 93.1% 14835518 % )| BT 812  94.0%
1484| FEE AT 11,386 0.9 1484| B4R 12 Hjéﬁfﬁ 14523  93.0% 14831EE B = 57 1,990  94.0%
148544318 A R R T 4,741 0.9 1485|Ik B 12 BIERET 11,916]  93.0% 1485(&% [ 2 /N ET 1,323]  93.9%
1486| EEIE EES 2,040 0.9 1486|118 mEm 8,188  93.0% 1486 LFLIE = i O A AT 1,605 93.9%
148788 BEM 7,139 0.9 1487|5F 8 ERHET 1,050]  93.0% 1486 | X fF = [if] BT 1,227  93.9%
1488|fa ] R fAEHT 5,065 0.9 1487|RIRER  [{FLET 698  93.0% 1488551 mAE+mH 2,199  93.9%
1489|BEAIE =¥ 7,173 0.9 1489| EERIR o 5 R HT 1,371 93.0% 1489| &I & ST 34,130 93.9%
1490|BEAR 12 % [&HT 4558 0.9 1490| R EH AR RAB KT 8,178]  93.0% 1490 KPR FF PNV 112,177|  93.8%
1491|FEE AEZEH 10,671 0.9 1491 (B EE AHEYTH 3,877 92.9% 1491 | B 58 XA TH 12,841 93.8%
1492(F 0F0ILE [l 4251 0.9 1492|FAE K 4940 92.9% 14928 1B =Eh 17,888  93.8%
1493| 5 HFE J\FTh 16,284 0.9 1493 BB =EEL) 2,508  92.9% 1493[dt i BRI 1,250[  93.8%
1494|EEREE  |EKTH 835 0.9 1494 EiR 12 FLARHET 737]  92.9% 1493|FAHIE BT 1,939]  93.8%
14958 8B SLILET 830 0.9 1494|#HIE 3 1| BT 231 92.9% 1493[ LU E FiR* 237 93.8%
1496 FEE BREHRT 848 0.9 1494 | IIE KFHT 808 92.9% 1493| FEE HTE T 273]  93.8%
1497|2102 INKERTH 1,858 0.9 1494[BEE 12 B &4t 224]  92.9% 1493[REARIE Z A HT 501 93.8%
1498|IUELIE HEm 5,874 0.9 1494 REFIE EAT™ 7,608  92.9% 1498|f8 HE EHE 16,160  93.7%
1499| 5 HFE tFHET 891 0.9 1494 (5% 12 WZEh 2,966 92.9% 1499 L IE IJ.I A 19,756]  93.7%
1500[ Ik B & IRALET 629 0.9 1500{ L FLIE WEE 16,264  92.7% 1500(f¢AHIE BEKTH 2,882 93.6%
1501 | =g 18 KM 3,085 0.9 1501 | R AR BTEHT™T 31,512  92.7% 1501 |EEIREE EEFE 9,984]  93.6%
AR EOEEMT 1,259 0.9 1502 RHFE B 45 BT 706]  92.7% 1502|5442 18 MEHET 451]  93.6%
1503[#B 8 INFATH 2,564 0.9 1503 |12 & RE™ 8,811  92.6% 1503 |#iR 8 ARER 604|  93.5%
1504 | R &R F¥ih 4113 0.9 1504 | = 3 12 RF0HET 2593  92.6% 1503|5118 AR 5973 93.5%
1505 REFE EEmM 1,522 0.9 1505 = IF I8 EIGhN 1,281  92.6% 1505| R 712 BT 25 4 534]  93.5%
1506 |35 R F 1R BT 849 0.9 1506 (FTia B EREEHT 1,259]  92.5% 1506|REARIE KIEHT 3,724  93.5%
1507 R E FHH 202 0.9 1507|f8 B8 2Em 18,824]  92.5% 1507 | &R kil 15,754]  93.4%
1508 fEIE 2EM 6,464 0.9 1508(F0FLIE  [B&XT™ 4102] 92.5% 1508 |48 1E H)Ilth 3,634 93.4%
1509 =R E BREH 8,869 0.9 1509|BEE 12 HEH 7,281  92.5% 1509|4012 EETH 4,421 93.4%
1510[ FEE KHT 1,057 0.9 1509 E 8 FLUT 8571 92.5% 1510[ KPR KT = H#h 7,363]  93.4%
1511 (FEE iR 2,424 0.9 1511({deiEE FH{ZHET 283  92.3% 1511|3k:88 sH AT T 790/  93.3%
1512| R &R BEX 47,118 0.9 1511|388 Ehiolr 451 92.3% 1511 I E /|NE BT 479  93.3%
1513 LE 2 3,104 0.9 1511 FFEE W 2,902] 92.3% 1511[f & 18 K EH 349]  93.3%
1514| KBRKF =Mt 26,018 0.9 1511[=F8 KicHT 398]  92.3% 1514|Z 1LIE AEHT 1533  93.3%
151588 EE™H 17,888 0.9 1511 | EEE = HEr 1,312]  92.3% 1515/3dk:@38 = EE 3,783  93.1%
1516(IlLAE FEih 11,560 0.9 1511[{EE 8 A ROZFHT 1,902  92.3% 1515|518 BZAT 5,738 93.1%
1517 (5% 8 RHF™H 7,902 0.9 1517 [k E B35l 2,814  92.1% 1517(dt 8 1ZEE 375  93.1%
1518 KPR FF B ARHT 2,771 0.9 1518 5F & ERISHET 1,025  92.1% 1518338 1= R HT 1,288  93.1%
1519|[[EEE LETH 100,898 0.9 15182 B8 RKEF 794]  92.1% 1519 E B HEER 32,104  93.1%
1520(FEE EER 2,105 0.9 1520/dk:E38 1& &= BT 324]  92.0% 1520 B E HES 14523  93.0%
1521/ =B 2 =£HfT 269 0.9 1520 &I IE Bk™ 1851  92.0% 15211 B I8 &HRE™H 11,916]  93.0%
1522 |55 IR BET 12,942 0.9 1520| FE S #H AT 321]  92.0% 1522|418 FEm 8,188  93.0%
1523|gE AR 12 BE AR 61,844 0.9 1523[Z 5118 HEM 7,282  92.0% 1523[5F 8 ERHET 1,050  93.0%
1524|552 AT 63,339 0.9 15242 B 18 #mh 24426]  92.0% 1523|FEIREE  [{R{LET 698]  93.0%
1525|FFE MEH 2,357 0.9 1525 R &R E Nl 6,434 91.9% 1525| B ERIE i 54 T 1,371 93.0%
1526[ UL IE e 8,719 0.9 1526/dk B8 AL 140,001]  91.9% 1526 | Z &R HARXKT 8,178|  93.0%
15272 R TR AIHT 2,539 0.9 1526[lLAE SEAET 687 91.9% 1527|E BB HEYTH 3,877 92.9%
1528 | & & A1l 5,052 0.9 152848 H 12 7K R HT 1,393]  91.9% 1528|FHIE PN (151 4940] 92.9%
1529|fE B8 ZLTh 24,426 0.9 1529 KPR KT RKEM 5474]  91.8% 1529 =% E =] 2508]  92.9%
1530|5118 KIAH 3,118 0.9 1530(dtiEE B[N 3,531 91.8% 1530 =i 12 AL FRET 7371  92.9%

15/18




REABIEG FARICEITEHELRICTIRED ZEfmikiR (1)
OHBAIVEL—BHYDOREEREH R4.3.1I87E 2T BB (D M AE | ANER (2R RasiEzE  OFRLANRIBEIEED 2T L (LTES) ISkl
R EEREE]  BEEE  [REERE = _ " 18— FMEFE T EBLEOH RA3.1R%E
1501 [EEE.  [REE Jbiiﬁs?é A48 e ESJII Lﬁf e A li(iﬁ%g AR G SRERS HAESS REEGE o
ey L 2 : A 0 JU =]
1532[RIFE  [AETh 3921 09 | [1532[=iE  [miEm o iz %?}E igg 2311 92.9%
1533[F)IIE  [&shEth 2,979 09 | [1533[dimE  [animiAd 193] 917% | [1500[HEE A T
1534[ERE  [HEm 2,205 0.9 | [1533[iBEE _ [#IF 5151 917% eolBEE TR BT 224 92.%
15352 58 5 MR T 1,353 0.9 1533| EEFE N EF 2551 91 7% 1535 IHJ_|¥I|$_ e 2,966 92-90“
1536| =i IR &R 2,209 0.9 1533| B HE LT 5208] _ 91.7% 1536 i?%f& HTE%I% e 92'7f’
IS ABE A 2,072 09 | [1533[H@E  [mAmA 128 ot7% | [1537[EHE  |gAEET T
=5FR 1,050 0.9 1538 [ & & L 3,004]  91.6% 1538 Flﬁliﬁ; %“ o
1539 B s 2B B0 BT 1,543 09 | [1539[ZBE  |FHEa Y fEER RS 8811]  92.6%
1540 5 F BT 31732 09 olaEe e : il 1539 Eiﬁf;g AR F0HT 2,593 92.6%
1541[mah [ 15,754 09 | [1541[EHE  [F)ilm yosT ora | [isaT %EE EEEEEET 555 9s5n
1542 E#Lz- kil 19,849 0.9 1542|2507 agth 3459 91.4% 1542185 2 EEH oo
R il ] hleR e e e
2a L 7 - 54EEE  [Bam ; R i , -
1545| A AR INFE T 14,386 0.9 1545|3838 /NI 1‘212;3 glgtﬁ 1212 E;E%E muirz o
1546 ﬁf* A 10,506 09 | [1546|EHE  [Zeafr S2a oi2n | [TsdeltmE ;{—é} e
1547 [BBEE  |R:Em 9,606 0.9 | [1546[RJIE [N 604] _ 91.2% IR ST 263 92.3%
1548 f;.._:l‘JLr TSR ET 2,846 0.9 1546|F0ERILIE BRI 3.039] _ 91.2% 1546 %ﬁjﬁ Wi TRTED
1549 Z /I [=AHy 2,241 09 | [I546[ERER [REAE sl o012 | [isa6|=e B TR 2902, 923
1550[EEE | Bifim 6818 09 | [1550/EHE  |EHE 46450] or1% | [i546|BME  |=amEr 398 9234
1551 [ @R [k IT 20,823 09 | [is51[dtEE  |=%m 501[90.9% | [i546[fEBE |2 -OEE oo o
1552| 4RI HES 14,523 0.9 1551 |dL B8 s R EFHT 379 90.9% 1552 *ﬁ?)@@r t&xHh oo
1504 égm:r A ﬁri 2.876 09 | L1550 dLimE  |GRGRHT 6] o00 | [1s3BF  [EAAETE L AR
7R i 17,827 0.9 | 1551 [mHE  [BEm : 25 3 ' T
1555 ER18  [2ilh 15.792 09 | [A551[ B [AEHE SS9 9oss | |55 fl??g éggm Al s
1556|fBRAR | AAE 1,402 09 | [1551[S%EE  [smm T368] 909% | [iss5|miE  [HiED S5 02 0%
1567/ KBRAF _ |BABRT 32,645 0.9 | [1551|2mE [l ~70]__90.9% 565 F 2 |FRIART T
1558|EIREIR |FSDFEM 2,303 0.9 1558 | &t I EH 11.132] _ 90.8% 1558 | 112 hinﬂi o
1559 igﬁg %@fj 6.907 09 | [1559[ILFE  [dbitrh 3327] 00.8% | [1559[m ek |mAFIm I
TER =2 2,482 0.9 1560|{BFH E 3T 585  90.6% 1560558 FLIE ’ o
156132 kLl 1,508 09 | [1560[ILZIE  [S3EAY o BE AR 140001, 91.9%
L S he T R
=8 , . BE3[EFIE BN : 5 oK ’ '
1564[BEAE  |/\Xh 9,252 09 | [1564[EFFE &AM i BRI T T 2 IR
15651 E,Lr EE{EHT 3,139 0.9 1564| =R I8 = ErHT 265] _90.5% 1565 75,2 EINE T T
o I:EJL! LHED 12561 09 _| | 1566 ﬁi %&%Fﬁ 5630 003 | [ibeolLmn  [mERA e o
CIf oY = . i 1567|518 LLIET 0 = = |2 =115 -
1223 *ELEJE gﬁg 15,055 0.9 1568|{E 52 EEE sggg; gg?t{/: 1222 EEE ?ﬁjjl:l { 2;2 3}32?
BEE ; 997 0.9 1569[JtifE &l 9 FHE = g
1570 KBAT (B prET 724 0.9 | (1570388 [SFIRET 3'4212{2; ggé‘ﬁ }ggg e m%RLr E?@ o T
57 TER  [rm 0015 08 | [150BER | EEHH o s00s | [atolotie AR oo o1 7
1572/ #BR Eo s 5115 0.9 1572 IO & TEA™ 18.138] _ 89.9% 1572 fu;zﬁia; g[u;ﬁ 128 91'75’
1573 ¥R AR 12,398 0.9 | [1573[Fm%  |[HEKX 13.036] _ 89.9% 1573|ERE  |TEA e
54fEBE  [E5 7 3,230 09 | [1574[EHE  [=am 5.746] 898% | [1574[HHE  |FEHAT 50891 o
ST5[BEE  [E i 6.471 09 | [1575[B&E  [#em D R NS HER S T e
1576 *HE;JZLLE: gﬁﬂg 156 09 | [1575 a:%rmg ERR o710l 8o7h | [isie|ZaE [Eah a5 oi
P2 7 9 | [s77|LmE  [EmEr 1458]_80.0% | [I577lUDE  [=#h ’ >
1578 IR [Ji0AT 801 09 | [T578[RME |8 % =B D 1,320 91.3%
10 £ It 1 s it m D) - o
AR (4% 8,074 0.9 | [1580[=BE __ [#mh : B N S
1581 =& 8 Eh 19,869 0.9 1581|dbiE = R EFHT 13’?32 gggﬂ//: :g;g ELQ:L_L% ii%rz 0% 91'2?
1582 %ﬁ@:r K™ 19,785 0.9 1581|FXEHIR = 1B HT 798| 89.5% T579[ e BE E%% Sl or
1222 it?% Jjﬂj’gfgg 50,592 09 | [1581[EBE  |nmer=sotTosmms 333]_ 80.5% 50 EBE |EHE 46 igg g}%‘
DB A 8,064 0.9 1584| 5 HE FRE 0 P s : =D
B =Ll 7.707 09 | [158a[3i8E  |RuRm Toa | [eoilitas losnEm T 900
b m 10,535 0.9 1586|FJII12 h&EH D s & 28
1587| k338 Rl 1,075 0.9 1587| = %02 22 ERET 9'(5);; ggg*ﬁ 1222 %‘ﬁ’é iEﬁT oo
1568 E;E& ;ﬁ?%?ﬁ _B.00¢ 09 | [1588[FME [ T0.168] 89.3% | 1584 LB [ KA AT o8 o0
B Mo 5,104 0.9 1589| & X118 BRERHT 0 =0 e L
1590 EHE  |Sliam 3,601 0.9 | [1589# &5 *J?B T g'ggg 897% 1233 galEEJuLLE: %g ) o
1591 ?%}E F % ZHT 1,467 09 | [1591[FERE  |[mz % Tsto] goo | [iooilLaiE  bitn 3 08k
HEl =& 2,043 0.9 1592| 5F B 4 A IBHT ’ 1 L] : : 22
593[FRE [t 5.732 0.9 | [1593[FINE __ [#&IIHAT :égg gg:)f'//: 1233 Tﬁiﬁ E ﬁég 13 500
1594 FKEHIR | FRerh 1,202 09 | [1504[FER  |merEm 7.707] __88.8% 1504l mdl  [HEAK 108 o
1595 FEE  |BupiLh 9,508 0.9 | [159[EEAE  |[ERm 3897] _88.7% FHEED f*‘ﬂdﬂ% S oon
1596 igé %EQE 12.250 09 | [159[dtEE _ [=3im 2000] 88 5% | [1596|EEE  |EAM S s0
FER i [ 9,367 0.9 1597|368 | CERET y Z=pE |25 e
1508[ZIE  [KRb 2,706 09 | [1598[EFE  [mRm st702 geam | [1598 uTJETLLE: Tow Y
Y T 2,148 09 | [1509|#TiBIR __ [HfLh 3419] 883% | [1599(51BE  [gumm a0 503
T i 5,286 09 | [1600[%Z=)IIE |E#BET ; = : 3
c0i[EAE  [EE 5001 09 | [1601[EFEE [MAR S asa| Hoollear %E Lo, Bz
1602 FEE  |/\FHK 15,484 0.9 | [1602|%HE  [/\FRHE 1520 88.0% T602lmE TS 369561 90.T%
1603 xEJZLEr Elgh 4916 09 | [1602[=88  [BWm 993 880% | | 1603 LmE 'fjm;m 3252, 90.Ih
1604|455 I x KR 3,068 0.9 1604|= %018 =R 12431 87.9% 1603 ﬁ%g L e T 500
1605 |4 & BRET 4,657 09 | [1605[#3/IIE [BAAAT 1653 875% | [1605[ LR | FES Ty
1606 Elﬁkr Elaiia 3,731 09 | [1605[LEIE  |FiHy VIR AT et ERE  TBAT 18,138, 89.9%
1607 #7582 iz F T 432 0.9 1605| I & 12 Ahi 6.754] _ 87.5% 1607|2418 e : s
1608[{EBE  [L\hEM 24,021 09 | [T605|BEE  |®@m 4497 754 | [leonmE  |EMEE S0 8o
1609| REFIR FAK T LI A0 B A R R S 459 0.9 1605|5018 BED 1,285] _ 87.5% 1609 ﬁl E: r“mlrﬂ s o
1610IEER  [Emmpm 5223 09 | [1610|Z&E ".%“5’%?? 5.479] _874% | [1610 xtﬁfzﬁ ‘fiiﬁ,ﬁEﬁT 3504 800
1611 AR AR N 2,423 0.9 1611 FEE BEEh 14,100] _ 87.3% 1611 |[{EE 5 R o B
1612 lLRR  [BEAT 6,682 09 | [1612[KMff  [SAR 2771 8124 | [leizlmiBE  [EE T
16131 ma M 19.503 09 | [T613[fEBME  |[KE@Em 7754] 8% | [i613itmE  |BanmE o
614[EHE SR 2.186 09 | [TeraldtimE  [FsnEr 306l e71% | |1eramis  |—iEET 173 89.5%
1615\ Z Ay SHH 5.208 0.9 | [d615[=ILE B 2,444 87.1% 1613[ZRE __ |imm —enarormma T3 895
1616/ SR | = 2,828 09 | [Totol®mE  |¥mmh 9450 860 | [i616[BHN  [FRET 203854
161755 % R AR 24,049 0.9 1617|IXRE R TEM 2,153 86.9% 1616 %f%l.?_ a3 Ty
1618 :iazi&,@'n Himst 3,443 0.9 1618[3b 8 TS FHHT “o2|  86.7% 1618 5"=J||I$- &L%rz 2292 891
1619[RME  |[@ASm 7134 09 | [Tete[dbimiE  [H R T 6% | [l6lo[EEIE  [EWET oo
162018 R |REh 9,089 0.9 | [1620[Z5E (w5 +HET 940] _ 86.6% e WL T
1621 E_Efl’/'-% NIIET) 701 0.9 1621|Z1E8 AFET 10771 86.6% 1621 -;Téfuf_,a: i;ﬂﬂﬂﬁ 19.168 89'3‘?
1622[fBE iz 8275 09 | [1622[XB 8 [BHEEAM 4 sodn | [To2[BEE KRB Al 2
1623 %%D,L:K o] A LL BT 3,097 0.9 162318 5% ARl 6011 86.3% 1623 :Fgl'?— B2 JET T
1624 :;EJLE: i%ﬂm 058 09 | [162s ifgﬁr N ia 5562 8524 | [T6oAlEEN |2 e ok
i il or , 9 1625| =R 8 BT D =1E AT : :
1626 ,iff%L:r /\fii;_ i 3,586 0.9 1626|588 = AHET 3%2 gg'glﬁ 1252 ;gg ﬂ!gfﬁ To0s 89'0?
162N FAie BT 12,841 09 | [1626|FEREE [FimA a5 seon | [elEnE  |Bom T
1628|355 % IR Hah 26,440 0.9 1628| g 2 R ARHT 1402 86.0% 1628 jtéﬁgg + R ET oot 8%
1629| L8 |G EhT 381 09 | [1620[Z=NIE =@ 2262 860% | [1620{BFE |7 Y
1630[ SR |=Aih 5.331 0.9 | [1630[=EE =B 32591 85.9% 16305 BE  [# J;rz 21792, 860
1631 53F0%  |EHM 11,694 09 | [1631 E%R 2 Xii 6.678] 85.6% | | 1631 #¢'=SJ|| =BT S
1632[dtE Ak 96 0.9 | [1632[t&M =T T84zl 8560 = 318| 88.2%
& , 5.6% 1632| =R BET 9,887]  88.2%

16/18




REEANIEL FRIZHITHIELICTIRIEDE[HIKR (1)
QEMFLANX (I ENEEL AT L (LTESE) TXY

OHEAAVEL— 2 BLYDREARE  R4IRE QT BEREDEBLANEfFER RASIBRE 0% & a5 H A= n2a R43IBE
B 1z | &R ERF 12 HEEA REAREH| AB B4z | &8 A IR 44 HREEA BEARH % B4z | #RE A IR 44 REEA BREARFH %
1633|fahH R RE™ 4264 0.9 1633[lLAE EBA K EHRT 610/  85.5% 1633|EEREE |54 H] 521 88.1%
1634| 5 HZE BhEITT 10,207 0.9 1634|4112 Ifth 7972 85.5% 1634|3512 J\FHHET 1529] 88.0%
1635/ ILAE EET 9,273 0.9 1635 E 8 g5t 4325 85.1% 1634|=F12 B¥h 993]  88.0%
1636 | B I &R il X 28,568 0.9 1636/db:E38E BIFH 223]  85.0% 1636| S E1E SR 12,431 87.9%
1637| EER PR 4718 0.9 1637| KR AT ¥ A 30,281 85.0% 1637|=JIIE  |BARKET 1,653]  87.5%
1638| =W Xt 5,501 0.9 1638 KPR AT RAH 23,756 84.7% 1637|ILEIE FaAEHT 314| 87.5%
1639|IFE 2 {RZEHET 4122 0.9 1639[dtiEE + / EHfT 259]  84.6% 1637 (I BB S 6,754| 87.5%
1640 =F 2 Z4mH 11,339 0.9 1639 R AR KEHT 452]  84.6% 1637[ZHE Z@h 4497] 87.5%
1641| =12 Z2EHH 4,958 0.9 1639(FFRILIE  [ADEEHT 1,032] 84.6% 1637|5518 BESH 1,285 87.5%
164215 F I8 2 FEH 3,105 0.9 1642| =22 4 ERT 1,278  84.5% 1642|Z 5018 wiETh 5479  87.4%
1643|182 3 AT 2,138 0.9 1643|388 iR &R 4 BT 433  84.4% 1643| FEE EEHH 14,100/ 87.3%
164415 F 12 JBEH 8,442 0.9 1644| S 511 TEM 908]  84.4% 1644 | XBR KT B ARH] 2,771 87.2%
1645|535 12 TH 2,742 0.9 1645|818 A ET 1,569]  84.3% 1645|218 KEHT 7,754  87.1%
1646[tZ Jll I E 274 il 19,140 0.9 1646 /b8 2| FE BT 368]  84.2% 1646|338 HFHT 396] 87.1%
1647 IL T A 18,473 0.9 1647(dtiEE S IRET 1,243  84.1% 1647[=ELE BT 2444] 87.1%
1648 %%LER iEEh 6,678 0.9 1648| BRI WiIth 15,939  84.1% 1648|5018 ¥HmH 9,450 86.9%
1649|5118 BiEh 10,418 0.9 1649|4812 A HIET 2,539 83.8% 1649] I B2 182 Tamhm 2,153  86.9%
1650(F% [ 2 =+t 20,004 0.9 1650 (R ER KT 5 S ETET 1,288]  83.8% 1650/dk ;@38 T 92|  86.7%
1651 | RERKT KL U5 BT 1,286 0.9 1651[f2 B8 JIMXHET 646] 83.7% 1650(dt i Ehaail 135]  86.7%
1652[IF B 18 MRS P ERES 164 0.9 1651 {2 B8 AT 970/  83.7% 1652|5518 a5 +HT 940/  86.6%
1653|2518 HEEH 174,564 0.9 1653 | fHZS JII E354 11,745]  83.5% 1653| B Ea: 1,077]  86.6%
1654| EEIR IR 44,990 0.9 1654/ E IR Zhh 3,623]  83.5% 1654/ ZEEB IR BAE &+ 354]  86.4%
16552k 182 Ui=biahmh 12,231 0.9 1655 RFE INGETH 3,106/ 83.5% 1655|8518 BE)IH 6,011 86.3%
1656 EER [El&T™H 32,455 0.9 1656|Jt:88 iA=L 328 83.3% 16564 fEIE i 6,562|  86.2%
1657|536 R fENETEE T 2,084 0.9 1656 =ik 12 & LT 770  83.3% 1657/ ZERE tFTh 3973 86.2%
1658[FTia R =%th 6,782 0.9 1656 | Z &R FEF 164]  83.3% 1658[dt i = NHET 723]  86.0%
1659(dtiEE = 4819 0.9 1656|EE REE |HEKH 835  83.3% 1658|BIRER  |[XKIBHET 483]  86.0%
1660 REFE {EAT™H 7,608 0.9 1656 ;44212 EEE 90|  83.3% 1660|{E[ 12 RARHT 1,402]  86.0%
1661[LFIE HWH 4,822 0.9 16614818 PRER 44629 83.2% 1661|@Z=)IE  |=@mH 2262 86.0%
1662| Rk IE S E 6,642 0.9 1662[LLFIE I = SERHT 999]  83.1% 1662 ER KT RAR AT 32,591 85.9%
1663 | B R &R ZEH 10,079 0.9 1663 %I I2 ENEL] 917]  83.1% 1663[5F & it&mh 6,678/  85.6%
1664| Z1EE il 2,344 0.9 1664|3818 mxEsd 1581]  83.0% 1664 |2 & f2 & Er 1,842]  85.6%
1665|138 B¥Ht 223 0.9 1665|FMia 8 EEST 3,232  82.9% 1665(ILAE EBH K EHT 610/  85.5%
1666| FHFE HEMEHR 538 0.9 1666|FJIIIE FINE 19,196] 82.9% 1666| = 51182 It 7,972 85.5%
1667[t=)IE  [FEM™ 3,027 0.9 1667(dtiEE XIEHRT 232]  82.6% 1667 E 8 FFoMh 4325 85.1%
1668[E LLE gtk 7,154 0.9 1668[LLFIIE BEm 5874] 82.5% 1668[dtiEE BFH 223]  85.0%
1669| RIFGE BE™ 3,420 0.9 1669|185 82 =K1 1,708/  82.3% 1669 KPR AT wHATth 30,281 85.0%
1670/db:EE ZYHHET 453 0.9 1670 EZERE P 4,341 82.3% 1670| XBRKF XA 23,756]  84.7%
1671|128 KErEH 9,407 0.9 1671 [t2RFE pNIIGH 2,067 82.2% 1671[dtimE +/EHmT 259  84.6%
167244818 55FHh 12,453 0.9 1672|3838 [Eak2di) 286] 81.8% 1671 [FRAR KEHT 452]  84.6%
1673| EIIE LR HET 1,182 0.9 1672|152 FEMT 3,369 81.8% 1671[F01FXLE  [AHDHZHT 1,032] 84.6%
1674| %18 J\FHHET 1,529 0.9 1674|BEEE bz EHT 910[ 81.6% 1674| W IE 4 EHT 1,278  84.5%
1675(dtiE8 FEMT 1,672 0.9 1675| KBRKF EHEET 851]  81.5% 1675(dtiEE iR &R 4 BT 433  84.4%
1676|1212 ST 4501 0.9 1676| B EVE RILET 1,069]  81.2% 1676| S %118 TEH 908 84.4%
1677 [f@M 8  HHET 756 0.9 1677|188 [Eab:Rraditl 4285  81.0% 1677|IK E 12 |1 1569  84.3%
1678 Ik B 1B KiETH 12,464 0.9 1678|db#EE EAlth 549]  81.0% 1678|dt:EE &I F FF BT 368 84.2%
1679/ 2F 8 LLI FH T 876 0.9 1678FIFRLIE | SEFHET 139]  81.0% 1679|338 SIRHET 1,243  84.1%
1680| F ik IR LNl 6,905 0.9 1680[fHZSI[E  [2)IIHT 2,774  80.7% 1680| EfR 12 WiIth 15,939]  84.1%
1681|[EE At 15,133 0.9 1681[E%M 12 R EE 458  80.6% 1681 [t2 [ 8 TR HIET 2539 83.8%
1682| EEIE =i 7,088 0.9 1681 ERE =Xl 709|  80.6% 1682 R ER KT 5 SiFTHT 1,288  83.8%
1683|EEREE ttAEri 7,015 0.9 1683 (12 & BETH 2,043  80.2% 1683|{2 B8 JIMZHET 646/ 83.7%
1684| ZEBIE Al 7,411 0.9 168454818 J\E FaHT 3,586]  80.1% 1683[F2EE A JIET 970]  83.7%
1685 | B #R BIX 44,562 0.9 1685|dtiEE 5 FIEHT 413]  80.0% 1685|H1ZS J”Lr Z%mh 11,745]  83.5%
1686| FEIE BE)I|TH 1,863 0.9 1685|BEE IR 5 [ BT 2,110  80.0% 1686 E R Zhth 3,623 83.5%
1687|FEE EET 5,695 0.9 1685|ZERE L4 ET 1,397]  80.0% 1687| RIF IR INEETH 3,106] 83.5%
1688 | &R AT 5,405 0.9 1688|FKAE MHEE 20,681 79.8% 1688|dt:EE FEEIHT 328 83.3%
1689(FEE Boirh 14,100 0.9 1689| SR IE 125 0 S /T 967  79.7% 1688| = i 182 B EHT 770]  83.3%
1690[=F 2 EX=L) 2,167 0.9 1690 FHE A FHT 923]  79.7% 1688 | AR FEH 164|  83.3%
1691 |WX)IE  |HiET™ 11,221 0.9 1691 5F B F'aEJFﬁ 7,568]  79.4% 16885818 EE S 90| 83.3%
1692| =I5 12 ERE BT 774 0.9 1692[15 F 12 MRt 4292  79.3% 1692[;hfE1E PRER 44629 83.2%
1693 | R &R E N 6,434 0.9 1693[LLFLIE FEIFH 1,968  78.9% 1693 LIFUIE I = ERET 999  83.1%
1694 EREE [HEM 3,872 0.9 1694(BEE S REEH 721 78.8% 1694k 12 EN: Lol 917] 83.1%
1695|f@H & AT 3,034 0.9 1695|BIREE |f5@EM 3,396] 78.7% 1695|3818 A 1,581 83.0%
1696| REF I {EATEHRT 739 0.9 1696| 5 F & $EIRHET 2,548  78.7% 1696 | #8818 {&iE™ 3,232  82.9%
1697|FAEHIE E3 ) 1,159 0.9 1697[F2E & HEH 2,790  78.6% 1697|&JIIE FINE 19,196]  82.9%
1698| &R BTHET™T 31,512 0.9 1698 FHZE EAE 24,725  78.4% 1698/dk:@3E XiEHT 232]  82.6%
1699 KB fF wHETh 30,281 0.9 1699 Z 4B E% ZEHT 223 78.4% 1699 LFUIE BEm 5874  82.5%
1700(Zx i &2 HiAh 10,168 0.9 1700|db:8E 2 FRHET 429  78.3% 1700 ZEE R K= HES 4,341 82.3%
1701 EiFE FERETH 9,212 0.9 1700(FFHE AR 672] 78.3% 1701 |48/ E XKJIH 2067 82.2%
1702| EE IR FHH 17,102 0.9 1700/ =R 12 AT ET 1,056]  78.3% 1702[dt 8 BRI REET 286]  81.8%
1703[ UL & =& 1,807 0.9 1703 ?ﬁLr FHELHNFBT 953]  78.1% 1702|48[ 12 FHT 3,369] 81.8%
1704|556 R F{FZH 458 1.0 170412 & $RFHT 1,099  78.1% 1704(BEE B ih 2z EHT 910]  81.6%
1705 i%}ﬂ% SUAHEFTH 9,046 1.0 1705/ &I & =SR] 497  78.0% 1705| KB fF = BEHT 851 81.5%
1706 | B &R HEm 13,628 1.0 17054818 SIRICH 861 78.0% 1706 ERE AR LLET 1,069] 81.2%
1707 (5% 2 EH™ 7,553 1.0 1707[FHFE 7N HT 829 77.8% 1707|1818 [Eababi 4285 81.0%
1708(dtE:E B FIEAT 413 1.0 1707[ 1L FL1E LHET 1,228]  77.8% 1708/dk @& =k 549]  81.0%
1709| 2F &8 =F& 25,111 1.0 1707 [f2RF 8 /NPT 387 77.8% 1708|#0F0ILIE | S EFHT 139]  81.0%
1710|BFEE LEWH 16,739 1.0 171044818 AXKEHT 665  77.2% 1710[#FJIE (=BT 2,774]  80.7%
171138 LEET 1,228 1.0 1711|db8E LRI ET 812  77.1% 1711|5812 FE{FEH 458  80.6%
1712|dtEE =N 13,146 1.0 1712[FE R E BAT 4593]  77.0% 1711|B1R 18 2 Fglr 709]  80.6%
1713 ILFIE dtatmh 3,327 1.0 1713|db8E TR 1,094]  76.7% 17135418 JANER L 3,586] 80.1%
T4 EEER ExH 1,099 1.0 1714|5518 X AHT 229]  76.5% 1714(dtiEE B FIEHET 413  80.0%
1715| EE R AEm 39,446 1.0 1715/l & AL BT 1,245]  76.4% 1714 E S 2 [if] BT 2,110  80.0%
1716 ILFIIE INEF 46 1.0 1716|518 J\I&ETHh 1,994]  76.3% 1714| =B &8 T 1,397  80.0%
1717 *AEaLr #E™H 20,939 1.0 1717[ LR ek 349]  76.0% 1717|#HE MEE 20,681 79.8%
1718;8 8 ST 8,571 1.0 1717|= 88 ZXHT 884]  76.0% 1718| B E 1215 D S BT 967]  79.7%
1719 EEHr K hHy 2,145 1.0 171942 B 18 ¥E|KHET 909]  75.9% 1719/ F HE A FHET 923]  79.7%
1720 %M Hiith 11,464 1.0 1720| FEE FEE 94638 75.7% 1720\ 5F 2 —Bth 7,568  79.4%
1721| RIFE BEERT 3,074 1.0 1721|5518 ZEFmh 547  75.5% 1721[1BEE Bt 4292  79.3%
172215 F 2 SWV=FEmH 103,362 1.0 1722|f2B 8 T4ERET 312  75.0% 1722 ILFIE FEGH 1,968]  78.9%
1723|= 82 EETh 959 1.0 1722|=RB12 T2 H 146]  75.0% 1723[E B HEZEHE 721 78.8%
1724 R IE KIEH 21,837 1.0 172244818 chig AT 1,928  75.0% 1724 EREE  |i5EH 3,396/ 78.7%
1725|FFE R #kFh 3,990 1.0 1725|2518 PN ] 10,720  74.6% 1725|2F 8 LIRHET 2548  78.7%
1726 ERER |i5E™ 3,396 1.0 1726(F 030 LE  [FoFLT 24910  74.5% 1726[f2 B & HES 2,790  78.6%
1727| = )IE  [##EEH 27,343 1.0 1727|gERIE B A HT 825]  74.4% 172715 HE TR 24,725  78.4%
1728 ;M%L.- EREH 51,012 1.0 1728|2182 fAHHET 1,976]  74.3% 1728|518 SR EEET 223  78.4%
1729\ ILFIE b it] 2,383 1.0 1729| LU 1B F BT 325  73.7% 1729(dtiEE L FRET 429  78.3%
1730[f&2 ] & ANERFTH 6,461 1.0 1730[LFLIE ETi 2,382]  73.5% 1729| 5 HF 2 ARSI 672]  78.3%
1731|[LEER =Xt 3,640 1.0 1731 [EER EiZmh 9,757]  73.2% 1729| =B I2 k=] 1,056]  78.3%
1732(dtEE [E AR AT 524 1.0 1732|#8 [ IR GG 4811 73.0% 1732(EE FHEHF+ BT 953]  78.1%
1733|FkEHIE NGt S| 78 1.0 1733/db:B3E ZYHHT 453]  73.0% 1733|{E[ IR $RFHT 1,099]  78.1%
1734| R AR RIth 5,066 1.0 173444818 KEKH 213 72.7% 1734|FJIIE ZEHT 497  78.0%
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OHEAAVEL— 2 BLYDREARE  R4IRE QT BEREDEBLANEfFER RASIBRE 0% & a5 H A= n2a R43IBE
B 1z | &R EHF 12 2 HEEA REAREH| AB B4z | &R EAF IR 44 HREEA BEARH % B4z | #RE A IR 44 REEA BREARFH %
1735|512 = HET 2,329 1.0 1735t & BRI TH 5052 72.5% 173445818 SIERICH 861 78.0%
1736 |12 IR e a=hiil 11,132 1.0 1736 | XBRKF 2dmh 31,917]  72.2% 1736| EHIE 7 HT 829]  77.8%
1737|db:EE = HNHET 723 1.0 1737 EIFE = TR 800]  72.2% 1736[ 38 LEEH 1,228] 77.8%
1738 | R &R szl 12,409 1.0 1738| R #R bt il 5405  72.1% 1736[4E[ 12 INPTET 387]  77.8%
1739(FiR R T 5,312 1.0 1739| B HE s BT 784]  72.0% 1739 BRI B HEHT 781 77.5%
1740 KPR fF EMET 15,734 1.0 1740( IR [ KEEET 2,267  71.8% 174054818 AKX EHT 665]  77.2%
1741 B FHOEHT 1,902 1.0 1741 | S 518 TiEFKT 593  71.7% 1741{dtimE ELIL 812  77.1%
1742|BEE BT 5,497 1.0 1742(dtiEE RRERT 138]  71.4% 1742|f2f 8 BEATH 4593  77.0%
1743|[EE EEH 2,195 1.0 1742|818 FHEHET 7,148]  71.4% 1743|5518 X AHT 229  76.5%
1744(dtiE8 EKfET 15,049 1.0 1744/t 838 = XRHET 571 71.2% 1744[ Lz 12 el 1,245  76.4%
1745(FTR 8 Fiam 58,630 1.0 174548812 SERET 1,074]  70.6% 1745|518 J\I&ETHh 1,994  76.3%
1746(dtE8 A 8,689 1.0 1746|fE B 1R JLig R+t 170  70.0% 1746|1342 IS 349]  76.0%
1747530 R THT 1,177 1.0 1747 (I B 1B JI[5Z BT 801 69.6% 1746|=F 8 Z5HET 884  76.0%
1748(dt88 A R BT 367 1.0 1748[E LLIE L ThHET 1,220 68.5% 1748|f2E 12 EEAH 909]  75.9%
1749|812 KiEth 27,236 1.0 17809| EHE KHETH 1,639]  68.3% 1749| FE B FEER 94,638  75.7%
1750 p@mr AL ET 458 1.0 1750594818 FIF 352]  68.2% 1750[ 5518 EFmh 547]  75.5%
1751[fa B8 | HET 909 1.0 1751[RIJIE P 1,266]  67.9% 1751|fE B8 T $ERET 312]  75.0%
1752| =B 2 KiEmh 4,029 1.0 1751|4812 =Hh 2,651 67.9% 1751|ZBE +E)IH 146  75.0%
1753 | 5[ R B ETh 47,548 1.0 1753/dkE3E AR RHET 164]  66.7% 17515488 chig AT 1,928]  75.0%
1754| B2 =il 18,953 1.0 1753[F2E 8 % LLHET 571  66.7% 1754|2518 fER 10,720  74.6%
1755|5518 P95 +HT 940 1.0 1755|3838 RhH] 1,107  66.1% 1755|F08RILIE  |F0ERILTH 24910  74.5%
1756|db:@E kAT 2,025 1.0 1756 FFHZFE AR AT ET 773  65.1% 1756 EiR 12 AHEM 1976] 74.3%
1757 ms‘zELr REET 1,565 1.0 17571|ZB & EFr T 1,202]  64.4% 1757[ 1Lz 12 F Rz BT 325  73.7%
1758|818 BT 501 1.0 1758|5518 BLUFHET 76/  62.5% 1758|ILELIE MET 2,382  73.5%
1759 jc EI#5h 2,542 1.0 17593k @38 KT 394]  60.0% 1759|4812 G 4811 73.0%
1760 thJirﬁ BEHIFM 4574 1.0 1759 | &R B % EEET 214]  60.0% 1760/dk:E38 Z Y HHET 453  73.0%
176125 E MEh 3,418 1.1 1759|REARIE KB R U\ SR & 112]  60.0% 1761[;42 18 KEBEH 213  72.7%
1762| =% 12 EREH) 2,508 1.1 1762| 5 %12 A FHT 270]  59.1% 1762| KBR AT - Aaalit] 31,917]  72.2%
1763588 = JERET 701 1.1 1762[f8 & 12 EIESS 250  59.1% 1763| = 1512 = TR 800]  72.2%
1764 &il]',-r PN Gl 8,523 1.1 1762[t2 R 182 KIEHT 436  59.1% 1764 | FHR AT 5405  72.1%
176544818 = FHRET 1,389 1.1 1765| =B E RiEH 1,711 59.0% 1765| 5 FHF 8 e _E T 784  72.0%
1766 (L85 fIER ™ 10,833 1.1 1766|#FKIE Byt 4909 58.9% 1766[#Z JII REEET 2,267 71.8%
1767[Z518 paliigi] 4,497 1.1 1767| REF R &M 302] 58.8% 1767| S 518 TiEBKT 593]  71.7%
176848 R SIRICH 861 1.1 1768|5512 fHlER 5™ 7.134]  58.6% 1768|dt:EE =T 138]  71.4%
1769| REFF IR B ORHET 1,395 1.1 1769 =ik 12 2z I BT 304] 57.1% 1768|F1:8518 FHEET 7,148]  71.4%
1770|f6E 8 Aglh 6,011 1.1 1770[48[ 12 AHRFER 2561  56.9% 1770(dtiEE EXRHE 571 71.2%
1771(dtEE EXCES) 1,001 1.1 177154318 A ERET 1,204]  56.9% 1771[FeE 8 =R HT 1,074 70.6%
1712 REE EHFE 46,450 1.2 1772 FRER KT B GiES 241]  56.3% 1772(2 B8 g R+t 170]  70.0%
1773 | IR fif] LR 36,636 1.2 1772| SR E B H R HT 781 56.3% 1773 I R 1B JI[5Z BT 801 69.6%
17744t B8 JE)lh 3,252 1.2 1774[12E B SR 917]  54.5% 1774 LE L THT 1,220  68.5%
1775| ER 2 f2 5 D & AT 967 1.2 1775|6858 EFES] 493  53.6% 1775| R IR KETTH 1,639]  68.3%
1776 EIREE [BREE 27,901 1.3 1776| &R KT J\IEH 4990 52.4% 177654 $E 18 AR D) 352] 68.2%
1777(dtiE:8 e SR ET 238 1.3 1777/db:B38E S &0 311 50.0% 1777[RJIE P 1,266] 67.9%
1778| LAz 12 JIIFa AT 996 1.3 1777/db:38 EXGES) 1,001  50.0% 1778[dt i AR NHET 164]  66.7%
17794t 8.8 B JIIHT 687 1.4 1777(dtiEE cp i 71 BT 95/  50.0% 1778|218 % LLHET 57|  66.7%
17801t 8.8 Begmh 1,167 1.4 1780| 2 F & LI FH AT 876  48.9% 1780(dtiEE RhHT 1,107]  66.1%
1781 | RFLIE IR 58,548 14 1781|dtEE JEET 425 45.7% 1781 FEHFE Hr AT T 773]  65.1%
1782| =R E = 40,070 14 1782 5F 8 KiniEh 2,150  42.5% 1782|=ZERE fElErTh 1,202]  64.4%
1783|[EE LEE 40,272 14 1783| 5 &% 12 {EH+t 83  41.7% 17835518 BEHET 76|  62.5%
1784|ILEFIIE EY=! 16,264 14 1784|5518 % HHET 118]  40.0% 1784[dtiEE KT 394 60.0%
1785(FJIIE &R 19,196 1.4 178515 F 12 B 3,926 38.8% 1784 | R EE &R B % EEHT 214  60.0%
1786|1218 HET 2,790 14 1786|FAHIE L= #E 78]  33.3% 1784[gERIE SKINET R U\ 2R S 112]  60.0%
1787|dt:E:E EET 5,690 1.4 1786 S %18 B+ 60/ 33.3% 1787[fa B8 L] 250]  59.1%
1788[dtiEE L JIIET 157 15 1788|242 18 FHEH 4468 27.6% 1787t & RIEET 436 59.1%
1789|db:EE Fmm 8,008 15 1789|338 H=kal 96| 23.1% 1789/ ZEE R RiEH 1,711]  59.0%
1790(dtE.E8 B BF A 128 15 1790( EEE =hh 7,088  16.2% 1790[#F K& Bih 4909] 58.9%
1791488 HiEE 44,629 15 1791 [ RER BEX 47118  10.7% 1791 EFE TER 302] 58.8%
1792|=F 8 —E& 38,108 15 1792|Ix B 18 Ik B 7 30,073 7.7% 1792(dt:88 JEFRET 425| 58.7%
1793| ERE %H&Lr 11,714 15 1793|f8H R Bl 1,510 7.4% 1793 (&% & Bz IZ 7,134 58.6%
1794|1812 FE] 70,506 1.6 1794 RIGE ¥AETH 1,734 4.4% 1794| = 3 12 2z I BT 304| 57.1%
1795| B8 E.HF?Lr 22,874 1.6 1795(RER IR WEEH 3,747 3.5% 179542 & AHXEmH 2561] 56.9%
1796|518 THE 119,653 1.6 1796 =i R R&™h 9,887 2.8% 17964 B8 A ERET 1,204] 56.9%
179737812 ETpa) L] 42,441 1.7 1797|BERI2 BEARTH 61,844 2.1% 1797| R ER KT BB EEm R EREE 241]  56.3%
1798[f2a B8 REHET 383 1.8 1798[lLO 2 Stth 3,256 1.7% 1798/ 512 =EET 917] 54.5%
1799/db:EE F = B FFHET 379 1.8 1799| =R 12 T FHET 1,956 1.4% 1799[F2 B8 EFIESS 493 53.6%
1800|E E IR PR BARERIEES 435 1.9 1800| = &R ek Azl 7,695 0.4% 1800( R &R KT J\I&EmH 4,990] 52.4%
1801 | St 146,409 1.9 1801 FHHE #5 FHET 822 0.0% 1801|db:EE S EHT 311] 50.0%
1802| Lz I8 iR 19,756 1.9 1801|5F 8 dtEh 7,325 0.0% 1801|dk:E:E EXEE ) 1,001]  50.0%
1803[faE 8 LR 250 2.0 1801 (=2 = [T 722 0.0% 1801(dtiEE ch i 7l BT 95|  50.0%
1804| B4R 12 BEiRE 15,484 2.0 1801[F2E & E%AmH 3,230 0.0% 1804|5F 12 KiniEd 2,150 42.5%
1805| EER EER 88,288 2.0 1801[F2E 8 T B ET 362 0.0% 1805| B HFE EFFt 83 41.7%
1806[F2E & RER 38,956 2.0 1801 HEE R BIfET 24,412 0.0% 1806| S %112 % HHET 118]  40.0%
1807|3¢ 12 ednl 62,875 2.1 1801 [fEJIIE  [FB)IA 201 0.0% 1807[13F B =1k 3,926] 38.8%
1808|MZEJIE  [#WEIIE 124,280 2.3 1801|5112 =i 4,604 0.0% 1808|FkHIE N OI=ET] 78|  33.3%
1809|F B KF mERRTF 32,591 2.4 1801 ;88 =5h 3,173 0.0% 1808| S &N1E ERRA 60/ 33.3%
1810/dk:EE tiEE 82,664 2.4 1801 | KPR AT XEHH 5,991 0.0% 1810[dk:E3&E H=kal 96| 23.1%
1811|128 IE HESEEREE 638 2.4 1801 [ EEE G 20,823 0.0% 1811|EHFHR BEX 47118 10.7%
1812|BEE BEE 116,059 25 1801 EEIE 1B EEET 3,057 0.0% 1812[lLAE St 3,256]  1.7%
18138 R ,ﬂ”“ = 32,104 2.8 1801 | RIFIE xtEH 2,062 0.0% 1813| =B 8 FFHT 1,956]  1.4%
1814| =R B I;r 22826 3.0 1801|RERIE o 35k BT 3,296 0.0% 1814 ﬁ?ikn S ET 822 0.0%
1815|FEE ?ﬁ% 94,638 3.7 1801[EIREE  |FF{HHET 990 0.0% 1814|fEE 8 o B HT 362 0.0%
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